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PART-I
GENERAL INTELLIGENCE AND REASONING

Direction (1-7) : In each of the following questions,
select the related letter/word/number from the given
alternatives :

1. DEVIL:ABSFI::OTHER:?
(A) MRFCP (B) RWKHV
(C) LQEBO (D) LRECO

2. Manipuri : Manipur : : Kathakali : ?
(A) Karnataka (B) Tamilnadu
(C) Kerala (D) Andhra Pradesh

3. 24:60::210:7
(A) 425 (B) 420
(C) 525 (D) 505

4.  Teacher: Student : : Pontiff: ?
(A) Disciple (B) Follower
(C) Priest (D) Deity

5. Book:Read:: Picture: ?

(A) Library (B) Buy
(C) See (D) Listen

6. ETHNICITY : YTIC INHTE : : HOPEFUL :?
(A) FULEPOH  (B) HOPELUF
(C) LUFHOPE (D) LUFEPOH

7. Swimming: River: : Hiking: ?
(A) Mountain (B) Road
(C) Pond (D) Sea

Direction (8-15) : In each of the following question, find
the odd word/letters/number pair from the given

alternatives :
8.
(A) 1000 (B) 625
(C) 64 (D) 512
9.
(A) 10 (B) 24
(C) 64 (D) 120
1550

ke (1 9 7) : FfoRad e wes & fau g
famedi § 9 gwfd IR /I /G hl
IR

1. DEVIL:ABSFI:: OTHER:?

(A) MRFCP (B) RWKHV

(C) LQEBO (D) LRECO
2. HOMYR : APIQR : : BAhell ¢ ?

(A) Plcd (B) dferrg

(C) B (D) 3T U<eT
3. 24:60::210:?

(A) 425 (B) 420

(C) 525 (D) 505

4, et o fdwm @
(A) Ry (B) STl
(C) gom (D) <@

5. fpae:ggar:: o= :?
(A) FIPpTerd (B) &I
(C) e (D) g1

6. ETHNICITY: YTIC INHTE : : HOPEFUL :?
(A) FULEPOH  (B) HOPELUF
(C) LUFHOPE (D) LUFEPOH

7. O%AT: FEY : AQle P
(A) udd (B) Hs®H
(C) drelld (D) ¥«

fader (8 & 15) : fmferRad wedl # fau v fawent
9 favq d@r/ eR /6 g gy |

8.
(A) 1000 (B) 625
(C) 64 (D) 512
9,
(A) 10 (B) 24
(C) 64 (D) 120
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10.

(B) FR
(D) BO

(B) Author
(D) Poet

(B) NKHE
(D) KHEB

(B) Prince : Princess

(C) Witch: Vampire (D) Hero : Heroine

(A) CP

(©) DQ
I1.

(A) Publisher

(C) Novelist
12.

(A) WTQN

(C) MIDA
13.

(A) King:Queen
14.

(A) Radish

(C) Potato
15.

(A) 124 - 164

(C) 212-252

(B) Carrot
(D) Beetroot

B) 14 - 54
(D) 256 - 286

Directions (16-17) : Arrange the following words
according to the English dictionary :

16. 1. Voyage
3. Vocation
(A) 2,4,3,1
©) 2,3,4,1

17. 1. Beet
3. Being
(A) 4,2,1,3
©) 1,2,3,4

2. Voice

4. Volume
B) 3,2,4,1
D) 3,4,2,1

2. Beer
4. Been
B) 4,2,3,1
D) 4,3,2,1

10.
(A) CP
(©) DQ
11.
(A) UBRTH
(C) STIHR
12.
(A) WTQN
(C) MIDA
13.
(A) XTSI : RTAT
(C) s1a+ : fuema
14.
(A) el
(C) 31
15.
(A) 124 - 164
(C) 212-252

(B) FR
(D) BO

(B) I &G®H
(D) ®fa

(B) NKHE
(D) KHEB

(B) ISTRAR : XISIHHAR]

(D) 31fa=ar : 3rfaeE

(B) TSR
(D) gP=R

B) 14 - 54
(D) 256 - 286

fder (16 & 17) : fa=faRaq eesl &1 Sfush

TP B SRSISESINICES

16. 1. Voyage
3. Vocation
(A) 2,4,3,1
(©) 2,3,4,1

17. ‘1. Beet
3. Being
A) 4,2,1,3
©) 1,2,3,4

2. Voice

4. Volume
B) 3,2,4,1
D) 3,4,2,1

2. Beer
4. Been
B) 4,2,3,1
D) 4,3,2,1

Directions (18-25) : In the following questions a series
is given with one item missing choose the correct
alternative from the given ones that will complete
the series :

18. FLA, GMB, HNG,IOD, _?2
(A) OTK (B) NSD
(C) IPE (D) TOE

1550
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fcer (18 & 25) : fr=iforRaa weal # argwA faam
7 B, OreH U us @ = | fau Y fAeedt |
A g8 Wl fdded gAY i Srghd B IR BN |

18. FLA, GMB, HNC,IOD, _?
(A) OTK (B) NSD
(C) IPE (D) TOE
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19.

20.

21.

22.

23.

24.

25.

26.

27.

28.

29.

1550

135,226,353, _?_, 739
(A) 722 B) 522
(C) 622 (D) 632

4,7,13,22, 2 ,49

(A) 34 (B) 45
(C) 52 (D) 64
ACE, BDF, CEG, _? .

(A) DEF (B) DFH
(C) DEH (D) DFE

7,12, 22, 2 ,82,162

(A) 42 B) 32
(C) 52 D) 62
2,3,5,9,17, 2 .

(A) 33 (B) 34
(C) 27 D) 30

CAE, HFJ, MKO, RPT, ? .

(A) WUY B) VIY
(C) VUZ (D) WUZ
12, 26,54, 2 .

(A) 223 B) 110
(C) 220 (D) 108

IfA=1,BAD=7,then HAT="?
A) 8 B) 10
(C) 29 D) 19

IfB=4,D=8and C = 6, then DOG =?
(A) 46 (B) 52
(C) 56 D) 60

IfD=2and F=3, then BAG=?
(A) 10 (B) 20
©) 5 D) 6

IfFAITH is coded as 82731, HABIT is coded as
12573 and HEALTH is coded as 192431, how

can BELIEF be coded as ?
(A) 594598 (B) 594789
(C) 594978 (D) 594798
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135,226,353, _?_, 739
(A) 722 B) 522
(C) 622 (D) 632

4,7,13,22, 2 ,49

(A) 34 B) 45
(C) 52 (D) 64
ACE, BDF, CEG, _? .

(A) DEF (B) DFH
(C) DEH (D) DFE

7,12, 22, _? ,82,162

(A) 42 B) 32
(C) 52 D) 62
2,3,5,9,17, 2 .

(A) 33 (B) 34
() 27 (D) 30

CAE, HFJ, MKO, RPT, ? .

(A) WUY B) VIY
(C) VUZ (D) WUZ
12, 26,54, 2 .

(A) 223 B) 110
(C) 220 (D) 108

Ife A=1,BAD =78 dl HAT=?
(A) 8 (B) 10
(€) 29 (D) 19

Ife B=4,D=8 d1 C=6, & I DOG =?
(A) 46 (B) 52
(C) 56 (D) 60

Ife D=2 F=3, 8 d BAG=?
(A) 10 (B) 20
© 5 (D) 6

el e wTeT H§ FAITH @1 82731, HABIT &1
12573 @M HEALTH &I folRam SITQ 41, 192431
@I IU FHc ANl § BELIEF &I @1 forar
SITQTT?

(A) 594598
(C) 594978

(B) 594789

(D) 594798
SET-A



30.

31.

32.

33.

34.

35.

If NATIONAL can be written as LNAANTOI,
how can DOMESTIC be written?

(A) CDIOMTES (B) CDIOTMSE

(C) CTSIMODE (D) CSITEMOD

In a class Sohan’s rank is 17th from the top and
28th from the bottom. How many students are there

in the class ?
(A) 45 (B) 40
(C) 44 (D) 41

Varun said, “That boy is the grandson of my
Mother’s husband. I have no brother and sister,”
How is the boy related with Varun?

(A) Uncle (B) Son

(C) Nephew (D) Cousin

Which of the following can not be formed by word
MERCHANDISE :
(A) MECH

(C) CHARM

(B) DICE
(D) CHANGE

Out of 1865 people, 660 can speak English and
1305 can speak Marathi. But 120 person cannot
speak either language. Then how many can speak

both languages :
(A) 220 (B) 120
(C) 1085 (D) 440

From the given alternative select the word which
can be formed using the letters given in the word.
ABOMINABLE :
(A) BOWEL
(C) BLAND

(B) METAL
(D) BANAL

Directions (36-37) : In the following questions some

36.

1550

equation are solved on the basis of a certain
system. Find the correct answer for the unsolved
equation on that basis :

If228 = 12 and 337 = 16, then 569 = ?
(A) 39 B) 20
() 29 D) 36
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30.

31.

32.

33.

34.

35.

afs feHAl we WTIT 4 NATIONAL &1
LNAANTOI fo@r i a1 S91 de 9w 4
DOMESTIC & &1 foram Srgam?

(A) CDIOMTES (B) CDIOTMSE

(C) CTSIMODE (D) CSITEMOD

TP Hefl H AT BT ¥ SHUR F 17 df a=O1 <
{29 df 3| A FElT H FH o B &7
(A) 45 (B) 40

(C) 44 (D) 41

J&Y 7 HET & " 98 TSHI WX AT B Ul &
OIdT & ®RT PIs 918 7 984 Hal 87 9a I8

TSHT IO A A qHERIT 87
(A) =rar (B) 9er
(C) clioTT IDEENKIN]

faferRad & d—1 MERCHANDISE %18 3
Tl 9T S Ahdl § 7

(A) MECH (B) DICE

(C) CHARM (D) CHANGE

1865 NIl # W, 660 WG dlcf FHd €, 1305
TRIST 911 DA T, 120 AT Pig WINT el aid
JHhd B, a1 fbd= @R ST 99T 91T Adhd 87
(A) 220 (B) 120
(C) 1085 (D) 440

frforRaa f3d gY faey & 9 S9 wed &l
9T S ABOMINABLE & 31&Rl & 91T <1
AT &7

(A) BOWEL
(C) BLAND

(B) METAL
(D) BANAL

e (36 & 37) : F=feRad uwAl 4 @O TR0

36.

@ A {B W Ugfd ¥ fHar T 2 S|
Jgfd 9 & el oy U IHHRT BT SR < |

Jfe 228 = 12 91 337 =16, aT 569 =2
(A) 39 (B) 20
(C) 29 (D) 36

SET-A
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37.

Directions (38-40) : In the following questions, select
the missing number from given response :

38.

39.

40.

41.

42.

1550

If3X7X8=837
2X4X5=524,thend X3X7=2
(A) 743

(C) 84

12
4

3

51

(A) 21
(C) 76

(A) 40
(C) 24

(P20 \S B o)

80
(A) 4
©) 5

Indicate which figure will best represent the
relationship among Birds, Crows, Eagles :

6
4
7
3

1

18

[~

o

© @

Neela is now three times as old as her daughter
Leela. Ten years back, Neela was five times as old

(B) 734
(D) 214

8
9

4
(')

Eé) 42
(D) 86

aU‘IAO\

) 22
) 20

S

o0 |~ O

240

(B) 10
(D) 20

B) O

(D) @O

as Leela. The age of Leela s :

(A) 15
(C) 30
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(B) 25
(D) 20

37. Ife 3X7X8=837

2X4X5=524,d9 4X3X7=2
(A) 743

(C) 84

(B) 734
(D) 214

fraer (388 & 40) : fa=ferRad wedAl # feu w10
fImedi # 9§ g« d@ F1d N |

38.

39.

40.

41.

42.

Vacancies and updates on one click

12
4

3

51

(A) 21
(C) 76

(A) 40
(C) 24

(A) 4
©) 5

6 8
4 9
7 4
31 2
(B) 42
(D) 86

N
=
aU‘ILO\

) 22
) 20

S

[o)NF SN\
0 '~ O

48 240

(B) 10
(D) 20

frifea o § o—ar fafsar, s gen

A B 9 G Bl USRiT Hrar &

O O
A) B) O

(©) @ (D) @o

AT Q=T 9 Sttt | 4 M geT ©, 10 9

gl Hliell, Sl | Ui AT a1 oY | a1 ofielr bl

I %
(A) 15
(C) 30

(B) 25
(D) 20

SET-A



Direction (43-47): P,Q,R, S, T, U, V and W sitting

43.

44,

45.

46.

47.

48.

49.

50.

1550

round the circle and are facing the centre

(1) P is second to the right of T who is the
neighbour of R and V

(i) Sisnotthe neighbour of P

(i) Vistheneighbour of U

(iv) Qisnotbetween S and W. W is not between
Qand S

Which two of the following are not neighbours :
(A) UV (B) TR
(©) PW (D) SW

Who is the neighbour of W ?
A) U BV
© R D) S

Who is the second right of R?
A4 Q ®B) W
©) S D) v

Who is in the middle of Sand V ?
@A) U (B) R
()N D) Q

Who is second to the left of U ?
A) W B) Q
© P D) R

In half hour, the minute hand of clock will rotate

through the angle of :
(A) 75° (B) 60°
(©) 120° (D) 180°

Meera was born on 22nd March 1982. On what
day of the week was she 14 years 7 months and 8

days of age?
(A) Tuesday (B) Sunday
(C) Monday (D) Saturday

If 1st October falls on Sunday. What day of the
week will fall on 1st November ?

(A) Tuesday (B) Wednesday

(C) Sunday (D) Monday

Latest Sarkari Jobs, Govt Exam Results,
Vacancies and updates on one click

39 (43 9 47) : P,Q,R, S, T,U,V 3R W U& gd

43.

44,

45.

46.

47.

48.

49.

50.

@ IRI AR Bx D AR GG BD 93 B |

() P,TIA ¥ & g of f& R3R V&I
TSR 2 |

() S,P USRY T T |

(i) V,U ®T TS B |

(v) Q. ST Wo d1g # F81 8 W, QT S
@ 9§ 78 2

fr=ferRad # | &9 91 g U6 SR & gsil
T ?°?

(A) UV (B) TR
(C) PW (D) SW
W BT Tl &IF 8 ?

(A) U B) V

(C) R (D) S

R ¥ S ORI $IF 2°

(A) Q (B) W
€) S D) V

STNM VS da § p 8 ?
(A) U (B) R
(C) P D) Q

Ud a9 RT & & 2
(A) W B) Q
© P (D) R

STy B H e @ E fean R A o
SIAfT?
(A) 75°
(C) 120°

(B) 60°
(D) 180°

AIRT T ST 22 {9 1982 T B3N AT | AT I
fo wwite @ @I 41 {1 g8 14 a9 7 HEMT 3R
8 fa=1 @1 ofi?

(A) HITAAR (B) MdaR

(C) AMaR (D) IFaR

e 1 3fFcar Bl IR BT &, Al 1 TIRR DI
e BT diF A1 & e

(A) HTAIR (B) ggIr

(C) Rfdar (D) AR

SET-A

Know More



51.

52.

53.

54.

55.

56.

1550

PART-II

GENERAL AWARENESS & PROFESSIONAL KNOWLEDGE

Which state government has recently declared 50%
reservation in judicial services for OBCs, SCs, STs
and EBCs?
(A) Odisha
(C) Bihar

(B) Madhya Pradesh
(D) Assam

Garampani sanctuary is located at
(A) Junagarh, Gujarat

(B) Diphu, Assam

(C) Kohima, Nagaland

(D) Gangtok, Sikkim

Coral reefs in India can be found in
(A) the coast of Orissa

(B) Waltair

(C) Rameshwaram

(D) Trivandrum

Film and TV Institute of India is located at
(A) Pune (Maharashtra)

(B) Rajkot (Gujarat)

(C) Pimpri (Maharashtra)

(D) Perambur (Tamilnadu)

Gravity setting chambers are used in industries to
remove

(A) SO,

(B) NO,

(C) Suspended particulate matter

(D) CO,

What is scoring pattern prescribed in ARCF for
trained soldier firing with INSAS Rifle?

(A) Marksman-74,1°Class-60 & Std Shot-46
(B) Marksman-86,1%Class-72 & Std Shot-58.
(C) Marksman-98,15Class-79 & Std Shot-65.
(D) Marksman-106,1%Class-87 & Std Shot-73.

Latest Sarkari Jobs, Govt Exam Results,
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51.

52.

53.

54.

55.

56.

g & A b9 U WR A ARe dar o
a= fiosr o, sqqfaa fa, sgfaa o=
wifa dor e wu @ fes o & forg 50%

IRevT o] foar & -
(A) anfeam (B) W4 YU
(€) faER (D) 9H

TRAUHT JFARYY HET Red & -
(A) TG (T[ORT)

B) & (3rem)

(C) BIfeA (ATTTel's)

(D) Trers (Rafas+)

WRA § § B gceH bE IRl o e § -
(A) Afsar & dc

(B) dTeea;

(C) IHIRA

(D) fravgH

TRAT freq 7 Sfifawa deend wgr Rem 2
(A) g0 (AERTES)

(B) Sidle (TORTd)

(C) Uit (ERTE)

(D) WY (dfHerrg)

fre®! goM @ foly SErl § TH@Emeyu oRR
BT SN A ST @ 7

(A) GeWR SIZATFIE S

(B) TTSCIOM STSATHATS S

(C) foeifed ®or Awe

(D) BT STSITIATSS

affe dleat § s Wb BRI @ fou

faehiRa snidem o urarel &1 a9 w1 fafakor

e g ?

(A) ATHTRAT—74,H%C FANI—60 TAT KIS
3Tc—46

(B) ATHTAT—86,%C F—72 TAT VISS
3c—58

(C) ATHTHT—98, B FelTd—79 AT LIS
3TC—65

(D) ATHTHT—106,%C TFeITI—87 AT USS
373

SET-A



57.

38.

59.

60.

61.

62.

63.

64.

65.

1550

How many total firing practs (including day & night)
are there in ARCF for trained soldier firing from
9MM Carbine?
(A) 08
(©) 06

B) 07
(D) 05

How many types of sights are being used in X-95
rifle?

(A) 4
© 2

®B) 3
D) 5

After how many paces hand will come down in the
Salute of Left or Right?

(A) 4 ®) 6

©) 5 D) 7

What is the life of peak cap for SOs?
(A) 06 years (B) 02 years
(C) 03 years (D) 04 years

When is Kit classification carried out?
(A) Atthetime of pension

(B) Atthetimeoftfr

(C) Lossofanyitem

(D) None of them

For Dog Squad, how many weeks of trg are there

for Dog and its handler
(A) 24 B) 36
(C) 40 (D) 46

What is the area of jurisdiction of RAF unit?
(A) 250 Km (B) 350 Km
(C) 300 Km (D) 325Km

How many type of grenades are being fired by
UBGL
(A) 2
©) 4

®B) 3
D) 7

How many types of wire obstacle are there?
A) 2 ®) 3
©) 4 D) 5

Latest Sarkari Jobs, Govt Exam Results,
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60.

61.
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affe wica § ¢ Weok @ fov 9 wHUH,
PRIEAT ° Hd (A7 faamex) wrfT
ifcd wff ™ ®

(A) 08 (B) 07

(C) 06 (D) 05

X-95 W%l ¥ fhaw YBR @ AEed SHHA
® S 82
(A) 4
©) 2

B) 3
D) 5

9 I IMRA D Fe # o FEH @ A€
g A g ?
(A) 4
©) 5

(B) 6
(D) 7

iR Aty & fou fi-ou &1 aE®
o 8?
(A) 06 TY
(C) 03 TY

B) 02 9
(D) 04 qH

fpe FonfiafbaIE &9 fHar omar 27

S TS & oIy ST Ud gSek &1 Y&
fooae w@E @1 g
(A) 24
(C) 40

(B) 36
(D) 46

JROYOYG 90 BT i & fbam 27
(A) 250 f& #t  (B) 350 fob
(C) 300 f& N  (D)325 f& #

UBGL & gRT foad UoR & I8 BRR fod
W 8?

(A) 2 B) 3
©) 4 (D) 7
IRR JTePhd B [hH Famen?
(A) 2 (B) 3
€ 4 D) 5

SET-A

Know More



66.

67.

68.

69.

70.

71.

72.

1550

In which CRPF Form leave, leave/duty certificate
isissued?

(A) CRP18
(C) CRP20

(B) CRP 24
(D) CRP 28

How many times GPF subscription can be increased/
decreased in a year.
(A) 173
©) 22

B) 2/1
(D) 2/4

No members of the force will visit married lines
except than those who have been allotted a quarter
without permission of

(A) DC (Adm)

(B) Comdt.

(C) Subedar Major.

(D) SI(Hygeine & Sanitation)

DA is admissible for absence from HQ for not less
than

(A) 6hrs
(C) 8hrs

(B) 9hrs
(D) 10hrs

Within what distance no person is allowed to do
any canvassing in and around the polling station
(A) 200 Yards (B) 100 Yards
(C) 150Yards (D) 250 Yards

Response time of RAF to Law and Order situation
within the same station when it is on call, is

(A) 30 minutes for move of all Coys.

(B) 45 minutes for move of all Coys.

(C) 60 minute for move of all Coys.

(D) 15 minutes of move of all Coys.

Vehicle to Vehicle distance in convoy movement
shouldbe........... Meterinhillyand......... meter
in plain area.

(A) 20 to 30 meter, 300 to 500 meter

(B) 50 to 100 meter, 100 to 200 meter

(C) 500to 01 Km, 01 Km to 02 Km

(D) 01 to 02 Km, 04 Km to 05 Km.

Latest Sarkari Jobs, Govt Exam Results,
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66.

67.

68.

69.

70.

71.

72.

gedl /g W oW &1 g i few sy
P # IR R Smar 87

(A) DRy 18 (B) BRY 24

(C) @Ry 20 (D) BIRY 28

wfew A ¥ 9fw A sad § e of #
fpam TR ol /uerl W1 Hadr 27

(A) 1/3 B) 2/1

(C) 272 (D) 2/4

Pl 9 $T U fqaied areq # = F fow
& AT | YT IR AT © ?

(A) SU HHVST (TSH)

(B) HHVST

(C) Ge_R #oR

(D) 3U fgs EERH e dfeyH)

I e o foy ow-v oA F=faRed am
o fau qeared ¥ ouRerd &4 'q i@
Wl 99 B |

(A) 6 © (B) 9 €
(C) 8 H (D) 10 HC
fa 0 W 7AW F @ WY AR AR SR

fodt < foowr & ug ¥ wwefd @+ A
FAfd & & SR 7 ?

(A) 200 TS (B) 100 T

(C) 150 TS (D) 250 T

fodl WM W $FF @ AqRT I G915
JROTOTHO GRT PRATS HRA & THISE 39
AR ST B ?

(A) T FFE HT 30 e § e

B) T FEE BT 45 e § Harem

(C) Tt R &7 60 fide § Harem

D) I = FT 15 fiFe d§ arem

Calire R O B G | B U S
S IR wHad & H ... SEl
arfey |

(A) 20 ¥ 30 HIex, 300 ¥ 500 #Hiex
(B) 50 ¥ 100 HeX, 100 ¥ 200 Hex
(C) 500 ¥ 01 fofo, o1 fedo ¥ 02 foreho
D) 01 ¥ 02 fodo, 04 frdo | 05 foreio
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74.

75.

76.

77.

78.

79.

80.

1550

CRPF sponsored two players of J&K got
opportunity to play which game at the International
level

(A) Badminton
(C) Cricket

(B) Football
(D) Boxing

Shuttle run test measures —
(A) Explosivestrength
(B) Speed endurance

(C) Agility

(D) Speed

Fatigue comes during training due to —
(A) Lacticacid (B) Adrenal
(C) CO, (D) PH factor.

How many Numbers of Trained solder Table Cord
are there-
(A) 5
©) 8

®) 7
D) 9

Which of following terms denotes the “Toughening
of body” as its major objectives-

(A) Play (B) Drill

©) WT (D) PT

Sri Guru Gobind Singh was

(A) The 10th Guru of the Sikhs

(B) Founder of Khalsa, the inner council of the
Sikhs in 1699

(C) Author of Dasam Granth

(D) Alltheabove

Who has been awarded ‘Scroll of Honor’ by
Government of India to promote cashless
transactions?

(A) ManishJadon (B) Khusbu Gupta

(C) SurbhiKapoor (D) Gaurav Goya

What is the sequence of sitting position of Lathi
party while marching from vehicle?

(A) Middle (B) Last

(C) First (D) Anywhere
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BRYFd 7 TH-HER B 02 fgarsdi @I

ITRER WR R 59 G § Aler 19 g
foar T ?

(A) Ysfied (B) BeHid

(C) fwme (D) GIHIToA!

e ¥ W BT AN B
(A) fovpres T

B) Tfa weTefied

(©) it

D) 7fa

IR & IRME ABE b BRI 2
(A) dfdesd e (B) Ta WeEl
(C) ®Te9 SRdfaass (D) N.Ud. oeh

¢S WIooR <ol dle fbdd TR & &—
(A) 5 B) 7
©) 8 D) 9

frefafed & 9 o9 INRS Foql & wE
UTH B
(A) ST
(C) s&g.dl.

T& e g o —

A) eEl & 0 T

(B) 1699 H RqE & ofaR® URye @ew &
GEILED

(C) T I & Al

(D) Sugad |+

B) g1
(D) Ut.l.

DHAT -3 Bl §g1@T o b oY HRd
WHR 7 Y “Wid A6 AR ygH o
Bi—

(A) FHY SR (B) GG T

) g dqx (D) TIRG AT

TS ¥ 714 FRd G @6l Ul @ Saq Bl
BH Y|

(A) 99 ¥ (B) 3R ¥

(C) Ugad (D) Bal Hi
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82.

&3.

84.

85.

86.

87.

88.
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Revision petition can be made against the
punishment of departmental enquiry within. . .days?
(A) 15days (B) 30days
(C) 45 days (D) 60 days

An orderly room register is maintained in CRPF in
form No.?

(A) Form No. 16
(C) Form No. 08

(B) Form No. 46
(D) Form No. 15A

MR claim can be preferred in how many days from
the completion of treatment?

(A) 01 month (B) 03 months

(C) 45 days (D) None ofthe above

As per latest orders the Firefighting practice in duty

Bn be carried out once in?
(A) 07 Days (B) Monthly
(C) 15Days (D) None the above

Ecology deals with

(A) Birds

(B) Cell formation

(C) Relation between organisms and their
environment

(D) Tissues

The ozone layer restricts

(A) Visiblelight

(B) Infrared radiation

(C) X-rays and gamma rays
(D) Ultraviolet radiation

Filaria is caused by
(A) Bacteria (B) Mosquito
(C) Protozoa (D) Virus

Newly raised CRPF Mabhila Bn inducted in LWE
Area for Anti Naxal operation.
(A) 88 (B) 135
(C) 232 (D) 233
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gderer AT foaq fat & awa-dr @
MR § H o 9o g °

(A) 15 fa=r # B) 30 fa= #

(C) 45 fe=i # (D) 60 f&=1 ¥

PONOYOTA # Sfcell b&l UfoTdl &I e uforar
TR § YG-XEE fear o 87

(A) BIF W0—16 (B) BIH W0—46

(C) B4 ¥o—08 (D) BIH Wo—15 T

SUIR @1 guitg 9 feaw o § fufecn
yfogfd qr@ar @ gar & 9l g?

(A) 01 WENT (B) 03 #EM
(C) 45 f&a (D) SR # ¥ BIg &
T YAl & AR BRR BrsfeT U

& JwE f3gd serfermm & fom Al w
HEINC Y

(A) o7 fed B) a1fu®

(©) 15 f&= (D) SR § | BIg I
TRRfe deg & -

(A) Tvef

(B) ®If¥@T TAH

(C) Al iR qraraRyT & g Gy
(D) ScdH!

Ao w—T w7 T Fe § -
(A) 3 YHTE

(B) 3axaq fafevor

(C) TaF— 3R w7 fvon

(D) RN fafezor

BrEaRaT o SR g & -
(A) dfFear (B) HTBR
(C) Wersrar (D) aT3%9

PRYSA # T Ta0d e & forg armed
SUAIE & § UF T3 Aol qelferds i wmidd
foar 8 9| &

(A) 88 §eTferdd  (B) 135 §clfeidd

(C) 232 dcrfa@d (D) 233 §elfeaidd
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Which CRPF Training Institution awarded with
Home minister Cup for best Training Centre for
recruits.

(A) RTCNeemach (B) RTCRajgir

(C) RTCAmethi (D) CIAT Silchar

Latest CIAT School of CRPF established at which

place.
(A) Latur (B) Chittoor
(C) Belgam (D) Bijapur

Which Central Team of CRPF won the Gold medal
in AIPDM-2016 for the first time in the history of
CRPF?

(A) Volleyball
(C) Hockey

(B) Basketball
(D) Rowing

7™ National Conference of Women in Police was
organized the first time in CRPF, the venue was :-
(A) ISA M/Abu

(B) Vigyan Bhawan Delhi

(C) CRPF Dte. General, New Delhi

(D) CRPF Academy Kadarpur

Name of CRPF Commandant who is martyred on
15 Aug’2016 in Srinagar?

(A) Pravin Kumar

(B) Pramod Kumar

(C) Pravesh Chand

(D) Piyush Chand

Which of the following activities measures dynamic
strength —

(A) Vertical jump

(B) Short distance run

(C) Forwardroll

(D) Ropeclimbing

What does BMI measures —
(A) Flexibility (B) Muscles weight
(C) Body fat (D) Strength

Latest Sarkari Jobs, Govt Exam Results,

&9.

90.

91.

92.

93.

94.

95.

Vacancies and updates on one click

oRysa & foa AR o= o walaw
e ARE & forg g w9 $u gRT |wwia
far T 8-

(A) RS Mg (B) RS ISR

(C) IRERD 3mdt (D) Framg. v Ry

afRged # Tdaq WamE.udl. @d 59
e wnfia fear mar 87

(A) AT ®) foy
(C) daTig (D) WYY

BRYFA @ 3™ ¥ ING@WA @ d9 a5
Y T A USell IR UIMS.UISIUH-2016 H
Wil yed offar 87
(A) aidiard

(C) Bidl

(B) SRP AT
(D) 13T

7 9 U AR gfe §aq aRyEd 4
o ¥R fog word W mfaa fear wan
oT?

(A) TGH. HASS AT

B) fasm 9o feeeh

(C) dRYFa AT

(D) DRYTA FBIHT FTRY

Porrdive wHige o 15 T 2016 AR
4 wEig g @1 W ® |

(A) YA HAR

(B) AT FAR

(C) ¥a9 Tg

(D) 9G¥ dg

Thefer afF &1 9@ AUgus g
(A) T HEA

(B) Bl <re

(C) BRAS A

(D) X1 TG

BMI &1 HIUSUS -
(A) FHrATIH (B) Aiguefl aw+
(C) INIR® @1 (D) AW
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96.

97.

98.

99.

Which Standing order is applicable for Annual
Range classification firing instructions in CRPF?
(A) S O-06/2008

(B) S 0O-09/2011

(C) SO-10/2012

(D) S O-01/201

Mistake occurred because of Trigger operation is
called?

(A) Flinch
(C) Buck

(B) Jerk
(D) Allofthese

Which exercise is beneficial to rectify the mistake
of sight alignment by a firer?

(A) Aimingbox exercise

(B) Aiming corrector exercise

(C) Breathing control exercise

(D) Tindisc exercise

Which drill is adopted by CRPF on firing range?
(A) Company drill

(B) Disciplinedrill

(C) AtoGdrill

(D) Fire arm safety drill

100. When to zero the weapon?

1550

(A) When the weapon newly issued

(B) After handing/taking over of weapon on
transfer

(C) After major repair

(D) Allofthese
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HOR0Y0TA ¥ aIffes AfGART e WRINT
¥ e fem-fady 5 veorg amewyr § 8 ?
(A) ®ITE 10 06 /2008
(B) WIS M0 09/2011
(C) WIT§ 30 10/2012
(D) WIS 30 01,/2016

foR SfReM ¥ 39 arell Tl B 3 7
A) foe (B) %
(C) 9% (D) Sugerd T4

BAW §RI WIge Yellgie &I Tordl & ¥
A B oy P A TR B ooNd § ?
(A) TRHT §f TrERETS S

(B) TR aNdeR TIERHTS S

©) fafdT Foia TR

(D) TH o TR

SRIIA gRT BRRT Y9 W a9 @ fya
g oI B 7

(A) T fgd

B) Irgemad fgof

(C) A9 G fgd

(D) BRR 3™ grem fgd

I B O e fHar S ® P

(A) 9§ T 499 9N fHar orar @
(B) TNHR TR qUF @I 1 9 o & 91g
(C) W@ WA @ dI%

(D) Sugad g+l
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PART-III

NUMERICALABILITY
101. The unit digit in the product 101. (284x 618 x 717 x 563) & YUFhal BT ThIg
(284 x 618 x 717 x 563) ? 3P =
(A) 2 ®) 3 (A) 2 B) 3
© 4 ®) 5 (€) 4 D) 5
102. What is the unit dight of (7%-3%) x 51 ? 102. (7%-3%) x 5! BT SHTS 3fdh a1 NP
A) 0 B) 4 (A) 0 B) 4
©) 6 D) 7 ©€) 6 D) 7
103. What is the unit digit of (2157) 75? 103. (2157) ™ &1 ST 3 T BITT?
(A) 3 ®B) 6 (A) 3 B) 6
©) 7 D) 9 <€) 7 D) 9
104. If (64)-(36)* = 10 X x, then x = ? 104. IfE (64)-(36)>=10 X x, & @I, x =72
(A) 140 (B) 240 (A) 140 (B) 240
(C) 360 (D) 280 (C) 360 (D) 280
105. Ifthe product 4864 X 9x 2 is divisible by 12, the ~ 105. A& 4864 X 9 x 2 BT TUHHd 12 fIfrd =,
value of x is : @l x BT |94 &
(A) 2 ®) 1 (A) 2 B) 1
©) 5 D) 6 ©) 5 D) 6
106. If x and y are odd numbers, then which of the ~ 106. If& x qAT y faww =g 2, ar fFr=foiRaa
following is even? DI TH 27?7
(A) x+y+1 B) xy+1 (A) x+y+1 B) xy+1
(©) xy+2 D) xy (C) xy+2 D) xy
107. The largest 5-digit number exactly divisibleby 91~ 107. Tf 3! & HaH TSI F&IT Sl DI 91 | YOI
is: TRTd BT
(A) 99981 (B) 99999 (A) 99981 (B) 99999
(C) 99918 (D) 99971 (C) 99918 (D) 99971
108. What least number must be subtracted from 13602,  108. 13602 % & 98 I BIC! G& HIA—HT Tl
5o that the remainder is divisible by 872 ST & At 87 | quid: frfora & Sma?
(A) 29 (B) 31 (A) 29 (B) 31
(C) 30 (D) 37 (C) 30 (D) 37
109. (4 + 6>+ 8+ ......... +202) =72 109. (4 + 6>+ 8+ ......... +20%) =72
(A) 1536 (B) 1540 (A) 1536 (B) 1540
(C) 1150 (D) 1140 (C) 1150 (D) 1140
1550 SET-A
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110.

I11.

112.

113.

114.

115.

116.

1550

How many natural numbers are there between 17
and 100 which are exactly divisible by 6 ?

(A) 12 B) 13

©) 14 (D) 15

The ratio of two numbers is 3 : 4 and their H.C.F.
is 8, their L.C.M. is :

(A) 96 (B) 108
(C) 48 (D) 64
The L.C.M fi 3495
eLCM.of 7,5, 2,7 i8¢
o L e
@) 36 ®) 1365
C) 36 12
(©) D) e
0.517 = 0.00517 =7
A 1 B) 10
(C) 100 (D) None of these
0.02 isequalto:
(A) 100 B) 50
o 2 1
© 3 D) 5,

0.009
If - 0.001, thenx="?

(A) 90 B) 9
1
(©) 0.9 D) 350
The value of () 47 is:
N a
@A) 1o B) 5o
) bl
© 5 D) 5
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17 QAT 100 & 919 Gl fha~ Udhd GET & Sl
% 6 & yofa: fawifoa =1 ?

(A) 12 B) 13

(€) 14 D) 15

ST G BT U 3 : 4 7, A IHT 70 HO
8 © dI IAHBI &0 HO FIT BNIT?

(A) 96 B) 108
(C) 48 (D) 64
434 9 s
357 eI T I 210 F0 B :
1
A) 36 B) 1365
12
(©) 36 D Jug
0.517 = 0.00517 =2
A 1 B) 10
(C) 100 (D) 78 & BIg el
ELENN
0.02 1T
(A) 100 B) 50
2 1
© 3 D) %
@ﬂ).om, Bl x=2
(A) 90 B) 9
1
©) 0.9 D 5
0.47 ®T 79 SRR ¥
AL y
@ T ®) 59
43 47
© % D 5

SET-A



b—a b—a
117. Ifl.5a=0.04b,thenvalueof[ Jis: 117. If¢ 1.52a=0.04b, =1, ( j BT 91 B
b+a b+a
o B 73 o B 73
o 10 73 o 10 73
© 77 D) 777 © 77 ®) 777
(0.6)* (0.5 (0.6)* —(0.5)*
118. —(0.6)2+(0.5)2 isequalto: 118. —(0.6)2+(O.5)2 BT A RN ©
(A) 0.1 B) 0.11 (A) 0.1 B) 0.11
(©) 1.1 D) 11 (©) 1.1 D) 11
P 6 P+’ P 6 P’ +Q’
119. If §=§,ﬁndthevalueoer2: 119. afg Ezg g ar W &7 719 AT
EL ot L ot
()11 B) 11 ()11 B) 11
49 49
© 11 D) 8 © M D) 8
120. Ifz—aIZI,thenﬁndthevalueofa? 120. I 2—al=l, B dl a ®l 99 Adrer?
1+ 1+
1+ 4 j
1—a 1—a
W 3 3 W 3 3
A) ) (B) 4 A) ) B) 4
2 2
©) 3 D) 0 ©) 3 D) 0
P P-3 P P-3 .
121. IfZ—TZI,thenﬁndthevalueofP? 121. afg Z—Tzl, 81 dl, P &1 519 fAdhrel?
A) 4 B 5 A) 4 B) 5
©) 6 D) 0 ©) 6 D) 0
1 1 1 1 1 1
122. If =+ —+—=4,thena="? 122. afe —+—+—=4, 8T Al a=2
3 2 a 3 2 a
o 6 Nl s
o 18 24 o 18 24
©) 5 D) 1 ©) 5 D) 1
1550 SET-A
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124.

125.

126.

127.

128.

1550

a 4 4 2b-a
If — =§,thenvalue of| -+ is:

b 7 2b+a
1
() 1 ®) 15
3
© 2 D)

If 2.4 =4, then find the value ofa ?

5 6
(A) 120 (B) 100
5 2
©) 3 (D) 3

1
1 of a tanker holds 135 litres of water. What part

of tanker is full if it cantains 300 litres of water?

(A) B)

© (D)

Wi o|lwn
n|o |~

A cricket team won 3 matches more than they lost.
If a win gives them 2 points and loss (-1) point,
how many matches, in all, have they played if their
score is 257
(A) 19
©) 20

(B) 41
D) 42

Ifa=1+ ,/p and b=1- /7, find the value of

(a*+b?):
(A) 3 (B) 4
© 5 (D) 6

If x =5, then what is the value of 10 x /3 — 52

(A) 250 (B) 200./5
(C) 100./5 (D) 500
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a 4 4 2b-a
g Ezg, g ar (7+2b+aj BT 7 T

1

* 1 ® 1

3

© 2 D)

Hﬁ%—%=4,ﬁﬁaiﬂﬂﬁﬁfﬂﬁ?
(A) 120 (B) 100
S 2
© < D) 3
é‘wzﬁi AT H 135 <ilex U= 8T 2 | IfS

SHY H 300 <llexy UMl WRT O o ShY Bl
fopaar wRT WRATT?

(A) (B)

© (D)

W O]
niOo |-

U fohpe S Siidar 79 RAT § S99 3 Hd
STET Siidar &, Jfe Siiae IR S 2 3fd qer
BRA WR (-1) i fAerdr €, a1 sa & 25 3f®
U B & forg I {1 7 Well 77
(A) 19 B) 41
(C) 20 (D) 42

I a=1+ [y TATb=1- /7, BT AT (a>+b?) B
714 ATl
A) 3
©) 5

(B) 4
(D) 6

A x =5, B AL, 10x,/,3 _ 2 BT AM &1 87

(A) 250 (B) 200./5
(C) 100./5 (D) 500
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134.
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0.0196
If =0.2,thenx="?
X
(A) 0.49 B) 4.9
(C) 0.049 (D) 0.07

If3x =3y =3zand x +y+2z=27,/29, then
NP+ Y s
(A) 87

©) 2429

(B) 84
(D) 4429

What is the smallest number to be subtracted from
549160 in order to make a perfect square?

(A) 79 (B) 81

(C) 80 D) 1

The average of five consecutive even numbers is
26. Find the smallest of them?

(A) 20 B) 22

(C) 24 (D) 28

The average of 11 numbers is 60. If the average of
first six numbers is 58 and that of last six is 63, find
the sixth number :
(A) 60
<) 72

B) 66
D) 78

The average age of 36 persons in a group is 14
years. When an extra person’s age is included to it,
the average increases by one. What is the extra
person’s age in years?
(A) 41
(C) 49

B) 47
(D) 51

A driver travels to a place 150 km away at an
average speed of 50 km/hr and return at
30 km/hr. His average speed for the whole journey
inkm/hris :

(A) 33.5km/hr
(C) 35km/hr

(B) 37.5km/hr
(D) 37km/hr
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0.0196

Ife . =02, 8, x=7?
(A) 0.49 B) 4.9
(C) 0.049 (D) 0.07

Ifg 3x=3y=3z dA x+y+z=27./29 B ar,

Ny 422 ?

(A) 87 (B) 84

©) 2429 (D) 4,29

549160 § & 98 B A BT $IF AT AT
Herll SY i g8 ol 9 99 o

(A) 79 (B) 81

(C) 80 D) 1

UTe STTAR T ATl 6T 3iId 26 ©,  S=4
I I VIS GAT 3T BN |
(A) 20 B) 22
(C) 24 D) 28

11 el BT AT 60 B AT UUH 6 @I
AT 58 AT 3Nf~TH 6 BT T 63 BT oI, BT
TR T 87
(A) 60
(C) 72

(B) 66
(D) 78

Pl A9 & 36 ART &I AT g 14 aY ©
AHE ¥ U MR 3MEHT I & 918 A1 1
H I Ol & | A1 Y SRS AGH Bl 31
J§ # @ 87
(A) 41
(C) 49

(B) 47
(D) 51

U =Tl 150 fbHl Bl g3 50 Tt /€T &
AT ATl | I BT © AT 30 fhHAT /HeT Bl
AT 1T W g8 9T M WAl B | A D
[l ATAT B AT AT HepTer:

(A) 335 fBHI /ger  (B) 37.5 fdHI /&ar
(C) 35 fb#l /8T (D) 37 fb#T /dcT
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136.

137.

138.

139.

140.

50 is divided into two parts such that the sum of

their reciprocals is g’ find largest part?

B) 20
(D) 40

(A) 10
(C) 30

Present ages of Mohan and Sohan are in the ratio
of'5 : 4 respectively. Three years hence, the ratio
of'their ages will become 11 : 9 respectively. What
is Mohan’s present age in years ?
(A) 30 (B) 24
©) 27 (D) 40

Sushil’s age after 15 years will be 5 times his age 5
years back. What is the present age of Sushil?
(A) 15 (B) 20

©) 10 (D) 25

The Sum of ages of a father and his son is 45 years.
Five years ago, the product of their ages was 34.

The age of the son is :
(A) 6years (B) 7years
(C) 8years (D) 9 years

In 10 years, x will be twice as old as y was 10
years ago. If x is now 9 years older than y the
present age of yis :

(A) 39years (B) 29 years
(C) 19 years (D) 21 years
\3/66
141. Whatis the value of —5— 7
6 "XV6
1
() 6 ®) -
© 1 D) 0
3X(81)" )
142. If—9”X35X(27)3 =27, thenn ="
o L 1
A 5 ®) 5
1
(©) 0 ®)
1550
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50 BT ST YT H 59 YbR il ordl & fb S9d

1
GTHH BT ARTHA g%‘, al g1 91T 9ard?

B) 20
(D) 40

(A) 10
(C) 30

HIg qAT |Ied I gAY B AU
5:4 8| dM 99 & 18 S IATY BT AU
11 : 9 Bl ST | 1 HIgd BT I<H AT T
g7

(A) 30
(€) 27

B) 24
(D) 40

15 99 a1 Gt BI AR IHSD 5 Y Ugel Bl
3G @1 5 TOI 1 ST el Bl axiarT 31y
w1 8?
A) 15
() 10

(B) 20
D) 25

fOqT T g3 B MY BT ARTHA HT 45 a9 B,
5 94 Ugel QM & MY BT UG 34 & dl 3
ST IIAM MY FT 2°
(A) 6 a9
(C) 8 @y

(B) 7 a9
(D) 9y

10 ST # x BT Y y B 10 I§ & U BT AL
DI AT B e, afe a<HE H x, yd 9 9y

IST 2 I y BT I MY FT 57
(A) 39 I9 (B) 29 I9
(C) 19 a9 (D) 21 a9
3/ 6
T HT AM R 87
1
(A) 6 ® -
©) 1 (D) 0
3X(81)*
afg X3 X(27) =27, 81 @ n=?
1 1
A) 3 ®) 7
1
©) 0 D) 7
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143.

144.

145.

146.

147.

148.

149.

150.
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Sixty five percent of a number is 21 less than
four-fifth of that number. What is the number?

(A) 120 (B) 160
(C) 140 (D) 180
15% of 600 + 45 % of 280 = ?

(A) 216 B) 236
(C) 126 (D) 246

3
Raman reads s of'a book on one day and 5 of

the remainder on another day. If there are 30 pages
unread now., how many pages did the book
contain ?
(A) 200
(©) 80

(B) 240
D) 120

A seller purchased a washing machine for
Rs. 7, 660. After allowing a discount of 12% on its
marked price, he still gains 10% . Find the marked

price of washing machine :
(A) Rs.9575 (B) Rs.9675
(C) Rs. 8246 (D) Rs.9755

A man purchared an article and sold ittobe B ata
profit of 25% and B sold it to C at a loss of 10%
and C paid Rs. 675 for it. For how much did A

purchaseit :
(A) Rs.500 (B) Rs. 550
(C) Rs. 600 (D) Rs. 650

Two trains start from a certain place on two
parallel tracks in the same direction. The speed of
the trains are 45 km/hr and 40 km/hr respectively.
The distance between two trains after 45 minutes
will be:

(A) 3km 750 m
(C) 2km 750 m

(B) 3km 550 m
(D) 2km550m

1 1
If x —— =3, the value of x° ——5 is:
X X

®) 36
(D) 40

(A) 30
(C) 34

The area of equilateral triangle is 4./3 square

metre. Its perimeter is :
(A) 14 metre

(C) 6./3 metre

(B) 12metre
(D) 12./3 metre
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ﬁﬂ%ﬂ@ﬂﬁesmﬁwwﬂwzﬁéﬂm

I 21 HH g, dI I=T T 87

(A) 120 (B) 160
(C) 140 (D) 180
600 BT 15% + 280 BT 45 % =2
(A) 216 (B) 236
(C) 126 (D) 246

W1ﬁ?ﬁgmﬁﬁﬁm§3ﬁ€ﬂ%
9T R a7 Usd &, afe o 30 g el uer
831 &1 & ol b # gl fba g o

(A) 200 (B) 240

(€) 80 (D) 120

& famhdr te i #eie @I w0 7,660 H
RIS 2 | S9@ Hfhd o R 12% BE A B
are A1 10% o A & | a1 7RI & aifdhd

I 1 2?

(A) 9575 %0 (B) 9675 %0

(C) 8246 %0 (D) 9755 %0

A 3TeHT Udh T PR 25% T TR B Bl
99 <ar 8, B, C P 10% 81 R 99 <ar 8, C &l

395 foIU 675 wUAT <97 Ugar & | T 9 fb A
39 fhaq # w@der o
(A) 500 %0
(C) 6000

(B) 550 %0
(D) 650 %0

T ¢ FAMNR ¢F TR Ud a3 § v &
g A =T U™ FReT B oF @1 I 45
fopd /ger qom 40 fHd /HeT HaE: B AT 45
fAee & a1 IHl XSl B 9 B 0 R

P
(A) 3fEHT 7509 (B) 3 fd#i 550
(C) 2 &+ 750 Y (D) 2 fHH 550 #Y

1 1
e x-— =3, o qar x3—? BT A T

(A) 30 B) 36
(C) 34 (D) 40

g B &1 &%d 443 TR 7,
BT IR 2:
(A) 14 Hiex
(C) 643 Hex

(B) 12 HIcX

(D) 12,3 #eX
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HINDI
frder (151 @ 155) : FrEfoRag uee weq & Ry 107 TS
T e & GRS 9Teg BT =g IS9P A9 feu (A)WW%‘I (B) <re |y
1Y faepedt ¥ F BT (C) o= wf (D) o7 w|f¥
151. gfRd9r 160. =TRIT
(A) SIER B) 3T (A) <E Ay (B) ST |y
(C) dTdTeRoT (D) ITERT (C) ot |fr (D) fa=rt af
152. ©r8 e (161 & 165) : fFfIRad T® ues § & 7S
(A) foRTT ®) s Ufdqal & [@far & IR gwfag 9 g 1y
(C) D) BT 2| SUYFd WAl & AW B FIT BT
153. =<fif® 161. |Rg 9 H¥1 B8 PR WK |
(A) WpliD (B) Pl (A) 3= B) Hfreferor T
(C) &M (D) QI (C) SEeiax yaTe (D) gRaiy
154. oI 162. HTh—H-1db d AR ATGDHAT DB |
(A) & (B) drerT IE WY dIR7g R, 971 9T SR | |
(C) B D) @ (A) ordiieTd B) faErd
(C) HIEa (D) faarh &R
155. aRAa
(A) T (B) wal™ T 163. R Ha—qrET T AR e |
@ e W WM sRI-3T B ||
(C) famds (D) TEar SRR
(A) e (B) ®¥@cr™
frer (156 & 160) : FrIfiRad uid e § fiu (ORI (D) faErr <t
Y ¥ H Ugad 9 & IHR BT T IS - _ -
BIE| ﬁmﬁﬁ@EﬁlﬁﬂlQ: - dHd dad &H |
o ST T—3RT 91 qHHT | |
156. I® (A) X (B) welbaT
(A) SE W (B) T W (©) TP (D) PHRE
(C) gfg wf (D) ernfe w|fr ~ ~
165. YTfaTe SUNATATATE & Gt 19 2 |
157. 90T (A) rfdems ot
(A) ot |y (B) Ior 9y (B) Y= m
(C) &= afxy D) aratfe @l (C) T=geIR 1oty
(D) G- ud
158. Jr2maT
(A) TR Afg (B) &wH Af
(©) fawd @t (D) g7 & B 7
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167.

168.

169.

170.

171.

172.
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T Wral b1 W1 ol bl § 7

(A) = B) =&
(C) TIRE (D) 9RE
g & feaq s B 87

(A)ﬂff (B) I
(C) ur= (D) ©:
JIIs 3 fbd 91 It 87
(A) g 39 (B) %R |
(C) BB ™ (D) dR %9

®fq 9Bl gead: 6 79 & Bfd 272

(A) HHI (B) wfaa

(C) TR (D) 4R

Bg B JIYTT Scold Pl [Hadr 87
(A) FTdg (B) Sufvg

(C) WrHdg (D) Tqd=

B J& WU ¥ fHa UPR & B 27
(A) &1 (B) I

(C) IR (D) ©:

fpg B &1 Y2¥ 9 AT g Th—dT BT
27

(A) TI&T (B) et

(C) ARSI (D) wusferan
By T UHR BT B< &°?

(A) fawm B) °H

(C) Egaq (D) A1f3h

qIET fhd TR &1 B 87

(A) & (B) fawH

(C) IFrg<H (D) $T9 & ®Ig el

fer=foRad & a1f3e 9 B BT HI—AT ISIER
4

(A) T&T (B) HRaT

(C) drg (D) I\l
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e (176 & 180) : f=foRad TRF s & forg
IS A9 AU Ty el § 9 Sugdd T

176.

177.

178.

179.

180.

gfew:

NSt
(A) T
(C) HHERY

JIRIR
(A) JTHHT
©) f&7

Td—fe=
A) f&T

C) €=

EEEIR]
(A) YT
(C) ag™y

ARTET

(A) Fgdife
(C) 3T

(B) &=

(D) Igsife

(B) AT
(D) Igsiife

(B) TgHH
(D) PHeT

(B) e
(D) &=

(B) TYwY
D) f&7

frder (181 & 185) : =fIRad % AR fawedt
I IS ((RITE) s BT e PifvTe |

181.

182.

183.

(A) TRIR®D
(C) HR®

(A) e
(OB

(A) gferanfrar

(C) et

(B) <fe®
(D) 3fer

(B) STH
(D) dret

(B) oA
(D) &r8
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184.

185.

(A) gacht (B) aferen
(C) gfeam (D) Taga®
(A) N9 (B) @I

(C) 3r7y (D) 3reNdH

e (186 ¥ 189) : /1 H & Rl aTqd &1 T

186.

187.

188.

189.
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PIfSTU:

(A) 399 T8l & Sraiery 9 81 137 |
(B) |dg g3 3R 98 3 1|
(C) g dn—oR forear = |
(D) ST g% &, S© A al |

(A) 98 T 2 MY, N I AT <7 |

B) ffY crgy &= Wy g, o9 g8 ;e
gvs A9 &l 2|

(C) fasTa &1 a1l fF BT Tl Y |

(D) JARIIT I§ B M qb T B &

(A) ST g1 TR A9 |7 {6 98 5=
T 1 o |

(B) S&I @i A fAaT Afey oy AgaaeR
B e fiyer |

(C) ®Ig & ST fb &t a1 BT

(D) ST g BIs 9 &1 2 |

(A) faem | 9gHR BIS o4 T8 2|

(B) 2 # faer sl &1 wrfa i <& ?
RS IRGR S U e 781 o |

(C) <1 &I A1V & g=at & Uiy 3T deR
B fRIT |

(D) AT AHeAAT ATEd B AT GRS BRAT &
g
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e (190 | 195) : A U TV YRS weH H FA

190.

191.

192.

193.

194.

195.

BY € & IR FRIfaq arcad ey U § | e
famed iy |

Arfes

(A) uds forar

(B) a1

(C) Ud 9AM @+ aren
(D) S 39 AP HF 91d &

$UT

(A) T ¥ Fergufd

(B) <9 &fdd &1 A=TIaT

(C) I ¥ Aeg

(D) &t & folv B8 HRF BT

NEIE

A) &t o o B | TH

(B) I fd & a1 ¥ fFafearse
(€) R FH W g

(D) 3MHfAITART BT 7 BT

fRuer

(A) o oo Wt g4 9 &

(B) i foredt @1 giar 7 &

(C) RradT PI UeT 71 &I

(D) gt fao=ft a1d @1 HH=T T &

TG
(A) S Ugs AFg T 7
(B) S UQT 7 AT &

(C) FTI®T UeHT 741 &
(D) ST ugT—forar =1 &

I
(A) ST BRRIR R ¥ BT STY

(B) <1 ¥R &I 81U # dx oISl SIY
(C) Sl ER¥IR 3rEa® &

(D) ST BRRIR #F Ugdhx WA # forar Sy
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PART-1V
ENGLISH

Direction (151-155 ) : Fill in the blanks with the
appropriate word, choosing it from options given :

151. Ifounditdifficulttocope............. mathematics at
the advanced level :
(A) with (B) of
(C) for (D) up

152. He was congratulated...................... receiving his
degree :
(A) on (B) for
(C) by (D) of

153. Some people quarrel............. very trivial matters :
(A) over (B) n
(C) for (D) by

154. “Maylknow to...... I'am speaking.”
(A) whom (B) who
(C) how (D) where

155. Baear.............. me as [ explain the matter more fully:
(A) in (B) of
(C) with (D) for

Direction (156 -160) : In each sentence below
four words have been printed in separate parts
which are lettered (A), (B), (C) and (D). One of
these parts may be mis spelt or an error in the
context of the sentence the letter of that part is your
answer. [f there is no error, your answer is (D). 1.e.
No error.

156.
(A) Collect newspaper and magazine having
articles on oil
(B) pullutionand
(C) discuss them.
(D) No error

157.
(A) We can demonstrate the
(B) phenomenon of evaporation and

(C) condensation
(D) No error

1550
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158.

159.

160.

(A) People dewlling in remote areas
(B) suffer a lot because of

(C) inaccessibility to hospitals

(D) No error

(A) Itisinteresting that

(B) floating docks and even

(C) ships can be made of concreat
(D) No error

(A) Make a list of foods that contain
(B) harmful

(C) chemicals

(D) No error

Direction (161-165) : In the following questions, choose

161.

162.

163.

164.

165.

Vacancies and updates on one click

the word from four alternatives which is most nearly
opposite in meaning to the given word :

Spiritual
(A) Earthly (B) Superior
(C) Material (D) Disccord
Harmony

(A) Agreement (B) Melody
(C) Confusion (D) Discord

Compulsion

(A) Constraint (B) Choice

(C) Freedom (D) Spontaneity
Waste

(A) Gain (B) Profit

(C) Nourish (D) Loss
Successor

(A) Follower (B) Prodecessor
(C) Guide (D) Professor
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Direction (166-170) : In the following questions. Out of
four alternatives, choose the one which best
expresses the meaning of the given word as your

ansSwer:

166. Honest
(A) Authentic
(C) Direct

167. Vocation
(A) Examination
(C) Occupation

168. Ingenuous
(A) Innocent
(C) Cunning

169. Innocuous
(A) Careless
(C) Insufficient

170. Insolent
(A) Disrespectful
(C) depreciating

(B) Upright
(D) Actual

(B) Seminar
(D) Holiday

(B) Attful
(D) Clever

(B) Harmless
(D) Irresponssible

(B) Insoluble
(D) the sole of ashoe

Direction (171-175) : In the following questions, out of

the four alternatives, choose the one which can be

substituted for the given words/sentence

171. A person who readily believes others :

(A) Credible
(C) Sensitive

(B) Credulous
(D) Sensible

174. The production of raw silk :

(A) Sericulture
(C) Sariculture

(B) Seroculture
(D) Syrumculture

175. The conference takes place once in three years?

(A) Tetraenning
(C) Treennial

(B) Triennial
(D) Thriennial

Direction (176-180) : In the following questions, groups

of four words are given. In each group one word is

correctly spelt. Find the correctly spelt word :

176.
(A) Variety
(C) Gaitey

177.
(A) Coersion
(C) Negociation

178.
(A) Harrassment
(C) Breevement

179.
(A) Inefable
(C) Infallible

180.
(A) Expact
(C) Exite

(B) Anxdety
(D) Sodety

(B) Precision
(D) Explation

(B) Commitment
(D) Temparament

(B) Inaecesible
(D) Invinsieble

(B) Impact
(D) Imped

172. The political leader has an evil reputation. He is not
trusted :
(A) isnotorious (B) ismalicious

(C) ismagnanimous (D) isdubious

173. A person who helps even a stranger in difficulty :

Direction (181-185) : In each of the questions, arrange
the jumbled letter or phrases to make a meaningful

(A) Samaritan

(C) Philanthropist

(B) Altruist
(D) Beneficiary

sentence :
181. P. eachyear
Q. twoto five adults
R. getgold
S. onanaverage
(A) PSQR (B) PRSQ
(C) SRQP (D) RSQP

1550
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182. can be dangerous 187.

P

Q. theindiscriminate

R.  without medical supervision
S

. and critical use of any drug
(A) PQRS (B) PRQS 188.

(C) QSRP (D) SPQR
183. P. destroyed careers
Q. many 189.
R. hasresulted in
S. drugaddiction
(A) PQSR (B) PRQS
(C) SRQP (D) SPQR 190.

184. P. bymakingswallowing difficutt
Q. asore throat
R

dailylife
S. interferes with
(A) QSRP (B) QPRS
(C) PRQS (D) PQRS

185. P. America’s
Q. in1961
R. warlaunched
S. firstmanned aircrafts
(A) PRQS (B) PQSR
(C) QSRP (D) PSRQ

Direction (186-190) : In the following questions, a
sentence/ part of sentence is printed underlined.
Below four alternatives are given to the underlined
part of the sentence as (A), (B) and (C) which may
improve the sentence. Choose the correct
alternative. In case no improvement is needed, your
answer is (D):

186. The student’s interest was raised by an article he

had read :

(A) quickened (B) multiplied

(C) increased (D) noimprovement
1550
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This telephone number is not existing:
(A) hasnotexisted (B) hasnotbeen existing
(C) doesnotexist (D) noimprovement

The businessman is respectively connected :
(A) respectfully (B) respectably
(C) receptively (D) noimprovement

I'met him in the way :
(A) onthe way (B) atthe way
(C) duringtheway (D) noimprovement

The boy said that he has read the book :
(A) he has already read

(B) hehad read

(C) he has finished to read

(D) noimprovement

Direction (191-195) : Read the passage carefully and

choose the best answer to each question out of the
four alternatives :

Passage
The advent of electric power was, in a way,
comparable to the successful development and
application of nuclear power in 20th century. In fact,
the historical roots of electricity extend far back into
antiquity. Many men had a hand both in acquring
basic knowledge about the invisible form of power
and in developing the ways adopted for practical
purpose. One of the vital keys that helped to
unlock the doors leading to the production of
electricity was the discovery, in 1831, of the
principle of electromagnetic induction. This
discovery was made simultaneously by michael
faraday in England and Joshef Henry in the United
States. From it came the generator, sometimes also
called dynamo but several decades of development
had to follow before the first practical dynamos or
generator came into existance in early 1870 :
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191.

192.

193.

194.

195.

According to the author :

(A) Michael Faraday and Joseph Henry
revolutionized electricity in the USA

(B) Nuclear power and electricity were
discovered in the 20th centery

(C) The discovery of the principle of
electromagnetic induction was not an
important discovery

(D) The advent of electric power is equivalent to
the application of nuclear power in 20th

century

Michael Faraday and Josheph Henry discovered :
(A) theapplication of nuclear power

(B) the genertor

(C) the dynamo

(D) the principle of electromagnetic induction

Another word for ‘advent’ is .................. :
(A) discovery (B) arrival
(C) invention (D) constitution

The generator was also known as the ........... G
(A) inductor (B) dynamo
(C) inventor (D) conductor

Give a synonym for “antiquity””.
(A) Ancient (B) Antipathy
(C) Modern (D) Uniqueness

Direction (196-200) : In the following passage some of

196.

197.

198.

199.

200.

the words have been left out. After reading
carefully fill in the blanks with the help of given
alternatives :

Passage
‘CRY-child reliefand you’ 196 an organization that
197 started by seven such 198 and it has been
working 199 1979 to change the lives of 200
children all over India.

(A) was B) is

(C) are (D) being

(A) has (B) being

(C) was (D) been

(A) friends (B) men

(C) people (D) individuals
(A) since (B) during
(C) for (D) untill

(A) underprivileged (B) privileged
(C) hopeless (D) denuded
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PART-I
GENERAL INTELLIGENCE AND REASONING

Directions (1-8) : In the following questions a series is

given with one item missing choose the correct al-

ternative from the given ones that will complete

the series :

1. FLA, GMB, HNC, IOD, _?

(A) OTK (B) NSD

(C) JPE (D) TOE
2. 135,226,353, 2 ,739

(A) 722 B) 522

(C) 622 (D) 632
3. 4,7,13,22, 2 .49

(A) 34 (B) 45

(C) 52 (D) 64
4. ACE,BDF,CEG, 2 .

(A) DEF (B) DFH

(C) DEH (D) DFE

5. 7,12, 22, 2 ,82,162

(A) 42
() 52

6. 2,3,5,9,17, 2 .

(A) 33
(C) 27

B) 32
(D) 62

(B) 34
(D) 30

7.  CAE, HFJ, MKO, RPT, ? .

(A) WUY
(C) VUZ

8. 12,26,54, 2 .
(A) 223
(C) 220

(B) VTY
(D) WUZ

B) 110
(D) 108

9. IfA=1,BAD=7,then HAT=?

A) 8
() 29

B 10
D) 19

10. IfB=4,D=8andC=6,then DOG="?
B) 52
(D) 60

(A) 46
(C) 56
1550
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fder (1 9 8) : frAfaRad ueAl # srgw faar
2, FoT9H U@ ug o« & | 3w Y fAweui # 4
I8 Wel fdbed gy S 3HH DI R BN |

10.

FLA, GMB, HNC, I0OD, _?

(A) OTK (B) NSD
(C) JPE (D) TOE
135,226,353, 2,739

(A) 722 (B) 522
(C) 622 (D) 632
4,7,13,22, 2,49

(A) 34 (B) 45
(C) 52 (D) 64
ACE, BDF, CEG, 2 .

(A) DEF (B) DFH
(C) DEH (D) DFE
7,12, 22, 2 ,82,162

(A) 42 (B) 32
(C) 52 (D) 62
2,3,5,9,17, 2 .

(A) 33 (B) 34
(C) 27 (D) 30
CAE, HFJ, MKO, RPT, ? .
(A) WUY (B) VTY
(C) VUZ (D) WUZ
12,26,54, 2 .

(A) 223 (B) 110
(C) 220 (D) 108
Ife A=1,BAD =738 d HAT=?
(A) 8 B) 10
(€) 29 (D) 19
Ife B=4,D=8 dar C=6, & dI DOG =?
(A) 46 (B) 52
(C) 56 (D) 60
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11.

12.

13.

14.

15.

16.

17.

18.

1550

IfD=2and F =3, then BAG=?
(A) 10 (B) 20
<€ 5 D) 6

If FAITH is coded as 82731, HABIT is coded as
12573 and HEALTH is coded as 192431, how

can BELIEF be coded as ?
(A) 594598 (B) 594789
(C) 594978 (D) 594798

If NATIONAL can be written as LNAANTOI,
how can DOMESTIC be written?

(A) CDIOMTES (B) CDIOTMSE

(C) CTSIMODE (D) CSITEMOD

In a class Sohan’s rank is 17th from the top and
28th from the bottom. How many students are there
inthe class ?
(A) 45
(C) 44

(B) 40
(D) 41

Varun said, “That boy is the grandson of my
Mother’s husband. I have no brother and sister,”
How is the boy related with Varun?

(A) Uncle (B) Son

(C) Nephew (D) Cousin

Which of the following can not be formed by word
MERCHANDISE:
(A) MECH

(C) CHARM

(B) DICE
(D) CHANGE

Out of 1865 people, 660 can speak English and
1305 can speak Marathi. But 120 person cannot
speak either language. Then how many can speak

both languages :
(A) 220 B) 120
(C) 1085 (D) 440

From the given alternative select the word which
can be formed using the letters given in the word.
ABOMINABLE :
(A) BOWEL
(C) BLAND

(B) METAL
(D) BANAL

Latest Sarkari Jobs, Govt Exam Results,
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I1.

12.

13.

14.

15.

16.

17.

18.

gfe D=2d21 F=3, 8 d BAG=?
(A) 10 (B) 20
© 5 (D) 6

T @e ST 9 FAITH @ 82731, HABIT &1
12573 T2 HEALTH &! fofar Sy a1, 192431
DI I G W9 H BELIEF &1 &1 foram Sigan?
(A) 594598 (B) 594789
(C) 594978 (D) 594798

afg fHdl we «T9T H NATIONAL &1
LNAANTOI fer@r g a1 I de AT o
DOMESTIC &1 @11 fofar Sirgam?

(A) CDIOMTES (B) CDIOTMSE

(C) CTSIMODE (D) CSITEMOD

TP Hefl H Al BT T HIR | 17 df TAqT
{20 df ©| AT BelT § G B B &7
(A) 45 (B) 40

(C) 44 (D) 41

TR H BT b I8 TSHI AR HGT B gfT &I
T & *RT BT WIE qAT 984 81 7 9 I8

TSHT TRV W DY AT 87
(A) =rar (B) T
(C) cirom (D) TRT 4TS

fa=ferRaa & dH—a1 MERCHANDISE e
TS IFIT S Fhal © P

(A) MECH (B) DICE

(C) CHARM (D) CHANGE

1865 AT H ¥, 660 USH It THd =, 1305
TRIS! 9T AP T, 120 AT HIg AT el il
AHhd B, Al fhad= @RT S91 19T 9l |hd 87
(A) 220 (B) 120
(C) 1085 (D) 440

freferRaa fad gu Aoy d 9 S wred &l
MY ST ABOMINABLE & 31&Ri ¥ 91T ST
Al 2?

(A) BOWEL
(C) BLAND

(B) METAL
(D) BANAL
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Directions (19-20) : In the following questions some

19.

20.

equation are solved on the basis of a certain
system. Find the correct answer for the unsolved
equation on that basis :

1228 = 12 and 337 = 16, then 569 = ?
(A) 39 B) 20
(C) 29 D) 36

If3X7X8=837
2X4X5=524,thend X3X7=2
(A) 743 (B) 734

(C) 84 (D) 214

Directions (21-23) : In the following questions, select

21.

22.

23.

24.

1550

the missing number from given response :

12 6 8
4 4 9

3 7 4

51 31 2
(A) 21 (B) 42
(C) 76 D) 86
3 18 6

5 2 4

8 40 5

(A) 40 (B) 22
(C) 24 D) 20
8 2 6

2 4 2

5 6 8

80 48 240
A) 4 B) 10
© 5 (D) 20

Indicate which figure will best represent the
relationship among Birds, Crows, Eagles :

O O
B) 0O

(A)

© D)

e (19 ¥ 20) : fFr=ifoiRad gl § G FHieRo

19.

20.

P B RO W Ugla A fbar 1 8 9
Jgfd 9 g1 T8I fhd U IHHROT BT SR ¢ |

gfe 228 = 12 @ 337 = 16, @T 569 =2
(A) 39 B) 20
(C) 29 D) 36

Ifgd 3 X 7X 8=2837
2X4X5=524,q9 4X3X7=2
(A) 743 (B) 734

(C) 84 (D) 214

e (21 9 23) : fA=faRead ool & feu w1Q

21.

22.

23.

24.

dcdl § ¥ o AT 31d &Y |

12 6 8
4 4 9

3 7 4

51 31 2
(A) 21 (B) 42
() 76 D) 86
3 18 6

5 2 4

8 40 5

(A) 40 B) 22
(C) 24 D) 20
8 2 6

2 4 2

5 6 8

80 48 240
(A) 4 B) 10
© 5 (D) 20

frifeed o § o—ar fafsar, s gen
T B 99 g Bl YSRiT dRar

O O
B) e

(A)

(©) (D)

SET-B
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25.

Neela is now three times as old as her daughter
Leela. Ten years back, Neela was five times as old
as Leela. The age of Leelais :
(A) 15 B) 25
(©) 30 (D) 20

Direction (26-30) : P,Q,R, S, T, U, V and W sitting

26.

27.

28.

29.

30.

31.

32.

1550

round the circle and are facing the centre

(1) P is second to the right of T who is the
neighbour of R and V

(i) Sisnotthe neighbour of P

(1) Vistheneighbour of U

(iv) Qisnotbetween S and W. W is not between
Qand S

Which two of the following are not neighbours :
A) UV (B) TR
(C) PW (D) SW

Who is the neighbour of W ?
A) U BV
©) R (D) S

Who is the second right of R?
A) Q B) W
© S D) vV

Who is in the middle of Sand V ?
A) U (B) R
©) P D) Q

Who is second to the left of U ?
A) W B) Q
© P D) R

In half hour, the minute hand of clock will rotate

through the angle of :
(A) 75° (B) 60°
(C) 120° (D) 180°

Meera was born on 22nd March 1982. On what
day of the week was she 14 years 7 months and 8

days of age?
(A) Tuesday (B) Sunday
(C) Monday (D) Saturday

Latest Sarkari Jobs, Govt Exam Results,
Vacancies and updates on one click

25.

AT Sl 91 Sl | A Jen g€ €, 10 9
Ugel ITelT, Silell 9§ ure AT 991 o | AT ofiar ot

I % |
A) 15 (B) 25
(C) 30 D) 20

fAder (26 ¥ 30) : P,Q,R,S, T, U,V 3R W T& g

26.

27.

28.

29.

30.

31.

32.

F RN IR B B R & IRD I3 B |

() P,TIR ¥ AT © oI fb R3R V&
TSt B |

(i) S,P Sl &l 2 |

(i) V, U ®T TSl B |

(v) Q, STNM W &g § &1 & W, Q@I S
@ 9 § TE 2

frferRed & 9 @19 1 3™ T TR @ TSl
BRI

A) UV (B) TR
(C) PW (D) SW
W &l U8l &I 7 ?

(A) U B) V

© R D) S

R SR AT B 87

A) Q B) W
© S D) Vv

STAT VS da § o9 8 ?
A) U (B) R
© P D) Q

Ud 9 SR &9 & 2
A) W B) Q
© P (D) R

A He H fAme &1 gs ol S 9 ¢A
SITQEAT?
(A) 75°
(C) 120°

(B) 60°
(D) 180°

AIRT BT ST 22 AT 1982 BT §3T oA | I qTd
& e @ ®IF A1 &9 98 14 99 7 72T 3R
8 fadq @1 of?
(A) HTTaR
(C) AHaR

(B) XfdaR
(D) oIFaR

Know More
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33. If Ist October falls on Sunday. What day of the ~ 33. 3fq 1 3/aceaR &I IfIaR BT &, AT 1 FTH=R Bl

week will fall on 1st November ? AE BT DA A1 & e
(A) Tuesday (B) Wednesday (A) TR (B) guar
(C) Sunday (D) Monday (C) 3faar (D) AMIR

Direction (34-40) : In each of the following questions,  fA<TT (34 | 40) : f=fRad U@ U= # Iy U
select the related letter/word/number from the given Jhdl H O gHEfd 3R /e /AT Bl
alternatives : Qﬁi’ [

34, DEVIL:ABSFI:: OTHER:? 34, DEVIL:ABSFI:: OTHER:?

(A) MRECP (B) RWKHV (A) MRECP (B) RWKHV
(C) LQEBO (D) LRECO (C) LQEBO (D) LRECO

35.  Manipuri : Manipur : : Kathakali : ? 35. AR : AR : : Hyhall : ?
(A) Karnataka (B) Tamilnadu (A) BAleH (B) affrerrg
(C) Kerala (D) Andhra Pradesh (C) B (D) 3T UaeT

36. 24:60::210:7 36. 24:60::210:7?

(A) 425 (B) 420 (A) 425 (B) 420
(C) 525 (D) 505 (C) 525 D) 505

37. Teacher: Student : : Pontiff: ? 37. fretd B e : ?

(A) Disciple (B) Follower (A) RRrsg (B) 3
(C) Priest (D) Deity (C) goIY (D) <qdr

38. Book:Read:: Picture: ? 38. fpard :ugar:: oz : ?

(A) Library (B) Buy (A) GEIPTerd (B) @¥ie=
(C) See (D) Listen (C) <& (D) g

39. ETHNICITY : YTIC INHTE : : HOPEFUL:? 39. ETHNICITY : YTIC INHTE : : HOPEFUL:?
(A) FULEPOH  (B) HOPELUF (A) FULEPOH  (B) HOPELUF
(C) LUFHOPE (D) LUFEPOH (C) LUFHOPE (D) LUFEPOH

40. Swimming: River: : Hiking:: ? 40. AT : AT :: T@IE P
(A) Mountain (B) Road (A) Tdd (B) Is&

(C) Pond (D) Sea (C) drelrd (D) 9q«

Direction (41-48) : In each of the following question, ~ fA<er (41 & 48) : f=falag weai # fRu WU
find the odd word/letters/number pair from the fIewedl 5 9 v A=/ seR /S g™
given alternatives : T |

41. 41.

(A) 1000 (B) 625 (A) 1000 B) 625
(C) 64 (D) 512 (C) 64 D) 512

1550 SET-B
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42.

43.

44,

45.

46.

47.

48.

Directions (49-50) : Arrange the following words

49.

50.

1550

(A) 10
(C) 64

(A) CP
(©) DQ

(A) Publisher
(C) Novelist

(A) WTQN
(C) MIDA

(A) King:Queen

(A) Radish
(C) Potato

(A) 124 - 164
(C) 212 -252

(B) 24
(D) 120

(B) FR
(D) BO

(B) Author
(D) Poet

(B) NKHE
(D) KHEB

(B) Prince : Princess
(C) Witch: Vampire (D) Hero : Heroine

(B) Carrot
(D) Beetroot

B) 14 - 54

(D) 256 - 286

according to the English dictionary :

1. Voyage

3. Vocation
(A) 2,4,3,1
©) 2,3,4,1

1. Beet
3. Being
(A 4,2,1,3
©) 1,2,3,4

2. Voice

4. Volume
B) 3,2,4,1
D) 3,4,2,1

2. Beer
4. Been
B) 4,2,3,1
(D) 4,3,2,1

42.

43.

44,

45.

46.

47.

48.

(A) 10
(C) 64

(A) CP
(©) DQ

(A) YPRIH

(C) SURTAHR

(A) WTQN
(C) MIDA

(A) XTSI @ T
(C) s+ : fuema

(A) Tl
(C) 3rg

(A) 124 - 164
(C) 212 -252

(B) 24
(D) 120

(B) FR
(D) BO

(B) I E®H
(D) ®fd

(B) NKHE
(D) KHEB

(B) ISTHHAR : TSTHHNI

e}

@)aﬁﬁm:éﬁﬁ%

(B) TR
(D) H

B) 14 - 54

(D) 256 - 286

forder (49 & 50) : f=faRad sl @1 SfUSh

49.

50.

YEHIY B ATAR Aol

1. Voyage 2. Voice
3. Vocation 4. Volume
A) 2,4,3,1 B) 3,2,4,1
€) 2,3,4,1 D) 3,4,2,1
‘1. Beet 2. Beer

3. Being 4. Been
A) 4,2,1,3 B) 4,2,3,1
©) 1,2,3,4 D) 4,3,2,1
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51.

52.

53.

54.

55.

56.

1550

PART-II

GENERAL AWARENESS & PROFESSIONAL KNOWLEDGE

No members of the force will visit married lines
except than those who have been allotted a quarter
without permission of

(A) DC(Adm)

(B) Comdt.

(C) Subedar Major.

(D) SI(Hygeine & Sanitation)

DA is admissible for absence from HQ for not less
than

(A) 10hrs
(C) 9hrs

(B) 8hrs
(D) 6hrs

Within what distance no person is allowed to do
any canvassing in and around the polling station
(A) 200 Yards (B) 100 Yards

(C) 150 Yards (D) 250 Yards

Response time of RAF to Law and Order situation
within the same station when it is on call, is

(A) 30 minutes for move of all Coys.

(B) 45 minutes for move of all Coys.

(C) 60 minute for move of all Coys.

(D) 15 minutes of move of all Coys.

Vehicle to Vehicle distance in convoy movement
should be ........... Meter in hilly and .........
meter in plain area.

(A) 20 to 30 meter, 300 to 500 meter

(B) 50 to 100 meter, 100 to 200 meter

(C) 500to 01 Km, 01 Km to 02 Km

(D) 01 to 02 Km, 04 Km to 05 Km.

Which state government has recently declared 50%
reservation in judicial services for OBCs, SCs, STs
and EBCs?
(A) Odisha
(C) Bihar

(B) Madhya Pradesh
(D) Assam

Latest Sarkari Jobs, Govt Exam Results,
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51.

52.

53.

54.

55.

56.

I3 I B Aq faared ameq § A | foa
@ AR | YN IR FHAT § ?

(A) SU HHVST (TSH)

(B) HHTUSC

(C) IR R

D) 3 e (EERM e dfcT)

I e & foy w98 o0 ffoRed w9
o fau qeEarey ¥ Ui W&l ®g ofve
Wl 99 B |
(A) 10 ©C

(B) 8 ®S
(C) 9 HS ]

(D) 6 ®c

(A) 200 T
(C) 150 T

(B) 100 <
(D) 250 o

ol M W HF T4 FET I G
AROTOTFH0 ERT HRAT§ XA BT AHI, 06 34
AR ST B ?

(A) T F @7 30 e ® Harem

B) T F @7 45 e ¥ Farem

(C) G H @7 60 fAe # HareWm

(D) T F @7 15 e § Harem

I AT H qed B dBd d W BTl
8T F o IR AT & H ... Rl
A1fEy |

(A) 20 ¥ 30 HIeX, 300 ¥ 500 R

(B) 50 § 100 Hex, 100 § 200 Hiex

(C) 500 ¥ o1 foho, o1 fvdo ¥ o2 fHho
D) 01 § 02 foo, 04 fdlo & 05 fdo

g & H 5 T WeR 7 e dar o
g fiser o, sqqfaa wfa, sgR@ =
oy qen i wu W fiss o @ forw 50%

FReror @ fhar 8 -
(A) anfsem (B) W& Yo
(C) faEr (D) 9H

SET-B



57.

58.

59.

60.

61.

62.
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Garampani sanctuary is located at
(A) Junagarh, Gujarat

(B) Diphu, Assam

(C) Kohima, Nagaland

(D) Gangtok, Sikkim

Coral reefs in India can be found in
(A) the coast of Orissa

(B) Waltair

(C) Rameshwaram

(D) Trivandrum

Film and TV Institute of India is located at
(A) Pune (Maharashtra)

(B Rajkot (Gujarat)

(C) Pimpri (Maharashtra)

(D) Perambur (Tamilnadu)

Gravity setting chambers are used in industries to
remove

(A) SO,

(B) NO,

(C) Suspended particulate matter

(D) CO,

What is scoring pattern prescribed in ARCF for
trained soldier firing with INSAS Rifle?

(A) Marksman-74,1%Class-60 & Std

Shot-46

(B) Marksman-86,1*Class-72 & Std

Shot-58.

(C) Marksman-98,1Class-79 & Std

Shot-65.

(D) Marksman-106,1%Class-87 & Std
Shot-73.

How manytotal firing practs (including day & night)
are there in ARCEF for trained soldier firing from
9MM Carbine?
(A) 05
(©) 07

(B) 06
(D) 08

Latest Sarkari Jobs, Govt Exam Results,
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57.

58.

59.

60.

61.

62.

TRAT ARG HeT R & -
(A) SFTe (o)

®) & (3rem)

(C) BIEAT (ATTT'S)

(D) Trers (RafasH)

YRA # G B Feer HE e o 6 g -
(A) Nfear & dc

(B) dTeca;X

(C) IHIRA

(D) fravgH

IRAE fhew T Sofifows Gvome @1 Rem
B

(A) g9 (AERTES)

(B) aidic (o)

(C) Uiwt (ERTE)

(D) R (afrerrg)

fea@l gem @ fay Seil § w@Eey
IR BT ST fHar S @ ?

(A) GeWR TIEATIFAE S

(B) TSCIVH STSATFATS S

(C) foeifed ®or Awe

(D) BT TTSIATIALS

affe aigar) & 3 Ushd BRIRT @

fou fRehiRa adem ¥, yrardl &1 &9 @1

fafezor @& & °?

(A) ATHTRAT—74,H%C FANI—60 TAT KIS
3C—46

(B) ATHTAT—86,I%C Fol—72 TAT KIS
3Tc—58

(C) ATHAAT—98, HRC TFATE—79 TAT TWISS
3T c—65

(D) ATHTHT—106,%C TFeITI—87 AT IS
3c—73

qffe FicAR # ¢+ WleoRk & folT 9 THUH.
PRI ° Hd (O-feq faamer) wrRRT
e vl T g -

(B) 06

(D) 08

(A) 05
(C) 07

SET-B
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63.

64.

65.

66.

67.

68.

69.

70.

71.

1550

How many types of sights are being used in X-95
rifle?

(A) 4
© 2

®B) 3
D) 5

After how many paces hand will come down in the
Salute of Left or Right?

(A) 4 B) 6

© 5 D) 7

What is the life of peak cap for SOs?
(A) 06 years (B) 02 years
(C) 03 years (D) 04 years

When is Kit classification carried out?
(A) Atthetime of pension

(B) Atthetimeoftfr

(C) Lossofanyitem

(D) None ofthem

For Dog Squad, how many weeks of trg are there

for Dog and its handler
(A) 24 (B) 36
(C) 40 (D) 46

What is the area of jurisdiction of RAF unit?
(A) 250 Km (B) 350 Km
(C) 300 Km (D) 325 Km

CRPF sponsored two players of J&K got
opportunity to play which game at the International
level

(A) Badminton (B) Football
(C) Ciricket (D) Boxing
Shuttle run test measures —

(A) Explosive strength
(B) Speed endurance
(C) Agility
(D) Speed

Fatigue comes during training due to—
(B) Adrenal
(D) PH factor.

(A) Lacticacid
(C) COo,

Latest Sarkari Jobs, Govt Exam Results,
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63.

64.

65.

66.

67.

68.

69.

70.

71.

X-95 WEhd ¥ fbae UHR @ URed TR
@ Wl 87
A) 4
©) 2

B) 3
D) 5

9T A RN B FE § fbhad deA 3 T
g A e ?
(A) 4
© 5

(B) 6
(D) 7

It Aftre™y & fau f—9u @1 dEw
fpaem 2?
A) 06 T
C) 03 79

(B) 02 a9
(D) 04 a8

foe Fafifbess o9 foar wmr 87
(A) INN WM W

(B) WIMRY WM W

(C) wfdm fe ooR W M W
(D) 9 ¥ B 7ol

ST W@ @ oy ST Ua EeeR @1 uinerT
foa wwE @ B

(A) 24 (B) 36

(C) 40 (D) 46

JROYOVE 9210 T & &= faem 87
) 250 f& @ (B) 350 f& i

(C) 300 f& 1  (D)325 f& #

oRYgd 7 TH-—aER & 02 faafsal &
FTWET R R b9 W & dier vd yrfod
far mm ?
(A) dsfieq
(C) fome

(B) ®cald
(D) D ITSN

Yed I W@ BT AU g
A) foepies awgd
B) a0 aETefierd

() it
D) Tfa
UfeT & SRM UBE B BRI &
(A) oifics v (B) & W&

(C) ®Tev SRdfaass (D) N.Ud. oeh
SET-B
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72.

73.

74.

75.

76.

77.

78.

79.

1550

How many Numbers of Trained solder Table Cord
are there-
A 9
© 7

®) 8
D) 6

MR claim can be preferred in how many days from
the completion of treatment?

(A) 01 month (B) 03 months

(C) 45 days (D) None ofthe above

As per latest orders the Firefighting practice in duty
Bn be carried out once in?

(A) 07 Days (B) Monthly

(C) 15Days (D) None the above

Ecology deals with

(A) Birds

(B) Cell formation

(C) Relation between organisms and
their environment

(D) Tissues

The ozone layer restricts

(A) Visiblelight

(B) Infrared radiation

(C) X-rays and gamma rays
(D) Ultraviolet radiation

Filaria is caused by
(A) Bacteria
(C) Protozoa

(B) Virus
(D) Mosquito

Newly raised CRPF Mabhila Bn inducted in LWE
Area for Anti Naxal operation.
(A) 88 B) 135
(©) 232 (D) 233

Which CRPF Training Institution awarded with
Home minister Cup for best Training Centre for
recruits.

(A) RTC Neemach

(B) RTC Rajgir

(C) RTCAmethi

(D) CIAT Silchar
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72.

73.

74.

75.

76.

77.

78.

79.

¢ WieoR oqdl Pie fba- YR & &
A 9 B) 8
©) 7 D) 6

SR @ gag ¥ feaq feai & fafewr
gfogfd qrar @ gar & 9l g?

(A) 01 HEFT (B) 03 WEM
(C) 45 fam (D) ST § ¥ By Tal
T UeEH @ SER BRR BIgfeT el

o1 e fegdl verfergd d foan faal w
g TfRy?

(A) o7 f&d (B) AT1f4®

(©) 15 fed (D) ST § ¥ By Tal
TRRRfie deg & -

(A) et

(B) BIRM@T TaH

(C) Sal 3R araraRyT & g Gy
(D) STH!

Ao w7 Gt a § -
(A) T YaIA

(B) rqxaq fafevor

(C) T 3R a7 fowon

(D) RN fafezor

BIEIRAT fhdd RO Bl & -
(A) dfagar (B) 41339
(C) Tierarm (D) FTBR

PRYEEA ¥ & Toaa Sifved & forg amoeh
SYAE &9 A UH A% Afgar serfadd &
wfver foar €, 98 &-

(A) 88 §cTTferdd  (B) 135 S elferdd

(C) 232 §cIfel@d (D) 233 §erferdd

oRysa @ fow alEw o= 9 wafcA
TT6e JRIE & foly 8 #3 S gRT Sw
far T 2-

(A) RS ¥g

(B) IR TSR

(C) IR s

(D) Hamg.vd. Ryeer

SET-B
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80.

81.

82.

&3.

84.

85.

86.
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Latest CIAT School of CRPF established at which

place.
(A) Latur (B) Chittoor
(C)Belgam (D) Bijapur

Which Central Team of CRPF won the Gold medal
in AIPDM-2016 for the first time in the history of
CRPF?

(A) Volleyball
(C) Hockey

(B) Basketball
(D) Rowing

7" National Conference of Women in Police was
organized the first time in CRPF, the venue was :-
(A) ISA M/Abu

(B) Vigyan Bhawan Delhi

(C) CRPF Dte. General, New Delhi

(D) CRPF Academy Kadarpur

Name of CRPF Commandant who is martyred on
15 Aug’2016 in Srinagar?

(A) Pravin Kumar

(B) Pramod Kumar

(C) Pravesh Chand

(D) Piyush Chand

Which of the following activities measures dynamic
strength —

(A) Ropeclimbing

(B) Short distance run

(C) Forwardroll

(D) Vertical jump

What does BMI measures —
(A) Flexibility (B) Muscles weight
(C) Bodyfat (D) Strength

Which Standing order is applicable for Annual
Range classification firing instructions in CRPF?
(A) S O- 06/2008

(B) S O-09/2011

(C) S O-10/2012

(D) S O-01/201

Latest Sarkari Jobs, Govt Exam Results,
Vacancies and updates on one click

80.

81.

82.

83.

84.

85.

86.

aRygd & TfiTaq M. wa foq
e wnfia f&m mm g?

(A) AT B) forR
(C) e (D) YR

dNIgd @ Shae™ A dRJed @ &9 dsd
W T A U8l IR vAmS ML Sima—2016 #
Wl yed offar 87
(A) areligrd

(C) gfdl

(B) SPCaTd
(D) NIZT |

7 & Iy Afgen gfer wRiaa afgea 4
Yo IR oo o W mafra fam mar or?
(A) TG, ST Mg

B) fog™ waa ool

(C) IRy FRIfRT

(D) BRYTA ABTEH BTERYR

HIRATE HHISC W 15 3FRG 2016 TR
4 YEG B B AW ©

(A) YdIvT HAR

(B) ¥IE FAR

(C) Y9 dg

(D) Uy =g

Tfrefie e &1 yqE Aueve g
(A) TEET T

(B) BId) T

(C) BRES A

(D) ST B&

BMI &1 HIYGUE &~
(A) ETATIT (B) Arauefl qw
(C) IXIR® &1 (D) AW

HoR0Y0TA § dIfE AfART TATHRoT BN
W e feer-frdw fow <org smew # § 7
(A) I 310
(B) RIT§ 30
(C) TIT§ M0
(D) WIT§ M0

06 /2008
09 /2011
10 /2012
01,/2016
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88.

89

90.

91.

92.

93.

94.
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Mistake occurred because of Trigger operation is
called?

(A) Flinch
(C) Buck

(B) Jerk
(D) Allofthese

Which exercise is beneficial to rectify the mistake
of sight alignment by a firer?

(A) Aimingbox exercise

(B) Aiming corrector exercise

(C) Breathing control exercise

(D) Tindiscexercise

Which drill is adopted by CRPF on firing range?
(A) Company drill

(B) Disciplinedrill

(C) AtoGdrill

(D) Fire arm safety drill

When to zero the weapon?

(A) When the weapon newly issued

(B) After handing/taking over of
weapon on transfer

(C) After major repair

(D) Allofthese

How many type of grenades are being fired by
UBGL
A) 2
©) 4

®) 3
(D) 7

How many types of wire obstacle are there?
A) 2 B 3
©) 4 D) 5

In which CRPF Form leave, leave/duty certificate
isissued?

(A) CRP 18
(C) CRP20

(B) CRP 24
(D) CRP 28

How many times GPF subscription can be increased/
decreased in a year.
(A) 173
©) 22

B) 2/1
(D) 2/4

Latest Sarkari Jobs, Govt Exam Results,
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87

88.

89

90

91.

92.

93.

94.

. foR M ¥ 89 ael Torl dEar) B ?

(B) W®
(D) SUger ¥l

(A) T
(C) 9%

PR ERI WIgE Yelgiae & Terdl I ¥
BN B o0 DY W TIEREES @ oeNd © ?
(A) THT IR TR

(B) THT WX TRRATEA

©) fafdT wgid TERRERS

(D) TH o TR

».RITA gRT GRINT I9 W T A fga
JUTE N B ?

(A) F9AT fgd

(B) e fgd

(C) AN Gfsa

(D) BRR M & fga

. 90 BT ORI $e e ST & 7

(A) ¥ T I R e S @
(B) TNTHR W U9 & < G oW B §1Q
(C) @ WA & 9%

(D) Sugad |+l

UBGL & g faq YoR & I9¢ BRR b
S 87

A) 2 B) 3

©) 4 D) 7

IR AECHA B G Famir?

(A) 2 B 3

©) 4 D) 5

Lrote WA B R 1 i M e I o )
o § IR e @ 2?

(A) BRY 18 (B) BRY 24

(©) aRY 20 (D) 3RY 28

afewg Ay @ 9w Ay s & o aff &
foam TR werfl /el o1 Hadr 27

(A) 173 B) 2/1

(C) 272 (D) 2/4
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95.

96.

97.

98.

99.

100.
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Which of following terms denotes the ““Toughening
of body” as its major objectives-

(A) PT (B) Dl
(C) WT (D) Play
Sri Guru Gobind Singh was

(A) The 10th Guru of the Sikhs

(B) Founder of Khalsa, the inner council of the
Sikhs in 1699

(C) Author of Dasam Granth

(D) Alltheabove

Who has been awarded ‘Scroll of Honor’ by
Government of India to promote cashless
transactions?

(A) Manish Jadon

(B) Khusbu Gupta

(C) Surbhi Kapoor

(D) Gaurav Goya

What is the sequence of sitting position of Lathi
party while marching from vehicle?

(A) Middle (B) Last

(C) First (D) Anywhere

Revision petition can be made against the
punishment of departmental enquiry within. . .days?
(A) 15days (B) 30days
(C) 45 days (D) 60 days

An orderly room register is maintained in CRPF in
form No.?

(A) Form No. 16
(C) Form No. 08

(B) Form No. 46
(D) Form No. 15A
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UChH B

(A) .2 (B) §iat
(C) S92, (D) W
T6 TMids Rig o -

A ReEl & 0 TS

(B) 1699 # R & faRe TRyg @™ &
GEJINED

(C) T I & <Al

(D) Suad &+

DI @939 B §GT@T o9 b foIv 9RA
WHR 4 5 WBid e AR ygH fHar
g

(A) HHIY TG

(B) ERIY w1

(€) T IR

(D) MRT AT

T ¥ A" BRd WA S Ul B sod @
BY T |
(A) § A
(C) Ugad

(B) amRaR
(D) Bal

g aifaet fead ot & wwg-dm @
AR § A o 9o & °?

(A) 15 fa= # B) 30 fa= #

(C) 45 fe=t # (D) 60 fe=t #

POoR0YoTA # el Per ufetepT @1 e ufeTa
= § Y@—R@E e o 8?

(A) BTH Ho—-16 (B) BIH H0—46

(C) B4 Ho—-08 (D) ®H Ho—15 T
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102.

103.

104, ——

105.

106.
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1550

PART-IIT
NUMERICAL ABILITY

The ratio of two numbers is 3 : 4 and their H.C.F.

is 8, their L.C.M. is :

(A) 96 (B) 108
(C) 48 (D) 64
The L.C.M fi E i 2

eLCM.of 7.0, 2. 31
* 36 ® 1365
C) 36 12
(©) D) s
0.517 = 0.00517 =?
A) 1 ®) 10
(C) 100 (D) None of these
0.02 isequalto:
(A) 100 B) 50

1

© 5 D) 5,

0.009
IfT=0.001, thenx=7?
(A) 90 B) 9
(©) 0.9 D) 5o
The value of () 47 is:
N s
A) 1o B) 359
o B s
© 95 D) 5

b—a
If1.5a=0.04 b, then value of( j IS :
b+a

N B 73
o 730 73
©) D) —--
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ST GEITRAT BT AU 3 : 4 &, A ITHT {0 O
8 © dl IdT &0 HO &IT BIIT?

(A) 96 (B) 108
(C) 48 (D) 64
434 9 s
3057 T 3 P10 W0
A) 34 ® 365
12
(C) 36 D) —5 443
0.517 = 0.00517 =2
A) 1 B) 10
(C) 100 (D) 39 & ®Ig &l
s 5.
0.02 T
(A) 100 (B) 50
1
©) 50 D) 20
gfe 0'109=0.001, g Arx=2?
(A) 90 B) 9
1
(©) 0.9 D) %
0.47 T A9 SRR ¥
a 3 47
(A) 10 B) 99
C 3 47
©) 90 D) 9
b—a
Ife 1.5a=0.04b, 21, ar (b j BT A B
+a
a2 73
@& - ®)
c 730 73
© = ®) 777
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(0.6)* —(0.5)*

108. m isequal to:
(A) 0.1 (B) 0.11
©) 1.1 (D) 11
F_s6 LQ
109. If 0 5 , find the value of P _Q :
L 61
@ ®)
49
© 17 (D) 8
110. If 2al =1, then find the value ofa ?
1+
1+
l1-a
N 3
A 3 ®) -
2
© 3 D) 0
P P-3
111. IfZ—T=1,thenﬁndthevalueofP?
A) 4 ®) 5
€) 6 ®) o

1 1 1
112. If -+—-+—=4,thena="?
3 2 a

5 6

(A) 15 B

18 24

© ©

a 4 4 2b-a
113. Ifzz5 thenvalueof(7 2b+aJIS:

1

@ 1 ®) 1-

3

(© 2 ©) -

1550

108

(0.6)" —(0.5)"
BT A R ©

© (0.6)” +(0.5)°

A) 0.1 B) 0.11

©) 1.1 D) 11
P_6 P2+Q2

109.?1%Q 5. g‘reﬁ Qzaa—rwmﬁ-cmﬁ

L 6l

@A) 17 B)
A

© 7 D) 8

110. afe 2—"1

=1, 81 dl a T |9 Aarer?

1+
1+
1-a
3 3
(A) ) B 1
2
© 3 D) 0
111. afg g—%—l g1 dl, P &1 719 fAarei?
A) 4 B) 5
© 6 D) 0
1 1
112. afe §+2+;—4 gdra=2?
5 6
(A) T B) o
18 24
© 5 D) 1
a 4 4 2b-a
113. afe Z=§,§Teﬁ (7 T j BT A ©
1
@A) 1 B) 17
3
©) 2 D) 7
SET-B
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115.

116.

117.

118.

119.

120.
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If % - %=4, then find the value ofa ?
(A) 120 (B) 100
oS 2

© - ©) 3

1
1 of atanker holds 135 litres of water. What part

of tanker 1s full if it cantains 300 litres of water?

(A) (B)

© (D)

Wi Ol
wmlo |-

A cricket team won 3 matches more than they lost.
If a win gives them 2 points and loss (-1) point,
how many matches, in all, have they played if their
score is 257

(A) 19 (B) 41
(C) 20 D) 42
Ifa=1+ ./ and b=1- /7, find the value of
(a*tb?):
(A) 3 B) 4
©) 5 (D) 6
Ifx =5, then what is the value of 10 x/,* — 2
(A) 250 (B) 200./5
(C) 10045 (D) 500
0.0196

If =0.2,thenx="7?

X
(A) 0.49 B) 4.9
(C) 0.049 (D) 0.07
If3x =3y =3zand x +y+2z=27,/29, then

X+t 427 ise

(A) 87

©) 2429

B) 84
D) 4429
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aﬁ%—%=4,ﬁﬁaﬁﬂﬁﬁ$@?
(A) 120 (B) 100

S 2
© & D) 3
?an—\ra%i qRT H 135 oflex U1 Y&8dl 2 | Ife
THR H 300 X U WRT ST ol SR BT fe=T
TRT ARAT?

(A) (B)

W O]
n|Oo |~

© (D)

U fhve EH SAdT #9 8RAT & S99 3 H
SITET SiiddT 2, Ife Siiad IR S92 3fd oI
ERA W (-1) 3id fAerar 8, df 9ard & 25 3w
Ui R & (o0 Sa fha=r 9 Wl gFm?
(A) 19 (B) 41

(©) 20 (D) 42

g a=1+ [y TATb=1- /7, B TT (a>+b?) BT
A et
(A) 3
©) 5

(B) 4
(D) 6

A x =5, B AN 10x,/,3 _ 2 BT A4 &1 87

(A) 250 (B) 200./5
(C) 1005 (D) 500
Ife 0'0i96=0.2, gLl x=2
(A) 0.49 B) 4.9
(C) 0.049 (D) 0.07

IfE 3x=3y=3z TAT x+y+2z=27,/29 g,
X+t 422 ?
(A) 87

©) 2429

B) 84
D) 4429
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125.
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What is the smallest number to be subtracted from
549160 in order to make a perfect square?

(A) 79 (B) 81

(C) 80 D) 1

The average of five consecutive even numbers is
26. Find the smallest of them?

(A) 20 B) 22

(C) 24 (D) 28

The average of 11 numbers is 60. Ifthe average of
first six numbers is 58 and that of last six is 63, find

the sixth number :
(A) 60 (B) 66
©) 72 (D) 78

The average age of 36 persons in a group is 14
years. When an extra person’s age is included to it,
the average increases by one. What is the extra
person’s age in years?
(A) 41
(©) 49

B) 47
D) 51

A driver travels to a place 150 km away at an
average speed of 50 km/hr and return at
30 km/hr. His average speed for the whole journey
inkm/hris:

(A) 33.5km/hr
(C) 35km/hr

B) 37.5km/hr
(D) 37km/hr

50 is divided into two parts such that the sum of

1
their reciprocals is —, find largest part?

8
B) 20
(D) 40

(A) 10
(C) 30

Present ages of Mohan and Sohan are in the ratio
of 5 : 4 respectively. Three years hence, the ratio
of their ages will become 11 : 9 respectively. What
is Mohan’s present age in years ?

(B) 24
(D) 40

(A) 30
(C) 27
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549160 # & 98 BICI A BICT HIF A F&T
gerdl $Y drfd a8 qof avf 9

(A) 79 (B) 81

(C) 80 D) 1

]

Ut TR 9 ARl & 3id 26 B, df S8
I e BIET IAT M DN |
(A) 20 B) 22
(C) 24 D) 28

11 el BT AT 60 B AR UAH 6 @I
AT 58 TAT 3Nf~TH 6 BT 3T 63 BT oI, BT
TR /T 87
(A) 60
(C) 72

(B) 66
(D) 78

Bl g & 36 NN &l AT g 14 aY ©
FYE H U AT MTHT 3 & a1 A 1
A 9 Ol & | a1 S SrfaRad e @l Iy
9y # a1 2°
(A) 41
(C) 49

(B) 47
(D) 51

U ol 150 Tl &1 g3 50 el /€eT &
T ATl I A HRaT § 97 30 fhHT /T dbl
AT I | g8 qIO AT AT 2| Al SED
T T BT AT AT e

(A) 335 fbHl /ge1  (B) 37.5 [l /HaT
(C) 35 fpHl /ger (D) 37 foHl /&er

50 BT ST I H 9 YhR dieT Sidl & fb Sad

1
A BT ARTHA g%\', ar g7 91T 9ard?

B) 20
(D) 40

(A) 10
(C) 30

AIigd dAT AIET B JOHAA AR BT U
5:4%| M Y & I ID AY BT AFUTT
11 : 9 B SIIQAT| AT HIgd BT a<IAH MY 9T
27?

(A) 30
(C) 27

B) 24
(D) 40
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129.

130.

131.

132.

133.
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Sushil’s age after 15 years will be 5 times his age 5
years back. What is the present age of Sushil?
(A) 15 (B) 20

(©) 10 (D) 25

The Sum of ages of a father and his son is 45 years.
Five years ago, the product of their ages was 34.
The age of the soniis :
(A) 6years
(C) 8years

(B) 7 years
(D) 9years

In 10 years, x will be twice as old as y was 10
years ago. If x is now 9 years older than y the
present age of y is :

(A) 39 years (B) 29 years
(C) 19 years (D) 21 years
3 66
Whatis the value of —2, 7~ :
6" x V6’
1
(4) 6 ®) ¢
©) 1 D) 0
3X(@81* ,
If —9”X35X(27)3 =27, thenn =7
o L 1
A) 3 ®)
1
(©) 0 ©) 5

Sixty five percent of a number is 21 less than
four-fifth of that number. What is the number?

(A) 120 (B) 160

(C) 140 (D) 180

15% of 600 + 45 % of 280 = ?
(A) 216 (B) 236
(C) 126 (D) 246

128.

129.

130.

131.

132.

133.

134.

15 99 915 Gl Bl MY A 5 a¥ Ugel Bl
311G bl 5 O &1 ST Gl B <A 311y
T B?
(A) 15
(€) 10

(B) 20
(D) 25

O oI 4 &1 SA1g BT AT BT 45 I €, 5
Y Ugl SMI B A BT OGS 34 © a I
HT A MY FAT 2°
(A) 6 a9
(C) 8 ¥

(B) 7 a9
(D) 9qY

10 auf H x @ MY y & 10 a9 & UZel & ML
DI AT B WG, A IAE H x, y ¥ 9 9y

I € Al y BT I Mg RIT 2°
(A) 39 a9 (B) 29 a9
(C) 19 @ (D) 21 9
366
W BT AT FAT 87
1
(A) 6 B) &
©) 1 D) 0
3X(81)*
afe 9 X3 X(27) 27 8 dl n=?
1 1
(A) 3 B) 5
1
©) 0 D) 5
o<l AT BT 65 UfaeId S9 9@ @ % AT

21 BH T, I AT T 27

(A) 120 B) 160
(C) 140 (D) 180
600 BT 15% + 280 BT 45 % =2
(A) 216 (B) 236
(C) 126 (D) 246
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137.
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Raman reads g of'a book on one day and 5 of

the remainder on another day. If there are 30 pages
unread now., how many pages did the book
contain ?
(A) 200
(C) 80

(B) 240
D) 120

A seller purchased a washing machine for
Rs. 7, 660. After allowing a discount of 12% on its
marked price, he still gains 10% . Find the marked

price of washing machine :
(A) Rs.9575 (B) Rs.9675
(C) Rs. 8246 (D) Rs.9755

A man purchared an article and solditto be B ata
profit of 25% and B sold it to C at a loss of 10%
and C paid Rs. 675 for it. For how much did A

purchase it :
(A) Rs.500 (B) Rs. 550
(C) Rs. 600 (D) Rs. 650

Two trains start from a certain place on two
parallel tracks in the same direction. The speed of
the trains are 45 km/hr and 40 km/hr respectively.
The distance between two trains after 45 minutes
willbe:

(A) 3km 750 m
(C) 2km 750 m

(B) 3km 550 m
(D) 2km550m

1 1
If x —— =3, the value of x’ ——5 is:
X X

B) 36
(D) 40

(A) 30
(C) 34

The area of equilateral triangle is 4+/3 square metre.

Its perimeter is :
(A) 14 metre
(B) 12 metre

(C) 6./3 metre
(D) 12./3 metre
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W1ﬁﬂﬁ§ﬂmﬁﬁmmﬁﬁqzﬁr§
9T ¥R & vedl €, Ife 3@ 30 U &l ual
g1 901 ® dl fdbard d et fbat g o
(A) 200 (B) 240

(C) 80 (D) 120

U faspdl Tp AT AN BT w0 7,660 H
ERIGAT B | 9@ Afhd oI W 12% e <A
B 9 W 10% o9 DAl 2| ol q3T B

sifhd qeu T B
(A) 9575 %0 (B) 9675 %0
(C) 8246 %0 (D) 9755 %0

A JTEHT T I TR PR 25% M TR B Bl
99 a1 &, B, C ®I 10% &1 TR 99 <aT &, C
BT 30D oTU 675 ®UAT AT Usdl & | O 9

b A fooas & @rar or?
(A) 500 %0 (B) 550 %70
(C) 600 %0 (D) 650 30

Sl ¢ FEMAR g R U 8 e H b €
g & Fe T UR™ xRl 21 ¢ B IR 45
fpe /gier g 40 fbet /€T sHer 2 | T 45
frfe & 918 < e A e 8
Brfi?

(A) 3 B+ 750 7Y (B) 3 AT 550 M

(C) 2fF I 7501 (D) 2 T+l 550 #

afe x-L =3, g ar, x3—L3 B A
X X

(A) 30 B) 36

(C) 34 (D) 40

A S @1 8% 43 TR 8, Al

sHHT aRA &

(A) 14 HIcx

(B) 12 HIcX

(C) 6./3 Hiex

(D) 12,3 X
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142.

143.

144.

145.

146.

147.

148.

149.

150.
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The unit digit in the product
(284x618x 717 x 563) ?

(A) 2 ®) 3

©) 4 D) 5

What is the unit dight of (7°-3%) x 51 ?
(A) 0 B) 4
©) o D) 7

What is the unit digit of (2157) 74?
(A) 3 ®) 6
©) 7 D) 9

If (64)°-(36)> = 10 X x, then x = ?
(A) 140 (B) 240
(C) 360 (D) 280

If the product 4864 X 9 x 2 is divisible by 12, the
value of x is:
(A) 2
©) 5

B) 1
(D) 6

If x and y are odd numbers, then which of the

following is even?
A) x+y+1 B) xy+1
(©) xy+2 D) xy

The largest 5-digit number exactly divisible by 91
is:

(A) 99981
(C) 99918

(B) 99999
(D) 99971

What least number must be subtracted from
13602, so that the remainder is divisible by 877

(A) 29 (B) 31
(C) 30 (D) 37
A+6+8+ ... +20%) =12
(A) 1536 (B) 1540
(C) 1150 (D) 1140

How many natural numbers are there between 17
and 100 which are exactly divisible by 6 ?

B) 13

(D) 15

(A) 12
(C) 14
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141.

142.

143.

144.

145.

146.

147.

148.

149.

150.

(284 x 618 x 717 x 563) @ T[UHA BT Shly
3F T
(A) 2
©) 4

B) 3
D) 5

(75-3%) x 5! BT FPHTS 3B R BIIT?
(A4) 0 B) 4
©) 6 D) 7

(2157) 75 BT SHIS 3k AT BIIT?
(A) 3 B) 6
©) 7 D) 9

afe (64)-(362=10X x, & @I, x="2
(A) 140 (B) 240
(C) 360 (D) 280

Ife 4864 X 9 x 2 BT oG 129 fafora &,
Tl x &1 A9 &
(A) 2
©) 5

®) 1
D) 6

afe x qen y faww Ay g, a1 fefaRad #
P TH 87
(A) x+y+l
(C) xy+2

B) xy+1
D) xy

Ure ST B I gl HAT S dI 91 | Yuid:
fafora &
(A) 99981
(C) 99918

(B) 99999
(D) 99971

13602 % ¥ 98 WA BIEI T DIH—AT gerll
S 6 Awte 87 & Yofa: fawifora &1 S

(A) 29 (B) 31
(C) 30 (D) 37
+6+8+ ... +20%) =2
(A) 1536 (B) 1540
(C) 1150 (D) 1140

17 TAT 100 & d19 el (el U AT & SIl
f 6 & goia: frfora & ?

(A) 12 B) 13

© 14 D) 15
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PART-IV

(B) PHEIRY
(D) &=

(B) dgwy
D) f&T

<z (161 9 165) : =faRad @@ IR @l

I IS (RIT) s BT R PifTe |

(B) &fe®
(D) 3fer

(B) SIeH
(D) et

(B) ot
(D) aIs

(B) arfere
(D) Fagd®

(B) P
(D) 3D

R (166 ¥ 169) : 91 § 9 TR IR HT IIA

(A) SO FEl & sfed 9= 8 134T

HINDI

151. B< I WU ¥ b UbR & B &7 139. aar

(A) =T ®) & (A) AT

(C) =R (D) ©: (C) Tgwy
152, o BvC BT SO T AR g v g |00 NE

2? (A) aghfe

(A) BTET (B) e (C) 3T

(C) ¥RaT (D) gusfora
153. BuY fhd UYBR & < &7

P o ®) 161

C) g 36 :

© ) (A) TRIRD
154. Q1T {5 UBR &1 BT 2? (ORININED

(A) ¥ (B) faww

(C) Irgwm D) s ¥ g 7 162.

(A) die

155. f=feRad # 3% T9 B & HI—T SEER © &

27

C T

(C) =g (D) © qsd.i'f
e (156 A 160) : AHRIRIT UR-® oeg & forw

Swe 9 Ry MU Redt § & o w0k

sfew (A) gaci

(C) sfear

156. IS

C) HHIRY

©) (D) dgsilfe ©) o
157. |uURaR

(A) G (B) dgwy |

(©) f&7 (D) dgsiifg BT
158. Ja—fed 166.

) f&7 (B) agey

©) €= (D) HHIRY

(B) |dg g3 3R 98 3 1|
(C) ga fR—ofR foraar 2|
(D) ST g% &, I© A al |
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167.

168.

169.

(A) g8 ST & MY, N T AT <7 |

(B) M TEU &=AT WRg b, 319 I8 A
£ g e 2 |

(C) fasra &1 91l & ®BIRA Fel MY |

(D) JIARFHT Ig B UM qb T IR &

(A) SE®! a1 RreRat 7 <1 fd 98 5=
o 7 o |

(B) =51 arTl ¥ fAe a1fey oV AgaagR
DI et et |

(C) P T8} ST fob et a1 BRI |

(D) ST ¥ 9gaR Bl W9 &1 ¢ |

(A) faem | 9ehx DIg o9 7 2|

(B) 2 # faer sl &1 wrfay o <& ?
Rifp RGN S U & el o |

(C) < &7 AR b g=al & UfT 31U &aER
B I3 = |

(D) IfE FHeAdT ATEd & Al URSH BT
TSI

e (170 | 175) : T QU 0 U¥® U H P

170.

171.

1550

BY ¥ & IR FRIfad arcad T g € | 8
fadmen g |

ATfe®

(A) g forar

(B) <@l | 1

(C) T& A e grem
(D) ST 39 ld &I a1 &

$UT

(A) g H FergHfa

(B) T fdd &1 A=mIal

(C) TN ¥ ASg

(D) & & oy BIS B HRAT

172.

173.

174.

175.

ADId

(A) &l &1 & A H TH

(B) gfad &1 o= ¥ fRafdame
©) RFH R gH

(D) STHATATT BT 7 BT

fRuer

(A) 59 B @ a9 7 &

(B) S f&=i @1 gaar 7 &

(C) RNradT &1 uer 71 &

(D) RraeT f=ft a1 &1 B 7 &

3G
(A) ST YesT g 7 &
(B) ST UeT 9 AT &

(C) RTapT UgHT 7 &
(D) S ygr—forar = &

NES|

(A) ST BPRIR X & Bl MY

(B) 59 BfRIR &1 81T # IR 9T Y
(C) ST EPRIR 3@ &

(D) ST ERIR 3 Ugds YA # foram Sy

fader (176 9 180) : - H© AdIIAAr <1 78 ¢ |

176.

177.

178.

TS Al H S SUYH W= ge AT B,

IaP Rad W= & fow =ge SR
PR ar 8 el

(A) W@ (B) el

(C) qem D) Ix

WA B TR oo, g, JfeR el

(A) YR (B) U4

©) = (D)

................... B 3 BT BT Bl BT ol AT ©
(A) saU= (B)w

(C) a1 (D) it
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179. 973 &7 S
(A) faerg

(ORI

180. e H oo

(A) TSI
(C) ST

e (181 9§ 185) : =feIRad Ud® wed # feu
M g & AR I BT 99 IAqD A

fou v eeai & 9 wIfvTw:
181. gfRaer

(A) IR (B) T

(C) graTaRor (D) 3NTERIT
182. BIE

(A) favmT B) =T

(C) #AdT (D) g
183. =afife

(NRIERER (B) ofeud

(C) P (D) FXId
184. =g

(A) & (B) drsT

©) ax< D) g9
185. uR¥a

A) gy (B) IR\ T

(C) fame (D) |Ed™™

e (186 & 190) : fA=feIRad Ux® uea # fau
Y 9 H UYad A & GHR BT a9 D

Jr R v famedt | 9 Fifve:
186. I®

(A) < Afr (B) o

(C) gfg |y (D) srTfe Al
1550

187.

188.

189.

190.

e (191 ¥ 195) : f=feRaT u® U § &1 ¢

UfFaal & = & IR qwifad = feu v g |

191.

192.

193.

194.

FSH

A) foat |t (B) Iur afy
(C) <o | (D) I/ me Al
DRI

(A) wR |y (B) &S Al
(©) fowsd | (D) 37H & 9Ig &
CRIE R

(A) T[T Wy (B) < wfw
(C) = | (D) JoT |l
AR

(A) <rd afy (B) &S A
(C) T Af (D) et wfy

QUG AR & AH BT FIT DI

ART 9 3 PHT PR I |
(A) 3rsrT (B) #frefreRor I
(C) STEiaR g9 (D) BReiy

BHADH—hADh I AN ATGHAT AR |
IE WY IRg 7R, a1 1Y dR19 | |

(A) FeriieTa (B) faera
(C) DeaaTH (D) foamfr &R

W Ha—aTeT & ET-ANR T8 |
ST o9 &7 S W W sRI-gfy B | |
(C) xHYm™ (D) fSer ot

gl gH e g9 Il |

ST SRT—8RT 17 AT | |

(A) Nerd (B) AP
(C) oD (D) HaREE
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195.

196.

yATfoare. IUARAETE BT ORI 4 & |
(A) IAfIATT I

(B) TTa<

(C) T=_geR ararudl

(D) A=A ua

IR Wral o G gl fha 7 ?
(A) (B) <\
(C) RE (D) 9R®

197. 39 & foaq i 8 87

(A) @I
(C) df=

(B) @R
D) &

198. dgrss <9 o AT ST 872

INEERSS) (B) %R 34
(C) BB ™ (D) 9R 39

199. ®fd 9Bl gead: 6 4 & Bfd 272

(A) FHOT
(€) HTR

(B) wfaa
(D) 4R

200. 5 BT AIUAH Scoid Hal (Herdl 27

(A) FTIg
(C) ATdg

(B) Sufvg
(D) Tqd<

sk ok sfe sk sk sk sk sk sk s sk sk sk sk sk sk s sk sk sk sk sk s s sk sk sk sk sk sk s sk sk sk sk sk sk s sk sk sk sk sk sl sk sk sk sk sk sk sk sk sk sk sk sk sk sk sk sk sk sk s sk sk sk sk sk sk s sk sk sk sk sk sk sk skeosk skok sk

1550

U

Latest Sarkari Jobs, Govt Exam Results, m
Vacancies and updates on one click

SET-B



PART-IV
ENGLISH

Direction (151-155) : In the following questions, choose

160.

Insolent

151.

152.

153.

154.

155.

the word from four alternatives which is most nearly
opposite in meaning to the given word :

Spiritual

(A) Disrespectful

(C) depreciating

(B) Insoluble
(D) thesole of'ashoe

Direction (161-165) : In the following questions, out of

(A) Earthly
(C) Material

(B) Superior
(D) Disccord

Harmony

(A) Agreement (B) Melody
(C) Confusion (D) Discord
Compulsion

(A) Constraint (B) Choice

(C) Freedom

(D) Spontaneity

Waste

(A) Gain (B) Profit

(C) Nourish (D) Loss
Successor

(A) Follower (B) Prodecessor
(C) Guide (D) Professor

161.

162.

the four alternatives, choose the one which can be
substituted for the given words/sentence

A person who readily believes others :
(A) Credible (B) Credulous
(C) Sensitive (D) Sensible

The political leader has an evil reputation. He is not
trusted :
(A) isnotorious (B) ismalicious

(C) ismagnanimous (D) isdubious

Direction (156-160) : In the following questions. Out of

156.

157.

158.

159.

1550

four alternatives, choose the one which best
expresses the meaning of the given word as your
answer:

163. A person who helps even a stranger in difficulty :
(A) Samaritan (B) Altruist
(C) Philanthropist (D) Beneficiary

164. The production of raw silk :
(A) Sericulture (B) Seroculture
(C) Sariculture (D) Syrumculture

165. The conference takes place once in three years?
(A) Tetraenning (B) Triennial
(C) Treennial (D) Thriennial

Honest

(A) Authentic (B) Upright
(C) Direct (D) Actual
Vocation

(A) Examination (B) Seminar
(C) Occupation (D) Holiday
Ingenuous

(A) Innocent (B) Artful
(C) Cunning (D) Clever
Innocuous

(A) Careless (B) Harmless

(C) Insufficient

Latest Sarkari Jobs, Govt Exam Results,

(D) Irresponssible

Direction (166-170) : In the following questions, groups

166.

167.

Vacancies and updates on one click

of four words are given. In each group one word is
correctly spelt. Find the correctly spelt word :

(A) Variety
(C) Gaitey

(B) Anxdety
(D) Sodety

(A) Coersion
(C) Negociation

(B) Precision
(D) Explation

SET-B
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168.

169.

170.

(A) Harrassment  (B) Commitment

(C) Breevement (D) Temparament

(A) Inefable (B) Inaecesible

(C) Infallible (D) Invinsieble
(A) Expact (B) Impact
(C) Exite (D) Imped

Direction (171-175) : In each of the questions, arrange

171.

172.

173.

174.

1550

the jumbled letter or phrases to make a meaningful
sentence :

P. eachyear
Q. twoto five adults

R. getgold

S. onanaverage

(A) PSQR (B) PRSQ
(C) SRQP (D) RSQP

can be dangerous

P

Q. theindiscriminate

R.  without medical supervision
S

and critical use of any drug

PQRS (B) PRQS
(C) QSRP (D) SPQR
P.  destroyed careers
Q. many
R. hasresulted in
S. drugaddiction
(A) PQSR (B) PRQS
(C) SRQP (D) SPQR
P.  bymaking swallowing difficutt
Q. asore throat
R. dailylife
S. interferes with
(A) QSRP (B) QPRS
(C) PRQS (D) PQRS

Latest Sarkari Jobs, Govt Exam Results,

175.

P. America’s

Q. in1961

R. warlaunched

S. first manned aircrafts

(A) PRQS (B) PQSR
(C) QSRP (D) PSRQ

Direction (176-180) : In the following questions, a

176.

177.

178.

179.

180.

sentence/ part of sentence is printed underlined.
Below four alternatives are given to the underlined
part of the sentence as (A), (B) and (C) which may
improve the sentence. Choose the correct
alternative. In case no improvement is needed, your
answer is (D):

The student’s interest was raised by an article he
hadread :

(A) quickened
(C) increased

(B) multiplied
(D) noimprovement

This telephone number is not existing:

(A) hasnotexisted (B) hasnotbeen existing
(C) doesnotexist (D) noimprovement
The businessman is respectively connected :
(A) respectfully
(C) receptively

(B) respectably
(D) noimprovement

I'met him in the way :
(A) onthe way (B) atthe way

(C) duringtheway (D) noimprovement

The boy said that he has read the book :
(A) he hasalready read

(B) hehadread

(C) he has finished to read

(D) noimprovement

Direction (181-185) : Read the passage carefully and

Vacancies and updates on one click

choose the best answer to each question out of the
four alternatives :

Passage
The advent of electric power was, in a way,

comparable to the successful development and
SET-B
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181.

182.

183.

184.

1550

application of nuclear power in 20th century. In
fact, the historical roots of electricity extend far back
into antiquity. Many men had a hand both in acquring
basic knowledge about the invisible form of power
and in developing the ways adopted for practical
purpose. One of the vital keys that helped to
unlock the doors leading to the production of
electricity was the discovery, in 1831, of the
principle of electromagnetic induction. This
discovery was made simultaneously by michael
faraday in England and Joshef Henry in the United
States. From it came the generator, sometimes also
called dynamo but several decades of development
had to follow before the first practical dynamos or
generator came into existance in early 1870 :

According to the author :

(A) Michael Faraday and Joseph Henry
revolutionized electricity in the USA

(B) Nuclear power and electricity were
discovered in the 20th centery

(C) The discovery of the principle of

electromagnetic induction was not an

important discovery

D)

The advent of electric power is equivalent to
the application of nuclear power in 20th

century

Michael Faraday and Josheph Henry discovered :
(A) theapplication of nuclear power

(B) the genertor

(C) thedynamo

(D) the principle of electromagnetic induction

Another word for ‘advent’is .................. :
(B) arrival
(D) constitution

(A) discovery
(C) nvention

The generator was also known as the ........... :

(B) dynamo
(D) conductor

(A) inductor
(C) inventor

Latest Sarkari Jobs, Govt Exam Results,
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185.

Give a synonym for “antiquity’”.
(A) Ancient (B) Antipathy
(C) Modem (D) Uniqueness

Direction (186-190) : In the following passage some of

186.

187.

188.

189.

190.

the words have been left out. After reading
carefully fill in the blanks with the help of given
alternatives :

Passage
‘CRY-child reliefand you’ 196 an organization that
197 started by seven such 198 and it has been
working 199 1979 to change the lives of 200
children all over India.

(A) was (B) is

(C) are (D) being

(A) has (B) being

(C) was (D) been

(A) friends (B) men

(C) people (D) individuals
(A) since (B) during
(C) for (D) untill

(A) underprivileged
(C) hopeless

(B) privileged
(D) denuded

Direction (191-195 ) : Fill in the blanks with the

191.

appropriate word, choosing it from options given :

[ found it difficult to cope ............. mathematics at
the advanced level :

(A) with (B) of

(C) for (D) up

SET-B
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192.

193.

194.

195.

He was congratulated ..................... receiving his
degree :

(A) on (B) for

(C) by (D) of

Some people quarrel............. very trivial matters :
(A) over (B) n

(C) for (D) by

“May I know to ...... Iam speaking.”

(A) whom (B) who

(C) how (D) where

Bear............... me as [ explain the matter more fully:
(A) in (B) of

(C) with (D) for

Direction (196 -200) : In each sentence below

196.

four words have been printed in separate parts
which are lettered (A), (B), (C) and (D). One of
these parts may be mis spelt or an error in the
context of the sentence the letter of that part is your
answer. If there is no error, your answer is (D). i.e.
No error.

(A) Collect newspaper and magazine having
articles on oil

(B) pullutionand

(C) discuss them.

(D) No error

197.

198.

199.

200.

(A) We can demonstrate the

(B) phenomenon of evaporation and
(C) condensation

(D) No error

(A) People dewlling in remote areas
(B) sufferalotbecause of

(C) inaccessibility to hospitals

(D) No error

(A) Itisinteresting that

(B) floating docks and even

(C) ships can be made of concreat
(D) No error

(A) Make a list of foods that contain
(B) harmful

(C) chemicals

(D) No error
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PART-I
GENERAL INTELLIGENCE AND REASONING

1.  Inaclass Sohan’s rank is 17th from the top and
28th from the bottom. How many students are there

in the class ?
(A) 45 (B) 40
(C) 44 (D) 41

2. Varun said, “That boy is the grandson of my
Mother’s husband. I have no brother and sister,”
How is the boy related with Varun?
(A) Uncle (B) Son
(C) Nephew (D) Cousin

3. Which of the following can not be formed by word

MERCHANDISE :
(A) MECH (B) DICE
(C) CHARM (D) CHANGE

4. Outof 1865 people, 660 can speak English and
1305 can speak Marathi. But 120 person cannot
speak either language. Then how many can speak

both languages :
(A) 220 (B) 120
(C) 1085 (D) 440

5. From the given alternative select the word which
can be formed using the letters given in the word.

ABOMINABLE :
(A) BOWEL (B) METAL
(C) BLAND (D) BANAL

Directions (6-7) : In the following questions some
equation are solved on the basis of a certain
system. Find the correct answer for the unsolved
equation on that basis :

6. If228=12and 337 = 16, then 569 = ?
(A) 39 (B) 20
() 29 D) 36

7. If3X7X8=837
2X4X5=524,thend X3X7="2
(A) 743 (B) 734
(C) 84 (D) 214
1550
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1. U® BT H QI BT HH SHUR | 17 df 91 A
H 20 @ T | AT HelT H o b B &7
(A) 45 (B) 40
(C) 44 (D) 41

2. IHI A el fb 98 TSHT W AT b U B
oI ¥ AR B AIS AT 98 & & 9 I”

TSHT THU A A dHfd 87
(A) e (B) 9er
(C) ¥eireT (D) TR 4TS

3. fa=faRad § d9—a1 MERCHANDISE &g &5
&l IFRIT ST AohdT § 7
(A) MECH (B) DICE
(C) CHARM (D) CHANGE

4. 1865 ANl ¥ ¥, 660 USH I ABT T, 1305
RIS a9t Ahd 8, 120 AT PIs 98T el §icd
Jhd 7, A fhd= AR S 9IST 9] b 27
(A) 220 B) 120
(C) 1085 (D) 440

5. frfaRed fad gy fAeey 4 4 9 wes &
9T ST ABOMINABLE @& 3i&Ri | g7 ST

JHdT 87
(A) BOWEL (B) METAL
(C) BLAND (D) BANAL

e (6 9 7) : F=foRad ueAl # g8 AR &
T §B G Ugd A far 3 7 S usfa |
gl T8l B TT FHIHIUT B IR < |

6. Tfe 228 =12 337 =16, d 569 =2
(A) 39 (B) 20
(C) 29 D) 36

7. IJfT3X7X8=837
2X4X5=524,d9 4X3X7=2
(A) 743 (B) 734
(C) 84 (D) 214
SET-C



Directions (8-10) : In the following questions, selectthe 1231 (8 & 10) : =faRaa weAl # fw 71U faweni

missing number from given response :

8. 12 6 8 8
4 4 9
3 7 4
51 31 2
A) 21 (B) 42
(C) 76 (D) 86
9. 3 18 6 9.
5 ? 4
8 40 5
(A) 40 B) 22
(C) 24 (D) 20
10. 8 2 6 10.
2 4 ?
5 6 8
80 48 240
A) 4 B) 10
©) 5 D) 20

11. Indicate which figure will best represent the  11.
relationship among Birds, Crows, Eagles :

O O
(A) B) o)
ol &| o

12. Neela is now three times as old as her daughter ~ 12.
Leela. Ten years back, Neela was five times as old

as Leela. The age of Leela is :
(A) 15 B) 25
(©) 30 (D) 20

1550

H X AT I BN |

12 6 8

4 4 9

3 7 4

51 31 2
A) 21 (B) 42
(C) 76 (D) 86
3 18 6

5 ? 4

8 40 5

(A) 40 B) 22
(C) 24 (D) 20
8 2 6

2 4 ?

5 6 8

80 48 240
A) 4 B) 10
©) 5 D) 20

f=ifed o & dr=—ar fafsar, wlem den
A b 99 A Bl YSRid Hear

O O
(A) B o
o| & | 0@

et s 91 ofter | A o gl €, 10 a9
Ugel IIelT, Siell 9§ ure AT 991 o | AT ofiar ot

I =
(A) 15 B) 25
(©) 30 (D) 20
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Direction (13-17): P,Q, R, S, T, U, V and W sitting

13.

14.

15.

16.

17.

18.

19.

20.

1550

round the circle and are facing the centre

(1) P is second to the right of T who is the
neighbour of R and V

(i) Sisnottheneighbour of P

(i) Vistheneighbour of U

(iv) Qisnotbetween S and W. W is not between
QandS

Which two of the following are not neighbours :
(A) UV (B) TR
(©) PW (D) SW

Who is the neighbour of W ?
A) U ®B) Vv
© R D) S

Who is the second right of R?
A Q B W
© S D) v

Who is in the middle of Sand V ?
A U B) R
(O D) Q

Who is second to the left of U ?
A W B) Q
()N D) R

In half hour, the minute hand of clock will rotate

through the angle of :
(A) 75° (B) 60°
(C) 120° (D) 180°

Meera was born on 22nd March 1982. On what
day of the week was she 14 years 7 months and 8
days of age?

(A) Tuesday
(C) Monday

(B) Sunday
(D) Saturday

If st October falls on Sunday. What day of the
week will fall on 1st November ?

(B) Wednesday

(D) Monday

(A) Tuesday
(C) Sunday

Latest Sarkari Jobs, Govt Exam Results,
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e (139 17) : P,Q,R, S, T,U,V IR W &

13.

14.

15.

16.

17.

18.

19.

20.

IJd B AR AR D% B AR & BB IS B |

() P,TIR A &I 8 Sl fb RaAR V&I
TSR B |

(i) S,P Sl &l © |

(i) V, U &7 TSR B |

(v) Q, ST WS &g § &1 8 W, QI S
% 9 H T8l T

frferRed @ & &9 A1 I T TR & gl
&l 87

(A) uv (B) TR
(C) PW (D) SW
W & U8l &I 7 ?

A) U B) V

© R D) S

R SR GERT B 87

A) Q B) W
© S D) Vv

STAT VS §a § o9 8 ?
(A) U (B) R
C) P D) Q

Ud 9 SR & & 2
A) W B) Q
© P (D) R

M B H fiFe @1 g3 fhaw &t 9 A
ST
(A) 75°
(C) 120°

(B) 60°
(D) 180°

ART T ST 22 ATE 1982 HI AT oI | T IaTd
5 AwTE & B9 A1 37 98 14 99 7 7T 3IR
8 fas1 @1 o1?

(A) HTAIR (B) IR
(C) AR (D) IR
AfE 1 J7acaR BT IAIIR BT &, AT 1 FTER Bl
g BT b9 a1 faT gm?
(A) HTTIR (B) g9ar
(C) fdar (D) GHaR
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Direction (21-27) : In each of the following questions,
select the related letter/word/number from the given
alternatives :

21. DEVIL:ABSFI:: OTHER:?
(A) MRFCP (B) RWKHV
(C) LQEBO (D) LRECO

22. Manipuri : Manipur : : Kathakali : ?
(A) Karnataka (B) Tamilnadu
(C) Kerala (D) Andhra Pradesh

23. 24:60::210:7?
(A) 425
(C) 525

(B) 420
(D) 505

24. Teacher : Student : : Pontiff: ?
(A) Disciple (B) Follower
(C) Priest (D) Deity

25. Book:Read:: Picture:?

(A) Library (B) Buy
(C) See (D) Listen

26. ETHNICITY : YTIC INHTE : : HOPEFUL :?
(A) FULEPOH  (B) HOPELUF
(C) LUFHOPE (D) LUFEPOH

27. Swimming: River: : Hiking: ?
(A) Mountain (B) Road
(C) Pond (D) Sea

Direction (28-35) : In each of the following question,
find the odd word/letters/number pair from the

given alternatives :
28.
(A) 1000 (B) 625
(C) 64 (D) 512
29.
(A) 10 (B) 24
(C) 64 (D) 120
1550
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e (21 9 27) : F=faRaa e wed # v Ty
fopcal & O IHERd MR /I /F=AT I

Y |

21. DEVIL:ABSFI:: OTHER:?

(A) MRFCP (B) RWKHV

(C) LQEBO (D) LRECO
22, HOMYRY : AR : : BAhell : ?

(A) Bied (B) qffierTg

(C) B (D) 3T UaeT
23. 24:60::210:7

(A) 425 (B) 420

(C) 525 (D) 505

24, 1 - BT fI9g : ?

A) R (B) srardr
(C) oI (D) S
25. fpdE g : o : ?
(A) JEIPTrT (B) @RI
(C) <@ (D) g
26. ETHNICITY : YTICINHTE : : HOPEFUL:?
(A) FULEPOH  (B) HOPELUF
(C) LUFHOPE (D) LUFEPOH

27. OARAT: ALY TQIS P
(A) udd (B) ds®H
(QESISIE (D) g«

facer (28 & 35) : f=faRad el # Ry v
el & 9 v\ W=/ R/ E=1
gy |

28.
(A) 1000 (B) 625
(C) 64 (D) 512
29.
(A) 10 (B) 24
(C) 64 (D) 120
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30.

31.

32.

33.

34.

35.

Directions (36-37) : Arrange the following words

36.

37.

(A) CP
(©) DQ

(A) Publisher
(C) Novelist

(A) WTQN
(C) MIDA

(A) King:Queen

(A) Radish
(C) Potato

(A) 124 - 164
(C) 212 -252

(B) FR
(D) BO

(B) Author
(D) Poet

(B) NKHE
(D) KHEB

(B) Prince : Princess
(C) Witch: Vampire (D) Hero : Heroine

(B) Carrot
(D) Beetroot

B) 14 - 54

(D) 256 - 286

according to the English dictionary :

1. Voyage

3. Vocation
(A) 2,4,3,1
©) 2,3,4,1

1. Beet
3. Being
(A) 4,2,1,3
©) 1,2,3,4

2. Voice

4. Volume
B) 3,2,4,1
D) 3,4,2,1

2. Beer
4. Been
B) 4,2,3,1
(D) 4,3,2,1

30.

31.

32.

33.

34.

35.

(A) CP
(©) DQ

(A) UBTIH

(C) STATHIR

(A) WTQN
(C) MIDA

(A) XTSI @ T
(C) SIF : fuema

(A) Hell
(C) 3y

(A) 124 - 164
(C) 212 -252

(B) FR
(D) BO

(B) og®H
(D) ®fd

(B) NKHE
(D) KHEB

(B) RISTHAR : RISTHAN

(D) 3¥f=ar : 3=

(B) TR
(D) JPR

B) 14 - 54
(D) 256 - 286

frder (36 @ 37) : F=faRad wesl @1 siUSh

36.

37.

SEDHIY B AR FAd

1. Voyage 2. Voice

3. Vocation 4. Volume
(A) 2,4,3,1 B) 3,2,4,1
©) 2,3,4,1 D) 3,4,2,1
‘1. Beet 2. Beer

3. Being 4. Been
(A) 4,2,1,3 B) 4,2,3,1
©) 1,2,3,4 D) 4,3,2,1

Directions (38-45) : In the following questions a series

38.

1550

is given with one item missing choose the correct
alternative from the given ones that will complete
the series :

FLA, GMB, HNC, IOD, _?
(B) NSD
(D) TOE

(A) OTK
(C) JPE

Latest Sarkari Jobs, Govt Exam Results,
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fder (38 ¥ 45) : f=feiRaa ueAl 4 argma faam
T B, R T ue g« 8 | g e fwedt §
A 98 Wl f[dbed gAY S 3HH Bl GRT PN |

38. FLA, GMB, HNC,IOD, ?
(A) OTK (B) NSD
(C) JPE (D) TOE
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39.

40.

41.

42.

43.

44,

45.

46.

47.

48.

49.

50.
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135, 226,353, _? ,739

(A) 722 (B) 522
(C) 622 (D) 632
4,7,13,22, ? ,49

(A) 34 (B) 45

©) 52 (D) 64
ACE, BDF, CEG, _? .

(A) DEF (B) DFH
(C) DEH (D) DFE
7,12, 22, 2 ,82,162

(A) 42 B) 32

©) 52 (D) 62
2,3,5,9,17, 7 .

(A) 33 (B) 34

©) 27 (D) 30
CAE, HFJ, MKO, RPT, ? .

(A) WUY (B) VTY
(C) vVuz (D) wuz
12,26,54, ? .

(A) 223 (B) 110
(C) 220 (D) 108
IfA=1,BAD=7,then HAT =?
(A) 8 (B) 10
©) 29 (D) 19
IfB=4,D=8and C =6, then DOG ="?
(A) 46 (B) 52

(©) 56 (D) 60
IfD=2and F=3,then BAG="?
(A) 10 (B) 20
© 5 D) 6

IfFAITH is coded as 82731, HABIT is coded as
12573 and HEALTH is coded as 192431, how

can BELIEF be coded as ?
(A) 594598 (B) 594789
(C) 594978 (D) 594798

If NATIONAL can be written as LNAANTOI,
how can DOMESTIC be written?

(A) CDIOMTES (B) CDIOTMSE

(C) CTSIMODE (D) CSITEMOD
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39.

40.

41.

42.

43.

44,

45.

46.

47.

48.

49.

50.

135, 226,353, _? ,739

(A) 722 (B) 522
(C) 622 (D) 632
4,7,13,22, 2 .49

(A) 34 (B) 45

(C) 52 (D) 64

ACE, BDF, CEG, _? .

(A) DEF (B) DFH

(C) DEH (D) DFE

7,12, 22, 2 ,82.162

(A) 42 (B) 32

(C) 52 (D) 62
2,3,5,9,17, 2 .

(A) 33 (B) 34

(C) 27 (D) 30

CAE, HFJ, MKO, RPT, ? .

(A) WUY (B) VTY

(C) VUZ (D) WUZ
12,26,54, 2 .

(A) 223 (B) 110

(C) 220 (D) 108

gfe A=1,BAD =78l al HAT=?
(A) 8 (B) 10

(C) 29 (D) 19

e B=4,D=8 T C=6, & d DOG =?
(A) 46 (B) 52

(C) 56 (D) 60

gfe D=2 F=3, 8 d BAG=?
(A) 10 (B) 20

©) 5 D) 6

el @« H§ FAITH &1 82731, HABIT &I
12573 921 HEALTH &1 forar Sig 4, 192431
BI I FHc AT H BELIEF &7 &7 fofkar S
(A) 594598 (B) 594789
(C) 594978 (D) 594798

afg fedl @ ¥ 7 NATIONAL &1
LNAANTOI foar Sig @ S @ w7 o
DOMESTIC &1 &1 ferar Sirgar?

(A) CDIOMTES (B) CDIOTMSE

(C) CTSIMODE (D) CSITEMOD
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51.

52.

53.

54.

55.

56.
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PART-II

GENERAL AWARENESS & PROFESSIONAL KNOWLEDGE

Coral reefs in India can be found in 51.
(A) the coast of Orissa

(B) Waltair

(C) Rameshwaram

(D) Trivandrum

Film and TV Institute of India is located at
(A) Pune (Maharashtra)

(B) Rajkot (Gujarat)

(C) Pimpri (Maharashtra)

(D) Perambur (Tamilnadu)

52.

Gravity setting chambers are used in industriesto ~ 53.

remove
(A) SO,
(B) NO,
(C) Suspended particulate matter

(D) CO,

What is scoring pattern prescribed in ARCF for  54.
trained soldier firing with INSAS Rifle?

(A) Marksman-74,1%Class-60 & Std Shot-46

(B) Marksman-86,1*Class-72 & Std Shot-58.

(C) Marksman-98,1%Class-79 & Std Shot-65.

(D) Marksman-106,1%Class-87 & Std Shot-73.

How manytotal firing practs (including day & night) 55.
are there in ARCF for trained soldier firing from
9MM Carbine?
(A) 05

(C) 07

(B) 06
(D) 08

How many types of sights are beingused in X-95  56.
rifle?
A) 4

©) 2

B) 3
D) 5
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Rd ¥ N B gce FEl U o w8 -
(A) Nfem & e

(B) dTeed

(C) IHIERH

(D) faavzH

AR fhed g Seifaoa dvem &g Rerd
g

(A) 9 (AERTSS)

(B) TWPIe (o)

(C) fiw (AERTS)

(D) WRTR (afrerrg)

fradl o @ fag Sl d [EErSs
AR BT SYANT fhar ST € 7

(A) GeHY SIZATFIES

(B) TISCIOM TSI S

(C) feifsa @or wHen #

(D) HTHT STSATFATS S

aiftfe areal § =N shd BRERT @

fav faefiRa efead &, yTarst &1 &9 9T

fafoxor @& 2 ?

(A) ATHTAT-74, B FAN—60 T WISS
3ITc—46

(B) ATHGHT—86, B FoG—72 T WISS
3Tc—58

(C) ATGTHT—98, B FoITd—79 AT LIS
ITc—65

(D) ATAHT—106,F%C TFITH—87 TAT CUSS
IMc—73

Tffe ) § ¢ Aok B fov 9 W
PR § fd (A-feq fremax) sl
ifdcw wff ™ 2 -

(A) 05 (B) 06

(C) 07 (D) 08

X-95 WEHha ¥ fha UPR P AscH T
@ Wl 872
A) 4
€) 2

B) 3
D) 5
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57.

58.

59.

60.

61.

62.

63.

64.

65.
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After how many paces hand will come down in
the Salute of Left or Right?

(A) 4 (B) 6
© 5 D) 7

What is the life of peak cap for SOs?
(A) 02 years (B) 2.5 years
(C) 03 years (D) 3.5 years

When is Kit classification carried out?
(A) Atthetime of pension

(B) Atthetime of tfr

(C) Lossofanyitem

(D) None ofthem

For Dog Squad, how many weeks of trg are there
for Dog and its handler

(A) 24 B) 36

(C) 40 (D) 46

What is the area of jurisdiction of RAF unit?
(A) 250 Km (B) 350 Km
(C) 300 Km (D) 325Km

CRPF sponsored two players of J&K got
opportunity to play which game at the International
level

(A) Badminton (B) Football
(C) Ciricket (D) Boxing
Shuttle run test measures —

(A) Explosive strength
(B) Speed endurance
(C) Agility
(D) Speed

Fatigue comes during training due to —
(A) Lacticacid (B) Adrenal
(C) CO, (D) PH factor.

How many Numbers of Trained solder Table Cord
are there-
(A) 9
©) 7

(B) 8
(D) 6
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57.

58.

59.

60.

61.

62.

63.

64.

65.

q¢ AT e & Hege d foa oA @ 98
T A Sy ?
(A) 4
©) 5

®) 6
D) 7

Iftmrer o @ fov fi—dv &1 A% fhamn
27

A) 02 q9
C) 03 g9

fﬁﬁamﬁrﬁﬁr}wmﬁsmwé?

(B) 2.5 T8
(D) 3.5 a9

S WS & oIy ST Ug Feek @1 WIRmEwr
foa waE T 7|
(A) 24
(C) 40

(B) 36
(D) 46

3ROVOTH §i0 &1 brd &5 fobam 872

) 250 f& @t (B) 350 fo
(C) 300 f& &1 (D)325 f& 4
BRYTd 7 TH-—HWR B 02 Rganfeal &t
FTWEY WR R 59 W § der v yriford
foar mar ?
(A) dsfieq (B) Heard
() fpae (D) DTSN

CA X TG BT AUGTS B
(A) frwpies wog

B) Tfa FE=efear

(C) wf

D) T

TRIET & RN YBM & BRU g
(A) dfed e B) T e
(C) Be9 SRRIfNES (D) UIL.Ud. ©Tad

¢Fie WiooR C¥al Bl fhd JOR & 88—
A 9 B) 8
<© 7 D) 6
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66.

67.

68.

69.

70.

71.

72.

73.
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MR claim can be preferred in how many days from
the completion of treatment?

(A) 01 month (B) 03 months

(C) 45 days (D) None ofthe above

As per latest orders the Firefighting practice in duty
Bn be carried out once in?

(A) 07 Days (B) 15 Days

(C) Monthly (D) None the above
Ecology deals with

(A) Birds

(B) Cell formation

(C) Relation between organisms and their
environment

(D) Tissues

The ozone layer restricts

(A) Visiblelight

(B) Infrared radiation

(C) X-rays and gamma rays
(D) Ultraviolet radiation

Filaria is caused by
(A) Bacteria
(C) Protozoa

(B) Virus
(D) Mosquito

Newly raised CRPF Mahila Bn inducted in LWE
Area for Anti Naxal operation.
(A) 88 B) 135
(C) 232 (D) 233

Which CRPF Training Institution awarded with
Home minister Cup for best Training Centre for
recruits.

(A) RTCNeemach (B) RTCRajgir

(C) RTCAmethi (D) CIAT Silchar

How many types of wire obstacle are there?

®B) 3
D) 5

A) 2
© 4
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66.

67.

68.

69.

70.

71.

72.

73.

SUAR &1 wutd ¥ feaq fof #§ fafec
yfogit <mar & e ) S g?

(A) 01 HET (B) 03 &M

(C) 45 feA (D) SRIFT § 4 P &l

TN TaETEl @ IR WRR BIgfeT el
1 e f&gdl gerfo # foaw fofl
g arfee?

(A) o7 f&q B) 15 fa=

() arfu® (D) SR § § g &l
TRRerfos deg & -

(A) ueft

(B) BIR®HT oA
(C) Shal R qraaRyT & 919 ey
(D) SIBI

1S M R | 1 B |
(A) 3% YT

(B) draxaq fafevor

(C) TR 3R T fewon

(D) RIS fafevor

BgRAT e SR g & —
(A) dfFcar (B) 4T3%9
(C) wrersam (D) HTBR

PRYEA § G To0d AW & forg awmeh
SUAIE &F H UH -5 Alecl qelfordd @l Wi
foar 8 9® &-

(A) 88 §eTferdd  (B) 135 S clfeidd

(C) 232 SeIfeldd (D) 233 SeIfaidd

aRysd @ fou gl o+ f99 w@aiaH
TTee URE & oIy T8 WA dU R Ew
foram T 3-

(A) IR 99 (B) IR ISR

(C) IR amdl (D) HFramg. v Ry

IRR JTeChA B o aran?

(A) 2 (B) 3
©) 4 (D) 5
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74.

75.

76.

77.

78.

79.

80.

81.
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In which CRPF Form leave, leave/duty certificate
isissued?

(A) CRP 18
(C) CRP20

(B) CRP 24
(D) CRP 28

How many times GPF subscription can be
increased/decreased in a year.
(A) 173 B) 2/1
(©) 22 (D) 2/4

Which of following terms denotes the “Toughening
of body” as its major objectives-

(A) PT () Diil
(C) WT (D) Play
Sri Guru Gobind Singh was

(A) The 10th Guru of the Sikhs

(B) Founder of Khalsa, the inner council of the
Sikhs in 1699

(C) Author of Dasam Granth

(D) Alltheabove

What does BMI measures —
(A) Flexibility (B) Muscles weight
(C) Body fat (D) Strength

Which Standing order is applicable for Annual
Range classification firing instructions in CRPF?
(A) S O-06/2008

(B) S 0O-09/2011

(C) SO-10/2012

(D) S O-01/201

Mistake occurred because of Trigger operation is
called?

(A) Flinch
(C) Buck

(B) Jerk
(D) Allofthese

Which exercise is beneficial to rectify the mistake
of sight alignment by a firer?

(A) Aimingbox exercise

(B) Aiming corrector exercise

(C) Breathing control exercise

(D) Tindisc exercise
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74.

75.

76.

77.

78.

79.

80.

81.

gedl /ST | oM &y 93 5 3y
BH ¥ (IR far o 27

A) aRY 18 B) BRY 24

(C) aRY 20 (D) DRY 28

wfowg Y @ wfiiw A s § @ oof ¥
foam TR werfl /el o1 Hadr 27

(A) 173 B) 2/1

(C) 22 (D) 2/4

frefafed & 9§ o AIRIRS Aoggll &1 1@
UCH B
(A) d1.%.
() SYL.

T6 Miae g o -

(A) eal & 0d T

(B) 1699 ¥ R @ anaRe URYT Qrem
b IRATIH

(C) T I & wafdar

(D) Sugad |+

B) gId
(D) &I

BMI &I AIYGUE &~
(A) dETATIT (B) rqueft aww
(C) IXIR® g1 (D) AW

PofRogose # aifife dfeAn) affeeor HrRRT
W Wt few-fader o wrg oy § § 7
(A) TIT§ 310 06 /2008
(B) WIS 30 09/2011
(C) WIS M0 10/2012
(D) I 310 01,/2016

foR JTRYE | 89 arel ok FEAN] B 7
A) foe (B) P
(C) 9% (D) Sugerd |

BRR §RT 93¢ TalgaA< @ el &
B B Iy DF A TRREIES Bl N ® ?
(A) TRHT §f TFERETS S

(B) TRHT dRaex TRRARS

©) faféT s vFaRETsS

(D) TH @ TaRATS
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82.

&3.

84.

85.

86.

87.

88.
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Which drill is adopted by CRPF on firing range?
(A) Companydrill (B) AtoGdrill
(C) Disciplinedrill (D) Fire arm safety drill

When to zero the weapon?

(A) When the weapon newly issued

(B) After handing/taking over of weapon on
transfer

(C) After major repair

(D) Allofthese

How many type of grenades are being fired by
UBGL
(A) 2
©) 4

®B) 3
D) 7

Latest CIAT School of CRPF established at which
place.

(A) Latur
(C) Belgam

(B) Chittoor
(D) Bijapur

Which Central Team of CRPF won the Gold medal
in AIPDM-2016 for the first time in the history of
CRPF?

(A) Volleyball
(C) Hockey

(B) Basketball
(D) Rowing

7™ National Conference of Women in Police was
organized the first time in CRPF, the venue was :-
(A) ISA M/Abu

(B) Vigyan Bhawan Delhi

(C) CRPF Dte. General, New Delhi

(D) CRPF Academy Kadarpur

Name of CRPF Commandant who is martyred on
15 Aug’2016 in Srinagar?

(A) Pravin Kumar

(B) Pramod Kumar

(C) Pravesh Chand

(D) Piyush Chand
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82.

83.

&4.

85.

86.

87.

88.

dRYTT g7 BRRT ¥ | 1T @ fga
JUTE S B ?

A) TN fsa B) A9 Gy

(C) I fgd (D) SRR o [Rem fga

I B O Ppe fHar S & 7

(A) O 797 qu9 o far S ?
(B) TRGR | U9 &l o1 § oY & §15
(C) W@ WET @ q18

(D) Suad &+

UBGL & gRT fbad TR & I°€ RN 53
S 87
(A) 2
(C) 4

B) 3
D) 7

oRYFd # TFdMaq 480l W fad
we wnfia fear T 2?

(A) @Y @) foy
(C) s (D) AIATYR

»RYFa & shoe & aRyga & foa o
Y T 7 Ugell IR TAR.AEITH—2016 H
wol yge o 87
(A) aqidierd

(C) BIdl

(B) SRD AT
(D) AT |

7 @ U AR i wRies aRygd |
yoH §R fod wrd w amaforg fear
o7?

(A) TGH. HASS AT

B) fagm waq fooeh

(C) dRYFa AR

(D) BRYTA FBIHT PTRY

HRdve FAlee T 15 T 2016 TR
4 wEig gom @1 W ® |

(A) Y41 HAR

(B) FHIT FAR

(C) ¥a Tg

(D) Uy =g
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89.

90.

91.

92.

93.

94.

95.
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Which of the following activities measures dynamic
strength —

(A) Ropeclimbing

(B) Short distance run

(C) Forwardroll

(D) Vertical jump

Who has been awarded ‘Scroll of Honor’ by
Government of India to promote cashless
transactions?

(A) ManishJadon (B) Khusbu Gupta

(C) SurbhiKapoor (D) Gaurav Goya

What is the sequence of sitting position of Lathi
party while marching from vehicle?

(A) Middle (B) Last

(C) First (D) Anywhere

Revision petition can be made against the
punishment of departmental enquiry within. . .days?
(A) 15 days (B) 30days
(C) 45 days (D) 60 days

An orderly room register is maintained in CRPF in
form No.?

(A) Form No. 08
(C) Form No. 16

(B) Form No. 46
(D) Form No. 15 A

No members of the force will visit married lines
except than those who have been allotted a quarter
without permission of

(A) Subedar Major.

(B) Comdt.

(C) DC(Adm)

(D) SI(Hygeine & Sanitation)

DA is admissible for absence from HQ for not less
than

(A) 10hrs
(C) 9hrs

(B) 8hrs
(D) 6hrs
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89.

90.

91.

92.

93.

94.

95.

Threfier wfte &1 9@ AT g
(A) TEdT "SI
(B) BI<I <

(C) BRE e

(D) @ST HET

DI AT-39 Bl g1 79 P folU WRA
WHR 7 P9 “Tia % AR" ya= foar
g

(A) FHIY §RM (B) GEg W@l

C) g IR (D) MR AT

T ¥ AH avd qHd ol Uil & §od @l

BH Y |
(A) 9= 4 B) e &
(C) Ugad (D) ®EI H

e el fhan At & wme-dm @
R § 3 o 9o © ?

(A) 15 fa=t # B) 30 fa= #

(C) 45 =i # (D) 60 fe&=i ¥

PONOYOTH # fcell Per ufotdr T b uforan
W= ¥ g9 A o 87

(A) ®TH H0-08 (B) WIH WH0—46

(C) BT Ho—18 (D) B4 Wo—15 T

P 99 &1 Wew foarfeq amsq § f= A
o @ orgufd | 9 WX WHaT § ?

(A) Ga_R #oR

(B) HHITST

(C) U HASE (V&)

(D) 38U fgs EERNHE s afcT)

I e @ foy oA ov fmfoRed w9
o fou qEe ¥ IguRud e gy A
Wl 99 BN |
(A) 10 ©2
(C) 9 ®S

(B) 8 ©e
(D) 6 ©CS
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97.

98.

99.

100.
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Within what distance no person is allowed to do
any canvassing in and around the polling station
(A) 200 Yards (B) 100 Yards
(C) 150Yards (D) 250 Yards

Response time of RAF to Law and Order situation
within the same station when it is on call, is

(A) 30 minutes for move of all Coys.

(B) 45 minutes for move of all Coys.

(C) 60 minute for move of all Coys.

(D) 15 minutes of move of all Coys.

Vehicle to Vehicle distance in convoy movement
should be ........... Meter in hilly and .........
meter in plain area.

(A) 20 to 30 meter, 300 to 500 meter

(B) 50 to 100 meter, 100 to 200 meter

(C) 500to 01 Km, 01 Km to 02 Km

(D) 01 to 02 Km, 04 Km to 05 Km.

Which state government has recently declared 50%
reservation in judicial services for OBCs, SCs, STs
and EBCs?
(A) Odisha
(C) Bihar

(B) Madhya Pradesh
(D) Assam

Garampani sanctuary is located at
(A) Junagarh, Gujarat

(B) Diphu, Assam

(C) Kohima, Nagaland

(D) Gangtok, Sikkim
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fhal o W
AR foel <o faver
ygufa =& < S
(A) 200 TS

(C) 150 ol (D) 250 ST

fHdl WM W $FF U@ G S G
JROVOVBO ERT HRAy XA BT THI, 9
A o 7

(A) T FE @7 30 e ¥ Harem

(B) T N @7 45 fAe § Harem

(C) T N @7 60 fAe § Harem

(D) T F BT 15 e ¥ Farem

i}
L

HIhelr e ¥ qET @ e U TR
&9 ¥ IR wHad &7 §
gl =Ry |

(A) 20 ¥ 30 HIeX, 300 ¥ 500 e}
(B) 50 ¥ 100 Hex, 100 ¥ 200 HX
(C) 500 & 01 fofo, o1 fafo & 02 o
D) 01 ¥ 02 fefo, 04 ffo | 05 freio

g B A I WeR 7 e war A
= fUest oW, sqfa o, sygfad o«
SIfy ger anftie wu @ fws o @ fow 50%
IR A foar & -

(A) anfsem (B) W& Y-
(OBEEE (D) <A

TRAYMT IRYY del Red & -

(A) JAMTe (TToR™E)
B) %, (3re)

(C) BIfedr ([ATes)
(D) Trers (Rafyes)
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PART-IIT

NUMERICAL ABILITY
_ P P-3 .
101. 1 Z—Tzl,thenﬁndthevalueofP? 101. afe Z—Tzl, g1 a1, P &1 |99 Sbrei?
(A) 4 B) 5 A) 4 B) 5
©) 6 D) 0 ©) 6 D) 0
1 1 1 1 1 1
102. If —+—+—=4,thena="? 102. Ife —=+—+—=4, BT dl a=?
3 2 a 3 2 a
o 3 i3 o 3 6
()18 ®) 19 ()18 ®) 19
L 24 o 18 24
a 4 4 2b-a a 4 4 2b-a
—_=— —+ Q- — =N —+
103. Ifb s ,thenvalueof(7 2b+ajls' 103. af b5 g ar (7 2b+aj PT A B
1 1
A) 1 B) 17 A) 1 B) 17
3 3
©) 2 D) 7 ©) 2 D) 7
a a a a
104. Ifg—g=4,thenﬁndthevalueofa? 104. afe g—g=4, 81 dl a &1 A9 Hdrer ?
(A) 120 (B) 100 (A) 120 B) 100
o 3 2 o 3 2
© S D) 3 ©) p D) 3

105.

1550

4

of tanker is full if it cantains 300 litres of water?

(A)

©

WI[IN O|lwn

1 : 1 :
— of a tanker holds 135 litres of water. What part 105, <& @& 1 91T ¥ 135 ofle} Ui I&dT & | If

SHY H 300 <llex UMl WRT O ol ShY Bl

1 feperT ART AReTT?
B) E 5 1
; @ 5 ®
Vs © = ®) -
3 5
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107.

108.

109.

110.

111.

112.

113.
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A cricket team won 3 matches more than they lost.
If a win gives them 2 points and loss (-1) point,
how many matches, in all, have they played if their

score is 25?
(A) 19 (B) 41
(©) 20 (D) 42

Ifa=1+ /2 and b=1- /3, find the value of

(a*tb?):
(A) 3 B) 4
©) 5 D) 6

If x =5, then what is the value of 10 x /5 — 2

(A) 250 (B) 200./5

(C) 100,/5 (D) 500
[0.0196

If . =0.2,thenx="7?

(A) 0.49 B) 4.9

(C) 0.049 (D) 0.07

If3x =3y=3zand x +y+z=27,/29, then
Xy 42 s
(A) 87

©) 2429

(B) 84
D) 429

What is the smallest number to be subtracted from
549160 in order to make a perfect square?

(A) 79 (B) 81

(€) 80 D) 1

The average of five consecutive even numbers is
26. Find the smallest of them?

(A) 20 B) 22

(C) 24 (D) 28

The average of 11 numbers is 60. If the average
of first six numbers is 58 and that of last six is 63,
find the sixth number :
(A) 60
(C) 72

B) 66
D) 78
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U fohdpe SH SIAdT 79 8RAT § S99 3 74
SITET Siiadr 7, Ife Siia IR S92 36 I
BRA W (-1) 3 fAerdm &, a1 9ar & 25 3
YT &R+ & o1 I fhaqr 39 Wolr sRIT?
(A) 19 B) 41
(©) 20 (D) 42

e a= 1+ 3 T b=1- f7, B @I (a™+b?)
&1 94 et
(A) 3
©) 5

(B) 4
(D) 6

Afg x=5, B AL, 10x./,3 _ 2 BT AF @7 87

(A) 250 (B) 200./5
(C) 1005 (D) 500
Ife 0'0;96=0.2, LAl x=2
(A) 0.49 B) 4.9
(C) 0.049 (D) 0.07

afe 3x=3y=3z dA x+y+z=27./29 B,

Ny 422 ?

(A) 87 (B) 84

©) 2429 (D) 429

549160 § & g8 BIST AT BT ®IF A Gv&n
gerll SY i a8 ol @i 99 S

(A) 79 (B) 81

(C) 80 D) 1

U TR 99 Gemell &l 3igd 26 ©, df

SH A G BT AT S B |
(A) 20 B) 22
(C) 24 (D) 28

11 A1t &1 T 60 B | AT UUH 6 BI
AT 58 AT Af~TH 6 BT AT 63 BT I, BT
TR /T 8?
(A) 60
(C) 72

(B) 66
D) 78
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116.
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118.

119.
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The average age of 36 persons in a group is 14
years. When an extra person’s age is included to it,
the average increases by one. What is the extra
person’s age in years?
(A) 41
(©) 49

(B) 47
D) 51

A driver travels to a place 150 km away at an
average speed of 50 km/hr and return at
30 km/hr. His average speed for the whole journey
inkm/hris:

(A) 33.5km/hr
(C) 35km/hr

B) 37.5km/hr
(D) 37km/hr

50 is divided into two parts such that the sum of

their reciprocals is g find largest part?

B) 20
(D) 40

(A) 10
(C) 30

Present ages of Mohan and Sohan are in the ratio
of'5 : 4 respectively. Three years hence, the ratio
of'their ages will become 11 : 9 respectively. What
is Mohan’s present age in years ?
(A) 30 (B) 24
©) 27 (D) 40

Sushil’s age after 15 years will be 5 times his age 5
years back. What is the present age of Sushil?
(A) 15 (B) 20

(©) 10 (D) 25

The Sum of ages of a father and his son is 45 years.
Five years ago, the product of their ages was 34.

The age ofthe soniis :

(A) 6years (B) 7 years

(C) 8years (D) 9years

In 10 years, x will be twice as old as y was 10

years ago. If x is now 9 years older than y the
present age of y is :
(A) 39 years
(C) 19 years

(B) 29 years
(D) 21 years
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Bl A8 & 36 AN &I AT MY 14 a9 ©
e W UD AR ATeH! 31 & d1a A 1
A 98 IRl & | AT S AR e Bl g a9
H Far 2?
(A) 41
(©) 49

(B) 47
(D) 51

T Aredd 150 fhHAT B X0 50 bl /€T bl
AT T F AT BRAT & AT 30 fHHY /HeT B
AT o1 W g8 AT I I B | Al SHD
T AT BT ST ATl e

(A) 335 f&Hl /8e1  (B) 37.5 [l /HeT
(C) 35 foHi /ger (D) 37 foHl /&er

50 BT I YT § 39 YbR dicl ordT © f& Sab

1
A BT ARTHA g%\', al g7 91T 9ard?

B) 20
(D) 40

(A) 10
(C) 30

A TAT WIEd @ ITHAM AR BT AU
5:4 72| A9 Y & 918 I AP BT JJU
11 : 9 BT SITQAT | T IS BT a<iA 3y o7 &7
(A) 30 B) 24
(©) 27 (D) 40

15 a9 d1q gEel Bl MY IAD 5 9§ Ul Dl
3G bl 5 TOM BT S Jeflel Bl axiH+ 3y
FT B?
(A) 15
(€) 10

(B) 20
(D) 25

QT =T 4= 1 SA1Y DT ANTHS BT 45 qY €, 5
Y Ul QM1 B MY BT YOGS 34 & Al GF BT

IIAM 3G RT 57
(A) 6 a9 B) 7 a9
(C) 8 a4 (D) 9y

10 auT # x @ AT y & 10 9§ & U B AR
1 AT 81 ST, Afe a<iq | x, yd 9 9y gl

g ATy &7 a3y F T 22
(A) 39 99 (B) 29 I
(C) 19 a9 (D) 21 a9
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122. If

123.

124.

125.
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127.
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9

Whatis the valueof ———7—~——:
6 /3X\3/67

1
®)
D) 0

(A) 6
©) 1

3X(81)*

— = =9
9"X3°X(27)° 27, thenn =7

1
W 5 ®)

© 0 D)

A~ |-

Sixty five percent of a number is 21 less than
four-fifth of that number. What is the number?

(A) 120 (B) 160

(C) 140 (D) 180

15% of 600 + 45 % of 280 = ?
(A) 216 B) 236
(C) 126 (D) 246

Raman reads s of'a book on one day and 5 of

the remainder on another day. If there are 30 pages
unread now., how many pages did the book
contain ?
(A) 200
(C) 80

(B) 240
D) 120

A seller purchased a washing machine for
Rs. 7, 660. After allowing a discount of 12% on its
marked price, he still gains 10% . Find the marked
price of washing machine :

(A) Rs.9575 (B) Rs.9675

(C) Rs. 8246 (D) Rs.9755

A man purchared an article and sold itto be B ata
profit of 25% and B sold it to C at a loss of 10%
and C paid Rs. 675 for it. For how much did A
purchase it :

(A) Rs.500
(C) Rs. 600

(B) Rs. 550
(D) Rs. 650
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366

AR 27
Fxds T
1
(A) 6 )
© 1 D) o
3X(81)*
afe X3 X(2T) =27, 81 @ n=?
1 1
(&) 3 B) 5
1
© o D) 7

ﬁﬂﬂmaﬁ%l)ﬁ?ﬁWWEﬁ%ﬂW

21 BH B, dI AT T 27

(A) 120 B) 160
(C) 140 (D) 180
600 BT 15% + 280 T 45 % =?
(A) 216 (B) 236
(C) 126 (D) 246

W1ﬁ?{ﬁ%ﬂmﬁﬂam%‘,3‘mm%

9T R & gedn &, Ife o9 30 Y5 81 sl
gAT 91 & I fbeita # et fbal g ok

(A) 200 (B) 240

(C) 80 (D) 120

& fasdr g ailRiT #9fE @ wo 7,660 H
ENIEdT B | 39 Afhd oI W 12% BT <° &
qre W 10% <™ AT 2 | 1 # @r sifdd

T RIT 2?
(A) 9575 0 (B) 9675 0
(C) 8246 %0 (D) 9755 %0

A e U g TWRIG BR 25% A WR B Bl
99 <1 &, B, C BT 10% BT TR &9 <al 7, C
BT 5D foIT 675 wUAT AT Ugdl & | dT 9drd

f6 AsY fhas & @er o1?
(A) 500 %0 (B) 550 %0
(C) 600 %0 (D) 650 %0
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131.
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134.
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1550

Two trains start from a certain place on two
parallel tracks in the same direction. The speed of
the trains are 45 km/hr and 40 km/hr respectively.
The distance between two trains after 45 minutes
willbe:

(A) 3km750m
(C) 2km 750 m

(B) 3km550m
(D) 2km 550 m

1

1
If x —— =3, the value of x° ——5 is:

X X
(A) 30 B) 36
(©) 34 (D) 40
The area of equilateral triangle is 4./3 square metre.
Its perimeter is :
(A) 14 metre
(B) 12 metre
(C) 6./3 metre
(D) 12./3 metre
The wunit digit in the product
(284x618x 717x563)?
(A) 2 B) 3
©) 4 D) 5
What is the unit dight of (7°>-3%) x 51 ?
(A) 0 B) 4
©) 6 D) 7
What is the unit digit of (2157) 74?
(A) 3 B) 6
©) 7 D) 9
If (64)*-(36)*=10 X x, then x = ?
(A) 140 (B) 240
(C) 360 (D) 280
If the product 4864 X 9 x 2 is divisible by 12, the
value of xis:
(A) 2 ®B) 1
©) 5 (D) 6

128.

129.

130.

131.

132.

133.

134.

135.

T ¢ IHAMR o® TR U&H ol Q9 § U B
g A e T U™ Bl B 1 o @) TR 45
feY /5ieT qer 40 fHH /EeT HaS: 2| T 45
e & a1 SFT Nerms! & 91 @1 g0 @
BIfT?

(A) 3 fdHr 750 #r
(C) 2 fd#r 750 /1

(B) 3 fdHr 550 A
(D) 2 f&¥1 550 #

] ]
afe x=— =3, g, x3—? BT A 2

(B) 36
D) 40

(A) 30
(C) 34

GG BT &1 aF%d 4.3 TR ©,
BT IRAY &

(A) 14 Hex

(B) 12 #Hex

(C) 64/3 HIcx

(D) 12,/3 HIex

(284 x 618 x 717 X 563) & I[UH HI SHls
3P =

(A) 2 B) 3

©) 4 D) 5

(75-3%) x 5! BT SHTS 3fh R BIIT?
A) 0 B) 4

©) 6 (D) 7

(2157) 754 BT SHIS 3fH FIT BRIT?

A) 3 B) 6

© 7 D) 9

afe (64)-(362=10X x, & @I, x="2
(A) 140 (B) 240
(C) 360 (D) 280

If 4864 X 9 x 2 &1 [UHHe 129 o &,
al x &1 99 &
(A) 2
©) 5

(B) 1
(D) 6
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137.

138.

139.

140.

141.

142.

143.
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If x and y are odd numbers, then which of the
following is even?
(A) x+y+1

(C) xy+2

B) xy+1
D) xy

The largest 5-digit number exactly divisible by 91
is:

(A) 99981
(C) 99918

(B) 99999
(D) 99971

What least number must be subtracted from 13602,
so that the remainder is divisible by 877

(A) 29 B) 31
(C) 30 (D) 37
#+62+8+ ... +20%) =2
(A) 1536 (B) 1540
(C) 1150 (D) 1140

How many natural numbers are there between 17
and 100 which are exactly divisible by 6 ?

A) 12 B) 13

(©) 14 (D) 15

The ratio of two numbers is 3 : 4 and their H.C.F.
is 8, their L.C.M. is :

(A) 96 (B) 108
(C) 48 (D) 64
The L.C.M fi E i 2

eLCM.of 7,5, 2. 31
® 36 ® 1365
C) 36 1z
(©) D) g
0.517 = 0.00517 =7
A) 1 B) 10
(C) 100 (D) None of these
0.02 isequalto:
(A) 100 B) 50

1

© 50 D) 5,

136.

137.

138.

139.

140.

141.

142.

143.

144.

ﬂﬁxﬁ%yﬁ@@@ﬁ??ﬁﬁﬁ%@ﬁﬁ
P T 87

(A) x+y+l B) xy+1

(C) xy+2 D) xy

U 3T B FIH TSI F=IT S Bl 91 H Yofa:
fmifoa &
(A) 99981
(C) 99918

(B) 99999
(D) 99971

13602 % ¥ 98 \a¥ BIC! A& Hi—W1 geril
ST & Iher 87 & guid: favifora & e

(A) 29 (B) 31

() 30 D) 37

4+62+8+ ... +20%)=7?

(A) 1536 (B) 1540

(C) 1150 (D) 1140

17 TAT 100 & I G el U AT & Sl

% 6 o yofa: fawifora &1 ?
(A) 12 B) 13
(C) 14 D) 15

S HEITAT D1 U 3 : 4 8, A IThI HO 30
8 & Al ISPl <0 HO FIT BII?

(A) 96 (B) 108
(C) 48 (D) 64
434 E 5
3e5y 0 o3 @10 W0

1 1
Y ® 1365
©) 36 D) T2 443
0.517 = 0.00517 = ?
A) 1 B) 10
(C) 100 (D) 39 & ®Ig TEl
1 5.
002 7T
(A) 100 B) 50

1

© 350 D) 5,
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146.

147.

148.

149.

150.

0.009

00
145. If&xog=0.001,thenx=? 145. e —_ =0.001, B Al x =2
(A) 90 B) 9 (A) 90 ®) 9
1 1
(C) 0.9 (D) 9—0 ©) 0.9 (D) %
The value of () 47 is: 146. (.47 T A SRR ©
47 47 47 47
A 1o ®) 59 A) 1o ®) 59
43 47 43 47
© o D) © 5 D) 5
b—a b-a
If1.5 a=0.04b,thenva1ue0f(b—j is: 147. If¢ 1.52=0.04b, &I, @I (b+a) P AA T
+a
73 7.3 73 73
A) = ®) — (A) = ®) —
730 7.3 730 73
© =7 ©) 777 © 7 ©) 777
0.6)' = (0.5)* (0.6)" - (0.5)° _
m isequalto: 1438. (0.6) +(0.5) BT A SRR B
(A) 0.1 B) 0.11 (A) 0.1 (B) 0.11
©€) 1.1 (D) 11 ©) 1.1 D) 11
P 6 P+’ P _6 P+’
If Ezg,ﬁndthevalueofpz%gz: 149. afg a—g,?ﬁﬁ oo BT H1 FdTe
51 61 51 61
A 1 ®) 17 (A) 17 ®
a C il 8
© 17 D) 8 © 1 (D)
I =1, then find the value ofa ? 150. afe —2al =1, & ¥ a®T A pret?
1+ 1+
I+ —— 1+
l-a l-a
3 3 N 2 3
A) 5 ® 5 (A) 5 ®) 5
2 2
© 3 D) 0 © 3 D) 0
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PART-IV
HINDI

e (151 & 155) : fAHfeRad u® arR fadenl
A IS (RRITE) ves BT e PifvTe |

151.
(A) IRR® (B) <fz®
(OIGIRED (D) afer

152.
(A) e (B) oA
©) T (D) drsT

153.

(A) wfcrnfira (B) ST
(C) Raatrsl D) drs

154.

(A) gadit (B) aferent
(C) gfear (D) Fagae

155.

(A) N9 (B) @
(C) er7y (D) 32TH

e (156 9 159) : 91 § W Rl 919 BT I
IV

156.
(A) 399 FEl & Sy 9 81 17|
(B) YT §s 3R g8 M AT |
(C) T8 dR—ofR foraar 2|
(D) S & &, S WM al |

157.
(A) 98 I & Sy, AR U 9ol <7 |
B) ffY ey =1 AT g, 379 T8 ;S
208 WG @l T |
(C) fasra &1 9t {6 BT gl My |
(D) JAUTHHT Ig B WM Thb YRT IR a

158.

159.

(A) SHPHT 3T RIRAT 7 & & a8 8=
o 1 99 |

(B) Sl @i 9 e =nfey Ry dqaaaeR
P e firer |

(C) ®Ig & ST fb &t a1 B

(D) ST 9EHR BIs T &I 2 |

(A) faem | 9gHR BIS o4 T8 2|

B) < ¥ e Hraf o wfay O @ '
Rifh TRAR & UNT &9 8] o |

(C) &St B ARV & geai & U 39 aER
B R |

(D) AT AHeAdT ATEd 8 AT URSH BAT &
g

<31 (160 ¥ 165) : A AT T UH U H HIA

160.

161.

162.

BY G & IR GRIad aread oy v € | @
fabed gy |

Arfe®
(A) dpe ferar T
(B) @Id! & g1

(C) TP §qM fa@= are

(D) ST $9 oAl @ 91T &

$UT

(A) 3T H A

B) <9 fdd BT FEIAl

(C) 9 9 ASg

D) f&A & forw BI Bt Bl

GEIR

A) ff &1t & B H T

(B) gfad &1 o= ¥ fRafdame
©) R R gW

(D) STHATATT BT 7 BT
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163. fRu&
(A) 51 g8 @ 919 7 81

e (171 9 175) : f=foRad v weq # fau
MV e & FAT Ieq BT I SFD A QU

(B) I =i @1 gaam 7 & Y faeal § A B
(C) RradT ®TS uer 71 &
(D) RraeT fHft a1d &1 BT 1 & 171. aRasr
(A) FIER (B) 3T
164. 39S (C) araTaRoT (D) STTRT
(A) ST Yest Iy 7 &
(B) S QT 9 AT & 172. B8
(C) Rt Ugar 71 &1 (A) farmT (B) faRE
(D) 1 ugl—forar =1 & (C) T (D) &g
165. IEA 173. =i
(A) ST BRPRIR R ¥ ®dT WY INREIEARED (B) dfeud
(B) 9 EPRIR &I 81T # ofaR oIeT WIlY (C) =M (D) 1A=
(C) S ERER 3rg® &
(D) S IR 3 Ugd: WA # foram Sy 174. =geI
(A) & (B) drT
e (166 | 170) : 9 BB ABIfAT <7 TS 2| (C) &< D) gd
U bl § Gl SUYHR ¥ B T &,
SUs Rad @b & fov === S 175. gR¥a
(A) g@ (B) HalH T+
166. PR ar 1 |l (C) fawe= (D) HEdr™
(A) S (B) weft
(C) e D) g1 fader (176 & 180) : fA=faRad ud® ueH # fRu
Y 3G H Ugad | & YR & 9T IAqD
167. HTAT B O oo 2, 3feR e T fey U eedl § | oy
(A) <UD (B) ware
(C) = (D) 176. 1w
(A) |t (B) T R
168. oo @ 3 DI BT B B ToR AT © (C) gfg |f (D) 3rnfe |fr
(A) S99 (B) s+
(C) 91a (D) 3= 177. quo1
A) ot afa (B) I af
169. I8 FT S ... CAREIS (C) =ioq | (D) 3/ Tie |l
A) Aot (B) 3TeR®
(C) @ (D) SR 178. IemaT
(A) TR | (B) o9 AT
170, ST o NIl (C) fowdi Wi (D) 378 9 BIg =7El
(A) TS (B) cfett
(C) prer (D) Ygetdard
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179. &ITT<
(A) o7 Al (B) e afr
(C) &o= | (D) IuT AT

180. *RIT
(A) e |t (B) &io= |l
(C) or | (D) foxa=t |f*r

e (181 9§ 185) : fHfaRed v® o § @
T3 dfdaal & @A & aR wsfaa M feg
MY 2 | SUGSd AfIdr & A9 BT I BTG

181. ART I 1 B8 PR O |
(A) 3= (B) ARTCleROT [
(C) STeieR y=Te (D) EReiy

182. HTh—dHAdh o AN ATGHT ARHTY |
IE WY R R, a1 U] 4R | |

(A) Teriier (B) faer
(C) PYacT™ (D) faarf &R

183. # Ha—aTel &R ET—ANR 4TS |
ST A9 D S0 W W ERA—gfA B8 | |
(A) Taret (B) e
(C) EH™ (D) =Ry e

184. TYSil g4 dad &9 Ul |
ST T—3FT a4 FH | |
(A) eI (B) Hefdhard
(C) THD (D) HdREH

185. wTfare SUAATAEE &1 ORI M ¢ |
(A) AT I
(B) T
(C) T=gaR arerudl
(D) gHAF= gd

186. Tl WAl @ WA qof fha- & ?
(A) (B) <&
(C) RE (D) IR®

187.

188.

189.

190.

191.

192.

193.

194.

195.

g & faq s g 87
(A) =1 (B) IR
(C) dra (D) ©:

JI9es ¥ fbd 91 Sirar 87
(A) (B) #TR ¥4
(C) BT ™ (D) 4R 4

Hia [IeR) g=aa: 59 9 & Hid 87
(A) BB (B) wfda

(C) 5TR (D) 4R

B BT GIYAH Sooid hal [Herdr &7
(A) Fdg (B) Sufve
(QWSILCE (D) ISde

B< I WU 4 T IR & Bl 87
(A) &I (B) I

(C) IR (D) ©:

ford B &1 Y™ g I1f~aHq I Th—uT BIdT 27
(A) TreT (B) rel

(C) ERaT (D) grsforar
By T UHR & B< &°?

(A) fawm (B) w#

(C) srgwH (D) ATf¥®

aIgT 59 bR &1 o< 27

(A) ¥H B) fawH
(C) s (D) 379 & P1E 7Tl

feforRad & A1f3id TH Bg BT BI—aT IS8RV
4

(A) TraT (B) ARSI

(C) darg D) T\
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fder (196 & 200) : f=faRaa U@ weg & forw 198. ra—fe=

IqD A QU U fAweul ¥ ¥ Iugad A (A) f&7g (B) TGy

Bfew C) €= (D) HHIRY
196. TS 199. g=ard

(A) dG™Y B) &= (A) ERIHE (B) HHRY

(C) DHERY (D) sgsfife (C) Tgwy D) &=
197. FuRdrR 200. TRTET

(A) 3reTTg (B) Tgwy (A) dgife (B) TgHY

(©) f&7 (D) sgdife (C) arerTg D) faT
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PART-IV
ENGLISH

Direction (151-155) : In the following questions, out of

151.

the four alternatives, choose the one which can be
substituted for the given words/sentence

A person who readily believes others :

(A) Credible
(C) Sensitive

(B) Credulous
(D) Sensible

152. The political leader has an evil reputation. He is not
trusted :
(A) isnotorious (B) ismalicious

(C) ismagnanimous (D) isdubious

153. A person who helps even a stranger in difficulty :

(A) Samaritan

(B) Altruist

159.
(A) Inefable (B) Inaecesible
(C) Infallible (D) Invinsieble
160.
(A) Expact (B) Impact
(C) Exite (D) Imped

Direction (161-165) : In each of the questions, arrange
the jumbled letter or phrases to make a meaningful

154.

(C) Philanthropist (D) Beneficiary

The production of raw silk :

(A) Sericulture
(C) Sariculture

(B) Seroculture
(D) Syrumculture

155. The conference takes place once in three years?

(A) Tetraenning
(C) Treennial

(B) Triennial
(D) Thriennial

Direction (156-160) : In the following questions, groups

of four words are given. In each group one word is

correctly spelt. Find the correctly spelt word :

156.
(A) Variety
(C) Gaitey

157.
(A) Coersion
(C) Negociation

158.
(A) Harrassment

(C) Breevement
1550

Latest Sarkari Jobs, Govt Exam Results,
Vacancies and updates on one click

(B) Anxdety
(D) Sodety

(B) Precision
(D) Explation

(B) Commitment
(D) Temparament

sentence :
161. P. eachyear

Q. twoto five adults

R. getgold

S. onanaverage

(A) PSQR (B) PRSQ

(C) SRQP (D) RSQP
162. P. canbe dangerous

Q. theindiscriminate

R.  without medical supervision

S. andcritical use of any drug

(A) PQRS (B) PRQS

(C) QSRP (D) SPQR
163. P. destroyed careers

Q. many

R. hasresulted in

S. drugaddiction

(A) PQSR (B) PRQS

(C) SRQP (D) SPQR
164. P. bymakingswallowing difficutt

Q. asore throat

R. dailylife

S. interferes with

(A) QSRP (B) QPRS

(C) PRQS (D) PQRS

SET-C

Know More



165.

P. America’s

Q. in1961

R. warlaunched

S. firstmanned aircrafts

(A) PRQS (B) PQSR
(C) QSRP (D) PSRQ

Direction (166-170) : In the following questions, a

166.

167.

168.

169.

170.

sentence/ part of sentence is printed underlined.
Below four alternatives are given to the underlined
part of the sentence as (A), (B) and (C) which may
improve the sentence. Choose the correct
alternative. In case no improvement is needed, your
answer is (D):

The student’s interest was raised by an article he
hadread :

(A) quickened
(C) increased

(B) multiplied
(D) noimprovement

This telephone number is not existing:
(A) hasnotexisted (B) hasnotbeen existing
(C) doesnotexist (D) noimprovement

The businessman is respectively connected :
(A) respectfully
(C) receptively

(B) respectably
(D) noimprovement

I'met him in the way :
(A) onthe way (B) atthe way

(C) duringtheway (D) noimprovement

The boy said that he has read the book :
(A) he has already read

(B) hehadread

(C) he has finished to read

(D) noimprovement

Direction (171-175) : Read the passage carefully and

1550

choose the best answer to each question out of the
four alternatives :

Passage
The advent of electric power was, in a way,
comparable to the successful development and

Latest Sarkari Jobs, Govt Exam Results,
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171.

172.

173.

174.

application of nuclear power in 20th century. In fact,
the historical roots of electricity extend far back into
antiquity. Many men had a hand both in acquring
basic knowledge about the invisible form of power
and in developing the ways adopted for practical
purpose. One of the vital keys that helped to
unlock the doors leading to the production of
electricity was the discovery, in 1831, of the
principle of electromagnetic induction. This
discovery was made simultaneously by michael
faraday in England and Joshef Henry in the United
States. From it came the generator, sometimes also
called dynamo but several decades of development
had to follow before the first practical dynamos or
generator came into existance in early 1870 :

According to the author :

(A) Michael Faraday and Joseph Henry
revolutionized electricity in the USA

(B) Nuclear power and electricity were
discovered in the 20th centery

(C) The discovery of the principle of

electromagnetic induction was not an

important discovery

(D)

The advent of electric power is equivalent to
the application of nuclear power in 20th

century

Michael Faraday and Josheph Henry discovered :
(A) the application of nuclear power

(B) the genertor

(C) the dynamo

(D) the principle of electromagnetic induction

Another word for ‘advent’ is .................. :
(B) arrival
(D) constitution

(A) discovery
(C) invention

The generator was also known as the ........... :
(A) inductor
(C) nventor

(B) dynamo
(D) conductor
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175.

Direc

176.

177.

178.

179.

180.

Give a synonym for “antiquity””.
(A) Ancient (B) Antipathy
(C) Modern (D) Uniqueness

tion (176-180) : In the following passage some of
the words have been left out. After reading
carefully fill in the blanks with the help of given
alternatives :

Passage
‘CRY-child reliefand you’ 196 an organization that
197 started by seven such 198 and it has been
working 199 1979 to change the lives of 200
children all over India.

(A) was (B) is

(C) are (D) being

(A) has (B) being

(C) was (D) been

(A) friends (B) men

(C) people (D) individuals
(A) since (B) during
(C) for (D) untill

(A) underprivileged (B) privileged
(C) hopeless (D) denuded

Direction (181-185 ) : Fill in the blanks with the

181.

1550

appropriate word, choosing it from options given :

I found it difficult to cope.............. mathematics at
the advanced level :

(A) with (B) of

(C) for (D) up

182. He was congratulated ..................... receiving his

degree :
(A) on (B) for
(C) by (D) of
183. Some people quarrel. ............ very trivial matters :
(A) over (B) m
(C) for (D) by
184. “Maylknowto...... I'am speaking.”
(A) whom (B) who
(C) how (D) where
185. Bear............... me as [ explain the matter more fully:
(A) n (B) of
(C) with (D) for

Direction (186 -190) : In each sentence below
four words have been printed in separate parts which
are lettered (A), (B), (C) and (D). One of these
parts may be mis spelt or an error in the
context of the sentence the letter of that part is your
answer. If there is no error, your answer is (D). i.e.
No error.

186.
(A) Collect newspaper and magazine having
articles on oil
(B) pullutionand
(C) discuss them.
(D) No error

187.
(A) We can demonstrate the
(B) phenomenon of evaporation and

(C) condensation
(D) No error

188.
(A) People dewlling in remote areas
(B) suffer alot because of
(C) inaccessibility to hospitals
(D) No error

189.
(A) Itisinteresting that
(B) floating docks and even
(C) ships can be made of concreat

No error
0) SET-C
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190.

(A) Make a list of foods that contain

(B) harmful
(C) chemicals
(D) No error

Direction (191-195) : In the following questions, choose
the word from four alternatives which is most nearly

191.

192.

193.

194.

195.

opposite in meaning to the given word :

Spiritual
(A) Earthly
(C) Material

Harmony
(A) Agreement
(C) Confusion

Compulsion
(A) Constraint
(C) Freedom

Waste
(A) Gain
(C) Nourish

Successor
(A) Follower
(C) Guide

(B) Superior
(D) Disccord

(B) Melody
(D) Discord

(B) Choice
(D) Spontaneity

(B) Profit
(D) Loss

(B) Prodecessor
(D) Professor

Direction (196-200) : In the following questions. Out of
four alternatives, choose the one which best
expresses the meaning of the given word as your

196.

197.

198.

199.

200.

anSwer:

Honest
(A) Authentic
(C) Direct

Vocation
(A) Examination
(C) Occupation

Ingenuous
(A) Innocent
(C) Cunning

Innocuous
(A) Careless
(C) Insufficient

Insolent
(A) Disrespectful
(C) depreciating

(B) Upright
(D) Actual

(B) Seminar
(D) Holiday

(B) Artful
(D) Clever

(B) Harmless
(D) Irresponssible

(B) Insoluble
(D) the sole ofashoe
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PART-I

GENERAL INTELLIGENCE AND REASONING

Indicate which figure will best represent the
relationship among Birds, Crows, Eagles :

O O
A) B) o)
©) @ (D)

Neela is now three times as old as her daughter

O

Leela. Ten years back, Neela was five times as old
as Leela. The age of Leelais :
(A) 15 B) 25
©) 30 (D) 20

Direction 3-7): P, Q, R, S, T, U, V and W sitting

1550

round the circle and are facing the centre

(1) P is second to the right of T who is the
neighbour of R and V

(i) Sisnotthe neighbour of P

(i) Vistheneighbour of U

(iv) Qisnotbetween S and W. W is not between
Qand S

Which two of the following are not neighbours :
(A) UV (B) TR
(C) PW (D) SW

Who is the neighbour of W ?
A) U ® Vv
©) R D) S

Who is the second right of R?
A4 Q B W
© S D) v

Who is in the middle of Sand V ?

(B) R
D) Q

@A) U
(C) P

Latest Sarkari Jobs, Govt Exam Results,
Vacancies and updates on one click

1.

fa=ifed foar & e9—<ar fafsar, olem der
A B 9 g Bl USRiT HRar =

O O
(A) ®| o
(©) @ (D)

AT =T ST ST | I IO g8 2, 10 a9
Ugel =ITefl, ofiell 1 i I a1 o | G ofier @t

O

I % |
(A) 15 (B) 25
(C) 30 D) 20

fRer 39 7): LQR,S,T,U,V 3R W U& qq

@ IR AR B D AR & IRD IS B |

() P,TSR | T & Sl f& R3R V &r
TSt B |

(i) S,P Sl &l 2 |

(i) V,UdT ISR B

(v) Q, ST WS &g § &f 8 W, QT S
@ 9 H T 2

fFrferRaa 5 & S A1 g7 T TN @ TSl
el 87

(A) UV (B) TR
(C) PW (D) SW
W &I TSRl B9 & ?

A) U ®B) Vv
(C) R D) S
R 3R §ORT & 27

A4) Q B) W
©) S D) Vv

STM VD g § dIF 8 ?
(A) U (B) R
© P D) Q
SET-D
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10.

Who is second to the left of U ?
A) W B) Q
© P D) R

In half hour, the minute hand of clock will rotate

through the angle of :
(A) 75° (B) 60°
(C) 120° (D) 180°

Meera was born on 22nd March 1982. On what
day of the week was she 14 years 7 months and 8

days of age?
(A) Tuesday (B) Sunday
(C) Monday (D) Saturday

If 1st October falls on Sunday. What day of the
week will fall on 1st November ?

(A) Tuesday (B) Wednesday

(C) Sunday (D) Monday

Direction (11-17) : In each of the following questions,

11.

12.

13.

14.

15.

1550

select the related letter/word/number from the given
alternatives :

DEVIL:ABSFI:: OTHER:?
(A) MRFCP (B) RWKHV
(C) LQEBO (D) LRECO

Manipuri : Manipur : : Kathakali : ?
(A) Karnataka (B) Tamilnadu

(C) Kerala (D) Andhra Pradesh
24:60::210:7?

(A) 425 (B) 420

(C) 525 (D) 505

Teacher : Student : : Pontiff: ?
(A) Disciple (B) Follower
(C) Priest (D) Deity

Book : Read : : Picture : ?

(B) Buy
(D) Listen

(A) Library
(C) See

Latest Sarkari Jobs, Govt Exam Results,
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10.

Ud a1 R & & 2
A) W B) Q
© P (D) R

aTy He ¥ P @ qE frad Rl A e
SITQAT?
(A) 75°
(C) 120°

(B) 60°
(D) 180°

AIRT BT STH 22 AT 1982 BT G oA | I IaTd
fo weite @ @I A1 fa g8 14 99 7 HEMT 3R
8 fa @1 oA1?

(A) HITAIR (B) Xfdar

(C) AMaR (D) IR

e 1 3faca” DI IAAIR BT 7, Al 1 FT=R Bl
e B DA A1 & e

(A) HTAIR (B) guar

(C) fdar (D) AFaR

e (11 9 17) : F=fiRad v ww= # fev g

I1.

12.

13.

14.

15.

fapeal § 9 gfRa 'R /I /AT Bl
g |

DEVIL: ABSFI:: OTHER:?

(A) MRFCP (B) RWKHV
(C) LQEBO (D) LRECO
AT : AR : : Bl : ?
(A) BHCH (B) Tf¥erTg
(C) v (D) 3 ye e
24:60::210:?

(A) 425 (B) 420

(C) 525 (D) 505

INGE IR R L I

(A) Ry (B) srgard
(C) gy (D) <ar
fopame - ggT ;o ?

(A) DTt (B) &I
(C) <@ (D) G
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16.

17.

ETHNICITY : YTIC INHTE : : HOPEFUL :?
(A) FULEPOH  (B) HOPELUF
(C) LUFHOPE (D) LUFEPOH

Swimming : River : : Hiking : ?
(A) Mountain (B) Road
(C) Pond (D) Sea

Direction (18-25) : In each of the following question,

18.

19.

20.

21.

22.

23.

24.

25.

1550

find the odd word/letters/number pair from the
given alternatives :

(A) 1000 (B) 625
(C) 64 (D) 512
(A) 10 (B) 24
(C) 64 (D) 120
(A) CP (B) FR
(©) DQ (D) BO
(A) Publisher (B) Author
(C) Novelist (D) Poet
(A) WTQN (B) NKHE
(C) MIDA (D) KHEB

(A) King:Queen (B) Prince: Princess
(C) Witch: Vampire (D) Hero : Heroine

(A) Radish (B) Carrot
(C) Potato (D) Beetroot
(A) 124 - 164 (B) 14-54
(C) 212-252 (D) 256 - 286

16. ETHNICITY : YTIC INHTE : : HOPEFUL:?

(A) FULEPOH
(C) LUFHOPE

(B) HOPELUF
(D) LUFEPOH

17. AT 94T FQ@IS 7

(A) wdd
(C) T

(B) FsP
(D) 5=

e (18 | 25) : f=foRaa oAl & fag g
el 4 ¥ v "=/ R /S=r g™

gy |
18.
(A) 1000
(C) 64
19.
(A) 10
(C) 64
20.
(A) CP
(©) DQ
21.
(A) UBTIH
(C) SUTNIBR
22.
(A) WTQN
(C) MIDA
23,
(A) XTSI : ]I
(C) SIF : fuema
24,
(A) et
(C) 31
25,
(A) 124 - 164
(C) 212-252

Latest Sarkari Jobs, Govt Exam Results,
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(B) 625
D) 512

(B) 24
D) 120

(B) FR
(D) BO

(B) og®H
(D) ®fd

(B) NKHE
(D) KHEB

(B) IGTRAR : RISTHAR]

(D) 3¥fa=ar : 3=

(B) TR
(D) JPR

B) 14 - 54
(D) 256 - 286
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Directions (26-27) : Arrange the following words
according to the English dictionary :

26. 1. Voyage 2. Voice
3. Vocation 4. Volume
(A) 2,4,3,1 B) 3,2,4,1
©) 2,3,4,1 D) 3,4,2,1
27. 1. Beet 2. Beer
3. Being 4. Been
(A) 4,2,1,3 B) 4,2,3,1
©) 1,2,3,4 (D) 4,3,2,1

e (26 | 27) : f=faRad west &1 3fUSH
IR DI & AR HATd :

26. 1. Voyage 2. Voice
3. Vocation 4. Volume
A) 2,4,3,1 B) 3,2,4,1
©) 2,3,4,1 D) 3,4,2,1
27. 1. Beet 2. Beer
3. Being 4. Been
A) 4,2,1,3 B) 4,2,3,1
©) 1,2,3,4 D) 4,3,2,1

Directions (28-35) : In the following questions a series
is given with one item missing choose the correct
alternative from the given ones that will complete

fder (28 & 35) : fforRaa gl # g fam
a1 8, foraH v ue g 2 | fau g fdeedi |
A g8 el [ddbed iy ST 3gHH BT RT B |

the series :

28. FLA, GMB, HNG,IOD, ?

(A) OTK (B) NSD

(C) JPE (D) TOE
29. 135,226,353, 2,739

(A) 722 (B) 522

(C) 622 (D) 632
30. 4,7,13,22, ? ,49

(A) 34 (B) 45

(C) 52 (D) 64
31. ACE,BDF,CEG, _? .

(A) DEF (B) DFH

(C) DEH (D) DFE
32. 7,12, 22, 2,82, 162

(A) 42 B) 32

(C) 52 D) 62
33. 2,3,5,9,17, 2 .

(A) 33 (B) 34

(C) 27 D) 30
34. CAE, HFJ, MKO, RPT, ? .

(A) WUY (B) VTY

(C) VUZ (D) WUZ
1550
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28. FLA, GMB, HNC,IOD, ?

(A) OTK (B) NSD

(C) JPE (D) TOE
29. 135,226,353, 2,739

(A) 722 (B) 522

(C) 622 (D) 632
30. 4,7,13,22, ? ,49

(A) 34 (B) 45

(C) 52 (D) 64
31. ACE,BDF,CEG, _? .

(A) DEF (B) DFH

(C) DEH (D) DFE
32. 7,12, 22, 2 ,82,162

(A) 42 (B) 32

(C) 52 D) 62
33. 2,3,5,9,17, 2 .

(A) 33 (B) 34

(C) 27 D) 30
34. CAE, HFJ, MKO, RPT, ? .

(A) WUY (B) VTY

(C) VUZ (D) WUZ
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35.

36.

37.

38.

39.

40.

41.

42.

43.

1550

12,26,54, 2 .
(A) 223 B) 110
(C) 220 (D) 108

IfA=1,BAD=7, then HAT =?
A) 8 B) 10
(C) 29 D) 19

IfB=4, D=8 and C =6, then DOG = ?
(A) 46 B) 52
(C) 56 (D) 60

IfD=2and F =3, then BAG=?
(A) 10 (B) 20
© 5 D) 6

IfFAITH is coded as 82731, HABIT is coded as
12573 and HEALTH is coded as 192431, how

can BELIEF be coded as ?
(A) 594598 (B) 594789
(C) 594978 (D) 594798

If NATIONAL can be written as LNAANTOI,
how can DOMESTIC be written?

(A) CDIOMTES (B) CDIOTMSE

(C) CTSIMODE (D) CSITEMOD

In a class Sohan’s rank is 17th from the top and
28th from the bottom. How many students are there
inthe class ?
(A) 45
(C) 44

(B) 40
(D) 41

Varun said, “That boy is the grandson of my
Mother’s husband. I have no brother and sister,”
How is the boy related with Varun?

(A) Uncle (B) Son

(C) Nephew (D) Cousin

Which of the following can not be formed by word
MERCHANDISE :
(A) MECH

(C) CHARM

(B) DICE
(D) CHANGE
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35.

36.

37.

38.

39.

40.

41.

43.

12,26,54, 2 .
(A) 223
(C) 220

B) 110
(D) 108

Ife A=1,BAD =78l al HAT=?
(A) 8 (B) 10
(C) 29 D) 19

Ife B=4,D=8 da1 C=6, 8 dl DOG =2
(A) 46 (B) 52
(C) 56 (D) 60

gfe D=2d21 F=3, 8 d BAG=?
(A) 10 (B) 20
€ 5 (D) 6

¥l @ 9T | FAITH &I 82731, HABIT &I
12573 @ HEALTH &7 forar Sy @, 192431
Pl A dHe Wl H BELIEF &I @1 forar
SITQT?

(A) 594598
(C) 594978

(B) 594789
(D) 594798

afg fedl e “9T 4 NATIONAL &1
LNAANTOI for@r Sy df Il g 9T H
DOMESTIC &1 &1 ferar Sigan?

(A) CDIOMTES (B) CDIOTMSE

(C) CTSIMODE (D) CSITEMOD

TP HefT | A8 &I HH HUR A 17 df q27 A4
¥ 29 df 3| I BET H FH fha B &7
(A) 45 (B) 40

(C) 44 (D) 41

J&OT =1 PEl &~ 98 TSPHI WX AN & Uil Bl
UIdT & ¥RT PIg 9IS TT 9849 ol 8 9ard d8

TSPT TRV W HY ARG 87
(A) =rar (B) ¥er
(C) weirSt (D) AR 4TS

f=ferRad § ®F—a1 MERCHANDISE 318 9
TS 91T S FhdT 8 ?

(A) MECH (B) DICE

(C) CHARM (D) CHANGE
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44,

45.

Out of 1865 people, 660 can speak English and
1305 can speak Marathi. But 120 person cannot
speak either language. Then how many can speak
both languages :
(A) 220

(C) 1085

(B) 120
(D) 440

From the given alternative select the word which
can be formed using the letters given in the word.
ABOMINABLE:
(A) BOWEL
(C) BLAND

(B) METAL
(D) BANAL

Directions (46-47) : In the following questions some

46.

47.

equation are solved on the basis of a certain
system. Find the correct answer for the unsolved
equation on that basis :

1228 = 12 and 337 = 16, then 569 = ?
(A) 39 (B) 20
(C) 29 D) 36

If3X7X8=837
2X4X5=524,thend X3X7="2
(A) 743 (B) 734

(C) 84 (D) 214

Directions (48-50) : In the following questions, select

the missing number from given response :

48. 12 6 8

4 4 9

3 7 4

51 31 2

A) 21 B) 42

(C) 76 (D) 86
49. 3 18 6

5 2 4

8 40 5

(A) 40 B) 22

(C) 24 (D) 20
50. 8 2 6

2 4 2

5 6 8

80 48 240

A) 4 B) 10

©) 5 (D) 20
1550
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44,

45.

1865 T H ¥, 660 3G dlcf b &, 1305
TRIST 9Icd Fhd ©, 120 ART IS WINT F&1 I
Jobd 8, dI fbdd T <91 9T 91l |dhd 27
(A) 220 (B) 120
(C) 1085 (D) 440

frfeiRad ey gu fAdey § 4 I9 s &I
T ST ABOMINABLE & 31&Ri | §9I1T T
HBAT &7

(A) BOWEL
(C) BLAND

(B) METAL
(D) BANAL

e (46 @ 47) : F=faRad ueAl 4 o TSR

46.

47.

P BA {B AN UG A fbar mar g Sl
Ugld ¥ 8l T8I U MY FHIBROT BT IR < |

gfe 228 = 12T 337 =16, dl 569 =2
(A) 39 (B) 20
(C) 29 D) 36

Ifad 3 X 7X 8=837
2X4X5=524,q9 4X3X7=2
(A) 743 (B) 734

(C) 84 (D) 214

fewr (48 & 50) : f=faRad el # flu g

48.

49.

50.

famedt # & g dw@m 9| wY |

12 6 8
4 4 9

3 7 4

51 31 2
A) 21 (B) 42
(C) 76 (D) 86
3 18 6

5 2 4

8 40 5

(A) 40 B) 22
(C) 24 (D) 20
8 2 6

2 4 2

5 6 8

80 48 240
(A) 4 B) 10
€) 5 (D) 20
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54.

55.

56.

57.

58.
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PART-II

GENERAL AWARENESS & PROFESSIONAL KNOWLEDGE

How many types of wire obstacle are there?
(A) 2 ®) 3
©) 4 D) 5

In which CRPF Form leave, leave/duty certificate
isissued?

(A) CRP 18
(C) CRP20

(B) CRP 24
(D) CRP 28

How many times GPF subscription can be
increased/decreased in a year.
(A) 173 B) 2/1
©) 22 (D) 2/4

Which of following terms denotes the “Toughening
of body” as its major objectives-

(A) Play (B) Drill
(C) WT (D) PT
Sri Guru Gobind Singh was

(A) The 10th Guru of the Sikhs

(B) Founder of Khalsa, the inner council of the
Sikhs in 1699

(C) Author of Dasam Granth

(D) Alltheabove

Who has been awarded ‘Scroll of Honor’ by
Government of India to promote cashless
transactions?

(A) ManishJadon (B) Khusbu Gupta

(C) Surbhi Kapoor (D) Gaurav Goya

What is the sequence of sitting position of Lathi
party while marching from vehicle?

(A) Middle (B) Last

(C) First (D) Anywhere

Revision petition can be made against the
punishment of departmental enquiry within. . .days?
(A) 15days (B) 30days
(C) 45 days (D) 60 days
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51.

52.

53.

54.

55.

56.

57.

38.

IRR ITeCHA D o Iaman?

(A) 2 (B) 3

©) 4 D) 5

gedl /g8 ™ oM &1 7o w3 a5 BRy
BM § TR fear omr 87

A) aRY 18 B) BRY 24

(C) ®RY 20 (D) BRY 28

o A 9 wfos A sl § @ a9
foa TR el /uerl W1 gl 27

(A) 1/3 B) 2/1

(C) 22 (D) 2/4

frefafed & 9§ o TRR® Tog @1 T
UTH Bi—
(A) ST
(C) S&g. 2l

Tw Tfde Rz 9 -

A) Rl & ud T

(B) 1699 # IR @ 3raR® IRYS el &
GEILED

(C) T I & e

(D) Sugad |+l

I AF-S7 P 9gra] 1 b Iy 9Rd
WeR A 59 “w@fd A% IR yeH fHar
Bi—

B) g1
(D) 1.3

(A) Y FRA (B) gAY T

) g dqx (D) TRG AT

T ¥ A BRd GHI S U B S @
®H Y|

(A) 99 ¥ (B) 3MRer ¥

(C) Ugd (D) B8 i

e aive fean e & w4 @
AR & P S G B ?

(A) 15 fe=t #
(C) 45 fet #

(B) 30 fa= #
(D) 60 fa= #
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59.

60.

61.

62.

63.

64.

65.

66.
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An orderly room register is maintained in CRPF
in form No.?

(A) Form No. 16
(C) Form No. 08

(B) Form No. 46
(D) Form No. I5A

No members of the force will visit married lines
except than those who have been allotted a quarter
without permission of

(A) DC(Adm)

(B) Comdt.

(C) Subedar Major.

(D) SI(Hygeine & Sanitation)

Shuttle run test measures —
(A) Explosive strength
(B) Speed endurance

(C) Agility

(D) Speed

Fatigue comes during training due to —
(A) Lacticacid (B) Adrenal
(C) CO, (D) PH factor.

How many Numbers of Trained solder Table Cord
are there-
(A) 5
©) 8

B 7
D) 9

MR claim can be preferred in how many days from
the completion of treatment?

(A) 01 month (B) 03 months

(C) 45 days (D) None ofthe above

As per latest orders the Firefighting practice in duty

Bn be carried out once in?
(A) 07 Days (B) Monthly
(C) 15Days (D) None the above

Ecology deals with

(A) Birds

(B) Cell formation

(C) Relation between organisms and their
environment

(D) Tissues
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59.

60.

61.

62.

63.

64.

65.

66.

PofRogoTe # arell ®ar Ut &1 foog dfora
= § Yg-X9g fear omr 82

(A) B8 Ho—16  (B) BIH W0—46

(C) ®IF ¥0—08 (D) B ¥0—15 U

B I BT GG foaifed oEa § A A fea
P N | YT W GHAT 7 7

(A) SU HHVST (TSH)

(B) ®HHVST

(C) gIER WoR

(D) SU fiegs EERNH e dfeyH)

e X UKIE BT AEUS g
(A) fopies wod)

(B) a0 Sgefterar

(C) wf

D) Tfa

IR & IRM IBE b BRI B
A) dficsd B) T waeh
(C) T SIS S (D) UL.UD. ©TH

¢Hie WicoR <gdl die fbad YR & &
A) 5 B) 7
©) 8 D) 9

SUAR & wEiitd 9 feay fo & fufes
yfogft <rar @ g & S 8?

(A) 01 HEAT (B) 03 TN

(C) 45 fad (D) ST ¥ § Py &

TIGH JIAEMl & SUR BRR BT e
&1 R f&gdl gerferm # foaw Al w
g =TfRy?

(A) o7 f&d (B) ATF®

(C) 15 f&a (D) SWRIT H & PIg &l
Riufoe deg & -

(A) Tefl

(B) BT T3

(C) ofial ok amraRer & § Gy
(D) STdI
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67.

68.

69.

70.

71.

72.

73.

74.
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How many total firing practs (including day & night)
are there in ARCEF for trained soldier firing from
9MM Carbine?
(A) 08
(C) 06

(B) 07
(D) 05

How many types of sights are being used in X-95
rifle?

(A) 4
© 2

B) 3
(D) 5

After how many paces hand will come down in the
Salute of Left or Right?

(A) 4 (B) 6
© 5 D) 7

The ozone layer restricts

(A) Visiblelight

(B) Infrared radiation

(C) X-rays and gamma rays
(D) Ultraviolet radiation

Filaria is caused by
(A) Bacteria
(C) Protozoa

(B) Mosquito
(D) Virus

Newly raised CRPF Mahila Bn inducted in LWE
Area for Anti Naxal operation.
(A) 88 (B) 135
(C) 232 (D) 233

Which CRPF Training Institution awarded with
Home minister Cup for best Training Centre for
recruits.

(A) RTCNeemach (B) RTCRajgir

(C) RTCAmethi (D) CIAT Silchar

Latest CIAT School of CRPF established at which

place.
(A) Latur (B) Chittoor
(C) Belgam (D) Bijapur
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67.

68.

69.

70.

71.

72.

73.

74.

qfe AR § g6 Wik @ foid 9 TATH.
PRARA § Fa (-7 frarex) wERT
ifdcd @ ™ ? -

(A) 08 (B) 07

(C) 06 (D) 05

X-95 XEHha ¥ fha UBR B WEcd T
@ Wl 872
(A) 4
€) 2

B) 3
D) 5

U A TR @ IR d v B @ 9]
g A g ?
(A) 4
©) 5

(B) 6
(D) 7

AT W @ Gt evdl & -
(A) T TR

(B) ¥axaq fafe=or

(C) Tgg— 3R Tmar fopvon)

(D) W& fafevor

B3Rl fhdd BR BT & -
(A) dfFcar (B) HTBR
(C) rersnam (D) qT3RY

BRYSA # T Todd Sifwed & forg el
ARG &3 H U@ 7§ el qeiferdd & e
fhar &, 98 &

(A) 88 §cTferdd  (B) 135 S cIfeidd

(C) 232 weIferdd (D) 233 erfarad

»RyTa & 59 e o+ 99 |alcw
TTee ARE & fog TE WA BU gRT AW
fooar T 2-

(A) IR 99 (B) IR IR

(C) IR amd (D) Frag. v famx

aRygad & TdTaq dmg.udl. wa fow
g venfud fear war @7

(A) AT B) forR
(C) deTg (D) FATYR
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79.
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Which Central Team of CRPF won the Gold medal
in AIPDM-2016 for the first time in the history of
CRPF?

(A) Volleyball
(C) Hockey

(B) Basketball
(D) Rowing

7™ National Conference of Women in Police was
organized the first time in CRPF, the venue was :-
(A) ISA M/Abu

(B) Vigyan Bhawan Delhi

(C) CRPF Dte. General, New Delhi

(D) CRPF Academy Kadarpur

Name of CRPF Commandant who is martyred
on 15 Aug’2016 in Srinagar?

(A) Pravin Kumar

(B) Pramod Kumar

(C) Pravesh Chand

(D) Piyush Chand

Which of the following activities measures dynamic
strength —

(A) Vertical jump

(B) Short distance run

(C) Forwardroll

(D) Ropeclimbing

What does BMI measures —
(A) Flexibility (B) Muscles weight
(C) Body fat (D) Strength

Which Standing order is applicable for Annual
Range classification firing instructions in CRPF?
(A) S O-06/2008

(B) S 0O-09/2011

(C) SO-10/2012

(D) S O-01/201

Mistake occurred because of Trigger operation
is called?

(A) Flinch
(C) Buck

(B) Jerk
(D) Allofthese
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75.

76.

77.

78.

79.

80.

81.

oRygd @ g ¥ oRyEa & 59 dx™
Yd & 7 USell IR UM WELTH—2016 H
W UgH oifar 87
INEIGIEIG

(C) BId)

(B) TP CaTd
(D) QE |

7 & I AfEem gfo gWies oRyga @
7o SR fod e W) emaifva fdam mar e
(A) TGS, AST AT,

B) fogm 9a9 feeel

(C) oRYsd AT AT

(D) BRYTA FHEH BRI

HRATE FAIST O 15 R 2016 SR
4 Wi g #T M T |

(A) JdIT HAR

(B) AT FAR

(C) a9 9%

(D) Uy =g

Thelier wfte &1 9q@ AT g
(A) T FHEl

(B) B e

(C) WRaS

(D) T =G

BMI &I AIYGUS &~
INEGEIGIRE (B) AIUsh qwie
(C) IMIR® @@ (D) A9l

HORYOTH # IS aTANT FTdRoT GRIRT
¥ wefta fer—fdyr foa =g sy # 8 ?
(A) I 3MM0 06 /2008

(B) ¥IT§ M0 09 /2011
(C) ReITE 310 10 /2012

(D) I 310 01,/2016

foR Sfe™ & 89 Jrell o gl 8 ?
(A) freg B) P
©) 9% (D) SugeR A
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83.

84.

85.

86.

87.

88.
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CRPF sponsored two players of J&K got
opportunity to play which game at the International
level

(A) Badminton
(C) Cricket

(B) Football
(D) Boxing

Which exercise is beneficial to rectify the mistake
of sight alignment by a firer?

(A) Aimingbox exercise

(B) Aiming corrector exercise

(C) Breathing control exercise

(D) Tindiscexercise

Which drill is adopted by CRPF on firing range?
(A) Companydrill (B) Disciplinedrill
(C) AtoGdrill (D) Fire arm safety drill

When to zero the weapon?

(A) When the weapon newly issued

(B) After handing/taking over of weapon on
transfer

(C) After major repair

(D) Allofthese

How many type of grenades are being fired by
UBGL
A) 2
©) 4

B) 3
D) 7

Coral reefs in India can be found in
(A) the coast of Orissa

(B) Waltair

(C) Rameshwaram

(D) Trivandrum

Film and TV Institute of India is located at
(A) Pune (Maharashtra)

(B) Rajkot (Gujarat)

(C) Pimpri (Maharashtra)

(D) Perambur (Tamilnadu)
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82.

&3.

84.

85.

86.

87.

88.

oRYTA 1 TR-—HTR B 02 fEafsal &
IS &R R 59 T & Hiar g yrford
foar T ?
(A) dsfied
(C) fome

(B) Bdid
(D) JFD TSl

BRI NI WIEC YagTa< @ Tadl ® g3
B D T DY ) TRRAES P ofond & 7
(A) TRHT §f TrERETS S

(B) TRHT #RTeX THRRETSO

€) fafsT Feiad TRRNES

(D) TH f$h TS

».RLIT ERT BRIRT IF | @9 @ fgad
JUTE S B 7

A) s fga (B) I fgd

C) AR Gfgd (D) BRR oW grem fgd

GRS e 2 R | )

(A) ¥ T 9499 9 far orar @
(B) TRIWR W U9 @ <1 9 oY & 91g
(C) T@ WA & 5

(D) Swfa &+l

UBGL & gRT fbee YoR & U9 BRR b
S 27
A) 2
(C) 4

B) 3
(D) 7

ARA § N B geH FE U o FHA § -
(A) Nfsar & de

(B) dTeeaR

(C) IHIRA

(D) fravgw

AR fhed g Selfawa Wemd &gl fRerd
Bi—
(A) g9 (FERTS)

(B) WWdC (o)
(C) Uil (qBRTSS)
(D) W (dfrerrg)
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90.

91.

92.

93.
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Gravity setting chambers are used in industriesto ~ 89.

remove

(A) SO,

(B) NO,

(C) Suspended particulate matter
(D) CoO,

What is scoring pattern prescribed in ARCF for ~ 90.

trained soldier firing with INSAS Rifle?

(A) Marksman-74,1%Class-60 & Std Shot-46

(B) Marksman-86,1%Class-72 & Std Shot-58.
(C) Marksman-98,1%Class-79 & Std Shot-65.
(D) Marksman-106,1*Class-87 & Std Shot-73.

What is the life of peak cap for SOs? 91.
(A) 06 years (B) 02 years
(C) 03 years (D) 04 years

DA is admissible for absence from HQ for not less 92.

than
(A) 6hrs (B) 9hrs
(C) 8hrs (D) 10 hrs

Within what distance no person is allowed to do 93.

any canvassing in and around the polling station
(A) 200 Yards (B) 100 Yards
(C) 150 Yards (D) 250 Yards

Response time of RAF to Law and Order situation ~ 94.

within the same station when it is on call, is
(A) 30 minutes for move of all Coys.

(B) 45 minutes for move of all Coys.

(C) 60 minute for move of all Coys.

(D) 15 minutes of move of all Coys.
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feasl gem o fau saim # [H@ey
gRR BT SWNT fbar omar § 7

(A) GeHY SIEATFIES

(B) TISEIVA STRATHATSS

(€) feifed @ wHa #

(D) HTHF STSATFATS S

affe afeat § g WEhd BRINT & fou

iR snide o, urarel &1 o9 a4 fafexor

e g ?

(A) ATEERT-74,F%C FATH—60 TAT TISS
3ITc—46

(B) ATHGHT—86,B%C FoG—72 T WISS
3fc—58

(C) ATGTHT—98, B FoIT—79 AT LIS
31Tc—65

(D) HT4HHT—106,HC FATI—87 TAT LIS
Ife—73

v et & fov fi-ou &7 AEw
s 2?
(A) 06 TS
(C) 03 g9

(B) 02 qH
(D) 04 T9

I Y v foy -9 e Frafaied wwg
o fay qeares | oquRed & 'g dfe
Wl g B |

(A) 6 HC (B) 9 ©
(C) 8 e (D) 10 e
foe T W T B @ WK IR AR SR

fodt <o faver & v § gEefq AR @Y
AT T & R 7 ?

(A) 200 TS (B) 100 T

(C) 150 o (D) 250 TSI

fodl M W $FF @ @1 T 5
JROYOYB0 §RT BRATS IR B G999 39
g ST B

(A) Tt FEE #T 30 Pee § S

(B) ¥l &= &1 45 fFe ¥ e

(C) Tt 7 #T 60 fie § Harem

(D) Wl BT BT 15 faFe § Harem
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97.
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99.

100.
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Vehicle to Vehicle distance in convoy movement
should be ........... Meter in hilly and .........
meter in plain area.

(A) 20 to 30 meter, 300 to 500 meter

(B) 50to 100 meter, 100 to 200 meter

(C) 500to 01 Km, 01 Kmto 02 Km

(D) 01 to 02 Km, 04 Km to 05 Km.

Which state government has recently declared 50%
reservation in judicial services for OBCs, SCs, STs
and EBCs?
(A) Odisha
(C) Bihar

(B) Madhya Pradesh
(D) Assam

Garampani sanctuary is located at
(A) Junagarh, Gujarat

(B) Diphu, Assam

(C) Kohima, Nagaland

(D) Gangtok, Sikkim

When is Kit classification carried out?
(A) Atthetime of pension

(B) Atthetime of'tfr

(C) Lossofanyitem

(D) None of them

For Dog Squad, how many weeks of trg are there
for Dog and its handler

(A) 24 (B) 36

(©) 40 (D) 46

What is the area of jurisdiction of RAF unit?
(B) 350 Km
(D) 325Km

(A) 250 Km
(C) 300 Km
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PIBAT Faed o a6 I e | g UgIe!
g7 # 3R gHdd a3 ®
g ARy |

(A) 20 ¥ 30 HIeX, 300 ¥ 500 Hex
(B) 50 ¥ 100 HeX, 100 ¥ 200 HX
(C) 500 & 01 fofo, o1 foflo & 02 oo
(D) 01 ¥ 02 foo, 04 fdlo & 05 fio

T B Y Y T WeHR | e ¥ar |

= fUesr oW, gl I, ggRE oH
oy R ofE wu @ fies o & fofw 50%

aReT @ A B -
(A) anfsem (B) AT Y-
(C) faER (D) ¥9H

TRAYM! SPARYY FE Rerd & -~
(A) JAMTe (TToRTE)

B) &%, (3r¥)

(C) FIfedr (e

(D) Trers (Rafyes)

fpe Fanfiafbdss &9 fHar omar 27
(A) T T R

ST W@ & foly SFT U9 gSoR & HRIE0
fooae w@E @1 g
(A) 24
(C) 40

(B) 36
(D) 46

ROTOTH 9ci0 &l &rd &3 fobar 27

(A) 250 fo # (B) 350 f& #i
(C) 300 f& N  (D)325 f& #
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102.

103.

104.

105.

106.
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1550

PART-IIT

NUMERICAL ABILITY
What is the smallest number to be subtracted from 101, 549160 % ¥ a8 ®ICI |l BICI dIF Al W&
549160 in order to make a perfect square? Ierfl S¢ dfds 98 gl aFf a1 Wi
A) 79 ®) 81 A) 79 ®) 81
(C) 80 ) 1 (C) 80 ) 1

The average of five consecutive even numbers is
26. Find the smallest of them?

(A) 20 B) 22

(C) 24 (D) 28

The average of 11 numbers is 60. If the average of
first six numbers is 58 and that of last six is 63, find
the sixth number :
(A) 60
©) 72

(B) 66
(D) 78

The average age of 36 persons in a group is 14
years. When an extra person’s age is included to it,
the average increases by one. What is the extra
person’s age in years?
(A) 41
(C) 49

B) 47
(D) 51

A driver travels to a place 150 km away at an
average speed of 50 km/hr and return at
30 km/hr. His average speed for the whole journey
inkm/hris:

(A) 33.5km/hr
(C) 35km/hr

(B) 37.5km/hr
(D) 37km/hr

50 is divided into two parts such that the sum of

1
their reciprocals is g find largest part?

(B) 20
(D) 40

(A) 10
(C) 30

Present ages of Mohan and Sohan are in the ratio
of 5 : 4 respectively. Three years hence, the ratio of
their ages will become 11 : 9 respectively. What is
Mohan’s present age in years ?

(B) 24

(D) 40

(A) 30
(C) 27
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Uil SR < RT3 26 B, Il S5
I T BT GAT 3T BN |
(A) 20 (B) 22
(C) 24 (D) 28

11 el o7 T 60 B AR UUH 6 @I
AT 58 TAT 3Yf<TH 6 BT AT 63 &I I, Bl
TR T 87
(A) 60
() 72

(B) 66
(D) 78

Bl A9 & 36 AR &l AT Y 14 dY &
e H UP AR M 3 & 918 A 1
H 9 Ol & | AT Y SR AGH Bl 31
¥ # a7 8°
(A) 41
(C) 49

B) 47
(D) 51

U dreddh 150 fbdl b g 50 fbHl /BT &l
AT ATl | I HRAT © AT 30 fbHAT /EeT Bl
NI Tl W I8 a9 3N ST g | ol SHD
|l AT B A ATel e

(A) 335 fBHI /ger  (B) 37.5 fdhHI /EaT
(C) 35 fwHI /ger (D) 37 fbHT /Her

50 DT &1 YT H 39 YbR drel SrdT & {6 S99

1
GTHH BT ARTH g%\r, I g1 91T 9d1d?

(B) 20
(D) 40

(A) 10
(C) 30

AIgE TAT AIET B a<EE Y BT AU
5:4 8|04 ¥ & 918 IS AR BT AU
11 : 9 B SIQIT| QI HIg BT aRIAM 3MY FT
27

(A) 30
(C) 27

(B) 24
(D) 40
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108. Sushil’s age after 15 years will be 5 times his age
5 years back. What is the present age of Sushil?
(A) 15 (B) 20
(©) 10 (D) 25
109. The Sum of ages of a father and his son is 45 years.
Five years ago, the product of their ages was 34.
The age ofthe soniis :
(A) 6years (B) 7years
(C) 8years (D) 9years
110. In 10 years, x will be twice as old as y was 10
years ago. If x is now 9 years older than y the
present age of y is :
(A) 39 years (B) 29years
(C) 19 years (D) 21 years
\3/66
111. What s the value of —5——7
6 "XV6
1
(A) 6 B o
© 1 D) 0
3X(81)* 0
112. If —9,, X3’ X(27)3 =27, thenn =7
ol 1
) 3 ®)
1
(©) 0 ®)
113. Sixty five percent of a number is 21 less than
four-fifth of that number. What is the number?
(A) 120 (B) 160
(C) 140 (D) 180
114. 15% of 600 + 45 % of 280 =?
(A) 216 (B) 236
(©) 126 (D) 246
1550

108.

109.

110.

I11.

112.

113.

114.

15 a¥ q1g Gl BT AP IAS 5 qY Ugel Bl
3G 1 5 M 8 SIQT Geiel BT axid 3A1Y
HT 87
(A) 15
() 10

(B) 20
D) 25

QT T Y= & MY BT ATHS BT 45 I g,
5 a4 Ugel QM & 3IY Bl [UThel 34 & oI I
HT A IMY AT 2?
(A) 6 a9
(C) 8 @y

(B) 7 a9
(D) 9y

10 IuT H x BT R yH 10 I9 & gl Bl ARTS
DI AT B e, S i Hox, y ¥ 9 ay

IS1 2 Al y BT I Mg RIT 27?
(A) 39 I9 (B) 29 IY
(C) 19 a9 (D) 21 99
3/ 6
W P 919 T 27
1
(A) 6 (B) 5
O 1 D) 0
3X(81)*
Ifg 9 X3 X(27)" =27, 81 dl n=?
1 !
(A) 3 B)
1
© 0 D)

Wﬂ@ﬂﬁ%mwmaﬁém

J 21 HH g, dI I=T T 87
(A) 120 (B) 160
(C) 140 (D) 180

600 dT 15% + 280 T 45 % =7

(A) 216 B) 236
(C) 126 (D) 246
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116.

117.

118.

119.

120.
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3
Raman reads g of'a book on one day and r of

the remainder on another day. If there are 30 pages
unread now., how many pages did the book
contain ?
(A) 200
(©) 80

(B) 240
D) 120

A seller purchased a washing machine for
Rs. 7, 660. After allowing a discount of 12% on its
marked price, he still gains 10% . Find the marked
price of washing machine :

(A) Rs.9575 (B) Rs.9675

(C) Rs. 8246 (D) Rs.9755

A man purchared an article and sold ittobe Bata
profit of 25% and B sold it to C at a loss of 10%
and C paid Rs. 675 for it. For how much did A
purchaseit:

(A) Rs.500
(C) Rs. 600

(B) Rs. 550
(D) Rs. 650

Two trains start from a certain place on two
parallel tracks in the same direction. The speed of
the trains are 45 km/hr and 40 km/hr respectively.
The distance between two trains after 45 minutes
willbe:

(A) 3km750m
(C) 2km 750 m

(B) 3km550m
(D) 2km 550 m

Ifx ! =3, the value of x° —% is:
X X
(A) 30 B) 36
(©) 34 (D) 40
The area of equilateral triangle is 4+/3 square metre.
Its perimeter is :
(A) 14 metre
(B) 12metre

(C) 6./3 metre
(D) 12./3 metre

Latest Sarkari Jobs, Govt Exam Results,
Vacancies and updates on one click

115.

116.

117.

118.

119.

W1ﬁ?{ﬁ§ﬂmﬁﬁrﬂm%‘,s‘mzﬂ%

9T gAY & yedr 8, afe 3@ 30 g T8l el

B3T 91 2 ol fhdd # el fba g5 o
(A) 200 (B) 240
(© 80 (D) 120

s famar e aiRiT #9F @I w0 7,660 H
GRS & | 99 3ifdhd Hoa W 12% BE < &
are A1 10% o™ HACT 2 | A 70 B sifed

T RT 2?
(A) 9575 %0 (B) 9675 0
(C) 8246 %0 (D) 9755 0

A JMTEHT T K] WRIT PR 25% M IR BT 99
TAT 8, B, C &I 10% 8H W 99 <1 &, C Bl
$Ad T 675 WUIT 4T Usdl © | dF 9ai fo A
39 fhas # @rer o
(A) 500 %0
(C) 600 %0

(B) 550 %0
(D) 650 %0

&l ¢F VMR o WR TP 8 faen H ue 8
g A =T UR™ Rl 21 27 @ TR 45
fodY /gier germ 40 fHdY /€t paer B o 45
frfe & a1e < e @ 4 @ 98
grfi?

(A) 3fEHT 7509 (B) 3 fd#I 550 #

(C) 2f&HT 750 ¥ (D) 2 f&#1 550 #

A x-- =3 B - A R
X X

(A) 30 B) 36

(C) 34 (D) 40

120. FHag ST &1 &A% 4,3 TR B,

AT IR &:
(A) 14 Hex
(B) 12 #Hex
(C) 64/3 HIcx

(D) 12,/3 #Iex
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The wunit digit in the product
(284x618x 717 x 563) ?

(A) 2 ®) 3

©) 4 D) 5

What is the unit dight of (7°°-3%%) x 5! ?
(A) 0 ®) 4
©) 6 D) 7

What is the unit digit of (2157) 74?
(A) 3 ®) 6
<€) 7 D) 9

If (64)-(36)° = 10 X x, then x = ?
(A) 140 (B) 240
(C) 360 (D) 280

If the product 4864 X 9 x 2 is divisible by 12, the
value of x is :
(A) 2
©) 5

B 1
D) 6

If x and y are odd numbers, then which of the

following is even?
(A) x+y+1 B) xy+1
(©) xy+2 D) xy

The largest 5-digit number exactly divisible by 91
is:

(A) 99981
(C) 99918

(B) 99999
(D) 99971

What least number must be subtracted from 13602,
so that the remainder is divisible by 877

(A) 29 (B) 31
(C) 30 (D) 37
A+6+8+ ... +20%) =12
(A) 1536 (B) 1540
(C) 1150 (D) 1140

How many natural numbers are there between 17

and 100 which are exactly divisible by 6 ?

B) 13
D) 15

(A) 12
(C) 14
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(284 x 618 x 717 x 563) @ UFHel HI THIg
3P &

(A) 2 B) 3
(C€) 4 D) 5
(7°5-3%) x 5! BT FDHTS 3fH R BIIT?
(A) 0 (B) 4
(C€) 6 D) 7

(2157) 75 BT SHIS 3k AT BIIT?
(A) 3 B) 6
©) 7 D) 9

afe (64)-(362=10X x, & @I, x=2
(A) 140 (B) 240
(C) 360 (D) 280

If 4864 X 9 x 2 &I oG 129 faford 2,
Tl x BT A &
(A) 2
©) 5

(B) 1
(D) 6

afe x o y fawq dd §, a1 f=fafaa #
P T 87
(A) x+y+l
(C) xy+2

B) xy+1
D) xy

e ST B R T TR A A 91 A e
farrfoTa =1
(A) 99981
(C) 99918

(B) 99999
(D) 99971

13602 % 9 98 W« BIC! A& B "erll
S 6 wther 87 & Yofa: fawifora &1 S

(A) 29 (B) 31
© 30 (D) 37
A+6+8+ ... +20%) =2
(A) 1536 (B) 1540
(C) 1150 (D) 1140

17 TAT 100 & 414 Hel Tl U G&=AT © Sl
f 6 & qoia: frfora & ?

A) 12 B) 13

(C) 14 D) 15
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131. The ratio of two numbers is 3 : 4 and their H.C.F. 131, S &AM BT U 3 : 4 8, I IABT H0 W0

is 8, their L.C.M. is : 8 & I SHHI <0 [0 &T BITT?
(A) 96 (B) 108 (A) 96 (B) 108
(C) 48 (D) 64 ©) 48 (D) 64
4349, 434 k2 .
132. The LC.M.of 7,5, is: 132. 3,5,7 & 3 P10 %0 =
1 1 A !
A) 34 ®) 1363 A 36 ® 1365
12 C) 36 12
(C) 36 D) g (©) D) g
133. 0.517 = 0.00517 =2 133. 0.517 = 0.00517 =2
A) 1 B) 10 A 1 B) 10
(C) 100 (D) None of these (C) 100 (D) 379 & BIg el
L. 134 ml B A &
134. 0.0 8 equal to: " 0.02 :
(A) 100 B) 50 (A) 100 B) 50
2 1 v 1
(®) 0 (D) 0 © 5 D@ 7,
0.009 0.009
135, If =——=0.001, thenx=? 135. afs ——=10.001, B Al x =2
(A) 90 B) 9 (A) 90 ®) 9
1 1
(C) 0.9 ®) 55 € 0.9 D) 5o
136. The value of ( 47 is: 136. (.47 T AM &RTR 2
47 47 47 47
- - A _ -
AT, ® 5 ST ® 5
43 47 43 47
© o D) © 5 D) 7
b-a b-a
137. If1.5a=0.04b, then value of is : 137. af¢ 1.52=0.04b, &, @ | BT AT B
b+a +a
73 73 73 73
- _ A _ -
A 7 ® = @ 7 ® =
730 73 730 73
© =7 O 777 © 7 D) 777

1550 SET-D
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138.

139.

140.

141.

142.

143.

1550

0.6)" -
—(0.6) +(0.5) isequal to: 138
(A) 0.1 (B) 0.11
©) 1.1 (D) 11
P_6 P+o°
If 0 5 ﬁndthevalueofP Q2 : 139.
o S o1
C ﬂ 8
© 1 (D)
If_ 29— thenfind the value ofa ? 140.
1+
I+—
o3 3
@ 3 ® -
2
© 3 D) 0
P P-3
Ifz——=l, then find the value of P? 141.
A) 4 B) 5
©) 6 D) 0
If - ! +— ! +l—4 th ? 142
3757 ena= .
NE ©
A) 13 B) 19
o 18 24
© ~ ©) ]
a 4 [4 2b— a}
Ifb—5 then value of 7 b+ a 1S 143.
1
@ 1 ®) 1-
(© 2 ©) 5

(0.6)" —(0.5)"

(A) 0.1 (B) 0.11
©) 1.1 D) 11

P 6 +Q
g 525 Eﬁ?ﬁ Qz T 119 Tt -
o 5 61
A) 1 B)

9
© 1 D) 8
afy 24 | @ adr 6 R

I+ 1

-
1-a

3 3
A) ) B) 1

2
© 3 D) 0
Ife §_PT3_1 81 I, P &1 99 fHadrei?
A) 4 B) 5
©) 6 D) 0
A 4o+ g B A a=?

3 2 a

5 6
(A) T B) o

18 24
© 5 D) 1

a 4 4 2b—-a
ﬁZZE’gﬁﬁ& 2b+ jzm‘m%

1
@A) 1 B) 17
© 2 D) 7
SET-D

Latest Sarkari Jobs, Govt Exam Results,

Vacancies and updates on one click



144.

145.

146.

147.

148.

149.

150.

1550

If % _4 =4, then find the value ofa ?

6
(A) 120 (B) 100
2

D) 3

5
© G

1
1 of atanker holds 135 litres of water. What part

of tanker is full if it cantains 300 litres of water?

(A) B)

Wi O
wmlo N~

© (D)

A cricket team won 3 matches more than they lost.
If a win gives them 2 points and loss (-1) point,
how many matches, in all, have they played if their
score is 257
(A) 19
(©) 20

(B) 41
(D) 42

Ifa=1+ /2 and b= 1- /7, find the value of

(a*tb?):
(A) 3 B) 4
(OR D) 6

If x =5, then what is the value of 10 x /5> — 2

(A) 250 (B) 200,/5

(C) 10045 (D) 500
0.0196

If . =0.2,thenx="7?

(A) 0.49 B) 4.9

(C) 0.049 (D) 0.07

If 3x =3y =3zand x +y +z=27,/29, then
X+t 427 s
(A) 87

©) 2429

(B) 84
D) 4429

Latest Sarkari Jobs, Govt Exam Results,
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144.

145.

146.

147.

148.

149.

150.

aﬁ%—%#,ﬁ?ﬁamnﬁﬁmﬁ?
(A) 120 B) 100
S 2
© & D) 3
%av—\ra%% AT § 135 ollex g1 ¥edl © | afe

TP} H 300 oflex U WRT ST ol SR &l
fopaeT 9/ WRAT?

(A) (B)

© (D)

W Oo|lwn
N[O |~

U fhbe S Siadr 79 BRAT § S99 3 Hd
SgTET Siidar 8, Ife Siiad IR S 2 3fd dofr
BRA WR (-1) 3 fierar 8, @1 9ar & 25 3w
I R & [0 Sa fha=r 9 W grm?

A) 19 B) 41

(C) 20 D) 42

gfe a=1+ Jp AT b=1- /7, B qI (a>+b?) &I
A4 Tt -
(A) 3
€ 5

(B) 4
(D) 6

Al x=5, B A, 10x,/,* _,2 P AF T &7

(A) 250 (B) 200./5
(C) 1005 (D) 500
Ife O'Oi% =0.2, 8 ql, x=?
(A) 0.49 B) 4.9
(C) 0.049 (D) 0.07

Uf& 3x=3y=3z TA x+y+2z=27,/29 gl
X+t 420 ?
(A) 87

©) 2429

(B) 84
D) 429
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PART-IV
HINDI

k(157 9 161) : T {B A@IfGTEr T T |

1< (151 9 156) : < fAU U IS U | B

151.

152.

153.

154.

155.

156.
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BY I & IR FHIAT ared o v € | 98
e g |

ATfe®
(A) Ips forar ar
(B) <rdl & g1

(C) Ud wHM fa@= aren

(D) ST 39 ol P! &1 &

$UT

(A) T H FEH

B) < afdd B TR

(C) I ¥ Acg

(D) =l & fog BIE HRF HRAT

HHIa

A) fo=ft & @ B H T

(B) gfaa &t a1 W fRafdare
(©) R R gH

(D) 3MHATIZATT BT 7 BT

IRALE]

(A) =1 BB 0 =19 7 81

(B) S fH=ly @1 goaar 7 &

(C) RradT BT uer 71 &

(D) RSraeT Tt a1 &1 BT 71 &

373

(A) ST Ues AT 7 &
(B) S UGT A T &
(C) RTI®T ggaT 71 &
(D) ST ygT—forar =1 &

T

(A) ST BRIR G § BT Sy

B) 9 BRAR &I BT H FAHR ST Y
(C) St ERER /@ &

(D) ST eRIR 3 UgdH: YA | foram S

Latest Sarkari Jobs, Govt Exam Results

157.

158.

159.

160.

UAd ARG # T YA s ge AT B,

161. 3fef

Iad Rad e & fow == I
PV ar 8l 9Tl

(A) e (B) well

(C) del D) g1
WA D R oo 2, JfeR gl
(A) <ud (B) 4G

©) = (D) et
................... @ 3 BT BT BT BT oK T ©
(A) saU= (B) @@+

(C) srd (D) i
IR PRAT ST oo BT WS

(A) fAarg (B) 3f<Xd

(©) @ (D) SR

ST H o TSI

(A) @S (B) ofeT

(C) @11 (D) Tgefdr

e (162 3 166) : F=faRaa U@ ueH # fu

162.

163.

164.

Vacancies and updates on one click

MV e & AT Ieg BT T IFP o AU
U Adpcal § | BT

gRaer

(A) FIER (B) 3R
(C) dardraver (D) 31TeRoT
BIE

(A) foRTT B) faxE
(C) #HaT (D) g
afife

(A) TTpfa® (B) feud
(C) PP (D) gR1ad
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165. &
(A) &
(€) o<

166. aRA

A) 9=
(C) fames

(B) T
D) 39

(B) waE T
(D) WEar

e (167 | 171) : fF=fIRad u® we # foy
Y Tes | U A b GHR B GAT SAD

H fau v fameul d§ ¥ I
167. AO®

(A) < A (B) o1 Afk

(©) gfg afy (D) 3rnfe afr
168. ¥9oT

A) fot |t (B) 3o af

(C) = | (D) 3/gTfe |l
169. JomeT

(A) TR | (B) &io= |y

(C) fawt | (D) 379 4 1g el
170. &ITT<

(A) o7 Al (B) e af*r

(C) &o= | (D) IvT AT
171. IRAT

(A) <re |t (B) &io |fr

(C) or | (D) o=t |fr

e (172 9§ 176) : f=faRad v@® weq § Q@
TS gl & =R @ R gwfad TM Ry
MY B | UGS AR & A BT gIT DI

172. ARa 9 g1 B8 PR O |

(A) 3r=TT

(B) HfrefreRor e

(C) S¥iaR g9 (D) Raiy

1550

173.

174.

175.

176.

177.

178.

179.

180.

181.

HAH—hADh I AN AGHAT AR |
Ig @Y RT3 R, a7 U1Y IRTY | |

(A) FeriieT (B) fagra
(C) PeEeT™ (D) foamfr &R

N Ma—aTeT & ET-ATR TS |
ST o9 BT S W W sRI-gfA B | |

(A) Tdref (B) Hua™

(C) @™ (D) fa8rY <fret
il gH da g9 U |

ST SRT—3[T I AT | |

(A) e (B) Acihar™

(©) Tord (D) PR
ATfaTE. SUAMRTATEE &1 GART M © |
(A) YT ot

(B) W=

(C) TagelR darsul

(D) g dd

Il Wral B WA ol bl § 7
(A) 7t (B) =4

(C) RE (D) 9RE

™ & fas 3T gy 82

(A) ?f (B) @R

(C) [= (D) ®:

| I B /41 A1 27
INRERS (B) TR ¥

(C) BB ™ (D) dR %49

Hfa R g1 e 9 & afd 2°
(A) BB (B) wfdr

(C) HTR (D) dR

T& B GIUH Icoid Bl [Hefdl 27
(A) ®g (B) Sufve

(C) HTHIS (D) Tgd<
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182. B< &I U ¥ fdhad UHR & Bl &7
A) (B)
(©) IR (D) ®:

183. {5 B< &1 Y| g 3ff~dd g Th—4T BIdT
87

(A) <rer (B) Tefm
(C) ERar (D) gusferar
184. B T YR & B< 87
A) faws (B) &
(C) rgwH (D) 3%
185. TIeT fh9 UHR & B< 27
(A) 99 B) fawm
(C) Jrgwm (D) 379 ¥ BIg T8I
186. fA=feiRad & @1 w9 B< &1 HH—3T
SRR
(A) <rer (B) HRaT
(C) =urg (D) A

e (187 9 191) : F=faRad yI® og & forw
IqD 1 3T ¢ fahedl H ¥ Iugad FHE
Biew:

187. TS
(A) dgRY (B) &=
(C) PHuA (D) wgsfife
188. qURAR
(A) IrgdHTg (B) dgHy
(©) f&T (D) sgdife
189. Ja—fa=
) f&7 (B) agwy
©) €= (D) HHIRT
190. g=aT
(A) IrgdHTg (B) HHUIRT
C a8
1550( ) TGy D)

191. ARTET
(A) wgdife (B) Tg®Y
(C) 3T (D) f&7g

e (192 9§ 196) : f=ferRad U® IR fadme
I IS (RIT) s BT Rk difTe |

192.
(A) INIRG (B) afe®
(OIIGIRED (D) afer
193.
(A) = B) T=HA
©) & (D) drst
194,
(A) gferanre (B) HroT
(C) Raerrs (D) <8
195.
(A) gacit (B) drfer]
(C) gfear (D) Fagd®
196.
(A) ¥ (B) U
(C) (D) e

e (197 & 200) : 91 # & RS aT9 BT TIA
DI

197.
(A) 39 FEl & sfed 9= 8 14T
(B) |dg g3 3R 98 3 1|
(C) ga IR—oR foraar 2|
(D) ST I3 &, I© A al |
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198.

199.

(A) 98 T B MY, IR U WSl < |

(B) & SISU &_AT AR o, 319 I8 T
208 HIg @l 7 |

(C) fasTa &I 91l fh IR Tl 31y |

(D) JARIHT I BT M Tb T IR Ql

(A) 39D a1 eIt #d <1 fF 98 =<
o 7 3 |

(B) 3= AN ¥ e Amfey Ry AgadgR
DI et el |

(C) &I &I ST {6 &ar &= g |

(D) I A 9P BIg 91 e & |

200.

(A) fI=m & 9gPx PIg o+ T8 2|

(B) < # fawra wrat o wwfa O @ '
i RGN S U o el o |

(C) i @I A1RY & d=di & Ul 30 I8
B RIS |

(D) IS FHeAdT ATEd &1 Al URSH BT 8
TSI
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PART-1V

ENGLISH
Direction (151-155) : In each of the questions, arrange ~ Direction (156-160) : In the following questions, a
the jumbled letter or phrases to make a meaningful sentence/ part of sentence is printed underlined.
sentence : Below four alternatives are given to the underlined
part of the sentence as (A), (B) and (C) which may
151. P. eachyear improve the sentence. Choose the correct
Q. twoto five adults alternative. In case no improvement is needed, your
R. getgold answer is (D):
S. onanaverage
(A) PSQR (B) PRSQ 156. The student’s interest was raised by an article he
(C) SRQP (D) RSQP had read :
(A) quickened (B) multiplied
152. P. canbe dangerous (C) increased (D) no improvement
Q. theindiscriminate
R. without medical supervision 157. This telephone number is not existing:
S. and critical use of any drug (A) hasnotexisted (B) hasnotbeen existing
(A) PQRS (B) PRQS (C) doesnotexist (D) noimprovement
(C) QSRP (D) SPQR
158. The businessman is respectively connected :
153. P.  destroyed careers (A) respectfully (B) respectably
Q. many (C) receptively (D) noimprovement
R. hasresulted in
S. drugaddiction 159. I'methim in the way :
(A) PQSR (B) PRQS (A) onthe way (B) atthe way
(C) SRQP (D) SPQR (C) duringtheway (D) noimprovement
) o 160. The boy said that he has read the book :
154. P. bymaking swallowing difficutt (A) he has already read
Q. asore throat (B) he had read
R, dailylife (C) hehas finished to read
S. interferes with (D) noimprovement
(A) QSRP (B) QPRS
(C) PRQS (D) PQRS Direction (161-165) : Read the passage carefully and
choose the best answer to each question out of the
155. P.  America’s four alternatives :
Q. in1961
R. warlaunched Passage
S.  firstmanned aircrafts The advent of electric power was, in a way,
(A) PRQS (B) PQSR comparable to the successful development and
(C) QSRP (D) PSRQ application of nuclear power in 20th century. In fact,
the historical roots of electricity extend far back into
antiquity. Many men had a hand both in acquring
basic knowledge about the invisible form of power
1550 SET-D
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161.

162.

163.

164.

165.

1550

and in developing the ways adopted for practical
purpose. One of the vital keys that helped to
unlock the doors leading to the production of
electricity was the discovery, in 1831, of the
principle of electromagnetic induction. This
discovery was made simultaneously by michael
faraday in England and Joshef Henry in the United
States. From it came the generator, sometimes also
called dynamo but several decades of development
had to follow before the first practical dynamos or
generator came into existance in early 1870 :

According to the author :

(A) Michael Faraday and Joseph Henry
revolutionized electricity in the USA

(B) Nuclear power and electricity were
discovered in the 20th centery

(C) The discovery of the principle of

electromagnetic induction was not an

important discovery

D)

The advent of electric power is equivalent to
the application of nuclear power in 20th

century

Michael Faraday and Josheph Henry discovered :
(A) theapplication of nuclear power

(B) the genertor

(C) thedynamo

(D) the principle of electromagnetic induction

Another word for ‘advent’ is .................. :
(B) arrival
(D) constitution

(A) discovery
(C) invention

The generator was also known as the ........... :
(A) inductor (B) dynamo
(C) inventor (D) conductor

Give a synonym for “antiquity”.
(B) Antipathy
(D) Uniqueness

(A) Ancient
(C) Modem

Latest Sarkari Jobs, Govt Exam Results,

Direction (166-170) : In the following passage some of

166.

167.

168.

169.

170.

the words have been left out. After reading
carefully fill in the blanks with the help of given
alternatives :

Passage
‘CRY-child reliefand you’ 196 an organization that
197 started by seven such 198 and it has been
working 199 1979 to change the lives of 200
children all over India.

(A) was B) is

(C) are (D) being

(A) has (B) being

(C) was (D) been

(A) friends (B) men

(C) people (D) individuals
(A) since (B) during
(C) for (D) untill

(A) underprivileged
(C) hopeless

(B) privileged
(D) denuded

Direction (171-175 ) : Fill in the blanks with the

171.

172.

Vacancies and updates on one click

appropriate word, choosing it from options given :

I found it difficult to cope.............. mathematics at
the advanced level :

(A) with (B) of

(©) for (D) up

He was congratulated ..................... receiving his
degree :

(A) on (B) for

(C) by (D) of

SET-D
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173. Some people quarrel ............ very trivial matters :
(A) over (B) n
(C) for (D) by

174. “Maylknowto...... [am speaking.”
(A) whom (B) who
(C) how (D) where

175. Baear.............. me as [ explain the matter more fully:
(A) n (B) of
(C) with (D) for

Direction (176 -180) : In each sentence below

four words have been printed in separate parts
which are lettered (A), (B), (C) and (D). One of
these parts may be mis spelt or an error in the
context of the sentence the letter of that part is your

answer. Ifthere is no
No error.

176.

error, your answer is (D). i.e.

(A) Collect newspaper and magazine having

articles on oil
(B) pullutionand
(C) discuss them.
(D) No error

177.

(A) We can demonstrate the
(B) phenomenon of evaporation and

(C) condensation
(D) No error

178.
(A)

People dewlling in remote areas

(B) sufferalot because of

©)
(D) No error

179.
(A)

in accessibility to hospitals

It is interesting that

(B) floating docks and even

©)
(D) No error
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ships can be made of concreat

180.

(A) Make a list of foods that contain

(B) hammful
(C) chemicals
(D) No error

Direction (181-185) : In the following questions, choose
the word from four alternatives which is most nearly

opposite in meaning to the given word :

181. Spiritual

(A) Earthly
(C) Material
182. Harmony

(A) Agreement
(C) Confusion
183. Compulsion
(A) Constraint
(C) Freedom
184. Waste

(A) Gain
(C) Nourish
185. Successor
(A) Follower
(C) Guide

(B) Superior
(D) Disccord

(B) Melody
(D) Discord

(B) Choice
(D) Spontaneity

(B) Profit
(D) Loss

(B) Prodecessor
(D) Professor

Direction (186-190) : In the following questions. Out of
four alternatives, choose the one which best

expresses the meaning of the given word as your

answer:
186. Honest

(A) Authentic
(C) Direct
187. Vocation

(A) Examination
(C) Occupation

188. Ingenuous
(A) Innocent
(C) Cunning

Know More

(B) Upright
(D) Actual

(B) Seminar
(D) Holiday

(B) Artful

(D) Clever
SET-D



189. Innocuous
(A) Careless
(C) Insufficient

(B) Harmless
(D) Irresponssible

190. Insolent
(A) Disrespecttul
(C) depreciating

(B) Insoluble
(D) the sole ofashoe

Direction (191-195) : In the following questions, out of
the four alternatives, choose the one which can be
substituted for the given words/sentence

191. A person who readily believes others :
(A) Credible (B) Credulous
(C) Sensitive (D) Sensible

192. The political leader has an evil reputation. He is not
trusted :
(A) isnotorious (B) ismalicious

(C) ismagnanimous (D) isdubious

193. A person who helps even a stranger in difficulty :
(A) Samaritan (B) Altruist
(C) Philanthropist (D) Beneficiary

194. The production of raw silk :
(A) Sericulture (B) Seroculture
(C) Sariculture (D) Syrumculture

195. The conference takes place once in three years?
(A) Tetraenning (B) Triennial
(C) Treennial (D) Thriennial

Direction (196-200) : In the following questions, groups
of four words are given. In each group one word is
correctly spelt. Find the correctly spelt word :

196.
(A) Variety
(C) Gaitey

(B) Anxdety
(D) Sodety

197.
(A) Coersion
(C) Negociation

(B) Precision
(D) Explation

198.
(A) Harrassment (B) Commitment

(C) Breevement (D) Temparament

199.
(A) Inefable (B) Inaecesible
(C) Infallible (D) Invinsieble
200.
(A) Expact (B) Impact
(C) Exite (D) Imped
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